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The Design of Master Production Scheduling for TFT-LCD

Cell Assembly Factory with Two Kinds of Process Plans
Student - Di-Chiao Yang Advisor : Dr. Shu-Hsing Chung

Department of Industrial Engineering and Management

Abstract
TFT-LCD cell assembly factory takes charge of assembling the glasses

from array factory with the color filters, and filling up with liquid. Traditionally,
the factory adopts hot press(HPS) process for filling liquid, however, a new
process, named one drop fill(ODF) process, is developed currently to accelerate
the speed of filling. Concerning the surplus value of HPS process and the better
efficiency of ODF process, here come some factories in which two kinds of
processes work in coordination. In this thesis, a master production scheduling
system is designed for the factory with two kinds of processes.

The assembly factory processes glasses and color filters separately and
assembles the two materials into products. In order to maximize the profit, the
factory will not only accept the make-to-order (MTQO) products but also
produce the make-to-stock (MTS) products to use up capacity. Each product
has three kinds of attributes including size, liquid type and process, and every
workstation takes account of different attribute to decide whether setup or not.
This 1s complex for planning setup schedule. Besides, the batch machines used
in HPS process operate only when the accumulated units of the same job type
reach the predetermined level.

The proposed master production scheduling system first estimates setup
times which caused by the make-to-order products roughly so as to calculates
capacity loading of each workstation, then defines the highest and the second
high loading workstation as main bottleneck and secondary bottleneck.
Considering the loading of secondary bottleneck and the attributes of products
and regarding profit maximization as the target, the bottleneck scheduling
model is designed to decide the product type, quantity and the production
sequence on each machine of the bottleneck workstation. Then the batch
scheduling model is developed to decide the product quantity and production
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sequence on each machine of the batch stations in order to match with the
results of bottleneck scheduling. Also, a feedback mechanism is developed to
ensure that no conflict exists between the scheduling of bottleneck and that of
batch workstations.

Several scenarios with practical data are used to verify the practicability of
the master production scheduling system, and simulation is applied to confirm
that the results of this scheduling system are achievable. The simulation results
showed that the scheduling system in this thesis is quite functional and
definitely practicable.

Key words : TFT-LCD, Integer Programming, Alternative Process, Setup
Time Calculating, Make to Order, Batch Machine



>} 2

anyy 55'

BREH > BIRE RN EFNARAETRERT  YRIFGELANEE
BHRBE  LEEZHHIE MR AT  c IR FZH R B—K
AN ELUETRNBERREABR > AT EHY Tkt MR LR
LA E A BRALRE P —HEFHEET -

R FME > BRRRAERE LA SHRRE G GRATE
SEFS LRI ORE S P LT et L L G A
AEFL BHZAMOM CHBBELERMERRE - Rk 2R
RHARE B A SRR E o) KR FAEER ~ B SUIE HAG A B R ik i MR
AHRBEMEMUOREEARKIRAAREOEEIRL > AR AR

PERAHE -

BRERHATREGRR  BAARHMBE LR —FE K B FHAX
Fo R 3R R BT U B R SE - HEFHRR = 64 & R K Ak 383w X h @ B 4 a3
FHGEERRZBAB L ES  RRAEEEREF A ERABYRiLET
CGF) > FmBili - M REGH A ETATREORE » SARIR > MIFE
B EZORRERAAGHEZAVEAF OB EBRARRE LY > AT
FRREIME R ERFAENRBY S HhRE > BEHHF LTS
B ORI ASER A I RAE I CRENERETY
KANES ~ BEN T REBAG 2R2 > CEFHH AL LEREDREL
AREERETRENERTE - A ABAXABZTRANBBTIFEH
LR XRBBRMELBRF S EANFTESLR  RENGH LY — &
BRAERROKEZR -BENEXZER - 2RXARKEHE LA - MB5LT
HYRE KA B R 2K RN LAELREMFETERE -

BEZRHERE AT - —RBILGRZM > &AL TR FER
WABAT B AL A E T R R ) R MPSRAE VR @8 nid 0 T F k&
B~ RENABTE > L E RS XA BRNREAF NE > AZRTBRES
WHea % REEREMRIT  REH S E AL NESEFEE R RE
ALl @k R BFE . BERERMEOYA FERBRSRIT
B BB FOLBEFARER SR TERBRMFE LML
FofriT#ESH T NBA BB G RRTFHEE  MFHE

vi



RBH > FofRegta R AR REL B LALERHFHARHGRTXE
BifA o Ao HHI Loy MR 2 > — R REGITELZIR ~ B EIRAT
TR FEY  ARBROTRAE LA THS EH - P HIRIUR 7T
o~ BT ARG BRI R R —FAREFBEF B AT 0 R
B P 89 EE A FE R ) &AL 0 AR A — A BF T A BE3E A K A B L8]
W FAREHRE -

B BRGHHO N BT RBE RN E SRS 0 RARMESEEOA
BRI WAAIER S RAOF ) LAH A KRB B B REFTFF R
WRAAN  QRBRANTE > ARG EEFE R EAORE T e
A BHR — B URGERB Ao s E o LR BRE AR E -

W RRABWXIEH A — BB AR R AR ABRSELEF LR
SRR E e B B R BRI LREAA O REREES S > HEE
% AR ARR

08 B @& THIIRK

vii



BB ettt ettt aeaene II
= B v B ettt ettt ettt ettt ettt ettt ettt ettt ettt et ereeae 1
Ll T 2 3 S S B0 oo 1
L2 TTE 22 Bl B e e e ee e e e e e e eeeeeeeeeeeeeeee e eeeaeneeeaeas 4
1.3 B 20 80 B ST PRt ettt ettt ettt ettt et ettt 5
Lo TE 22 T T B35 B et ee e eeeaean 6
B By UK T BB ettt ettt ettt ne 8
2.1 B R & AR 48 3L FX (CELL ASSEMBLY) A2 B oo, 8
211 Bk ST B EREENMHPS) B R BN e 8
212 HERSBE TR AR FAODD)EAZ N e, 14
2.1.3 B RER L BAT B A S BIR A EAZ I I e 16
2.2 483 FE B AZHEAZ FIREAB B SR ovvveeiteeseeeeeen et ettt ettt e et ee e e 17
2.2 ] L B B AR 2 SR D B ettt 17
2.2.2 347 % #2 (alternative process)Z BRI EB o oeeeiinreeeeeeeeeeeeeeeeeeeeeenenns 21
2.2.3 SUBK S ARBIF 28 Z B ZE P oo oottt ettt ettt et ee e 21

B T B v B R IE oottt et ot ettt et s ettt ettt ettt ettt ee e 23
3.3 B A AT S 2T A AL oottt ereresee et et e ettt eente ettt t ettt ettt et et eeeeeeae 31
R I B - o - | e S SRRSO 32
3.3.2 FRSAIERARIE BRI ERAE ] ittt oot 46
3.4 FRSA TAEDE A B HEFZFLBIBE L oo 47
3.5 $L B TAESEFL B SLHEAR AL A ottt ettt ettt ettt ettt 61
351 & ShAERBIL BT AT LA oottt ettt 63
3.5.2 b B T AETEHEAR 2T T E B oo eeeeretee ettt ettt ettt ettt ee e 64
BT T v B S BT oo ettt ettt ettt eeeaenana 73
A1 A BEIBEE I oo et 73
A1 B BB BB oot 73
A1 B AR A BB 2 oo 78
42 FE R AR Z HATIBR IR EIEE R e 78
4.2.1 & ReARAEH B Z HATBAZ LA BN A R 79
422 FRFAPL RIS B RPFEBME P Z HATEREREE R 87
A3 FRSBATAEM A AHRERIB A ZHATEBRAREE R 89
44 g TR R B BB R A PATBRIERBER 96
441 AR EB oA ZIATERIERBNE R e 96
442 HeF TAEME PR T A Z HATEBR IR BN R e 98
A5 B B B B L 2 AT ettt ettt ettt ettt et ee e anan 103
A5 1 A4S T HEAR Z B B 0 T e 103
4.5 2 A4S T HE AR 2 5 B L B B 20 T oot 105
4.5.3 B HE AL ] 2 PR I T eeeeeeeeeeeeeeeeeeeeee e 107
VWS B LN B % O oS 109



4.5.5 BRI ERTE L BRI AT HT cververreereeeee ettt 110

B BT~ B IR R T T B0 oot 116
51 BB 2B et 116
5.2 R BRI B T 0 ettt 118

B SR oottt 119

Fék A RS TAEMMES(FIHIE O X HD) o 121

fék B 12 T ES(FIHIE O X HD) o 128

M4k C RGBT AEE EFRARFIEIE O Z 8B o 133

M4 D B I T RAAFIHIE O Z BB e 140

4k E ARSA TAE 3542 A MTO RAR(FIH IE O Z B H) oo 144

M4 F #RSE TAE 35 A MTO KA BHEIA 28 Koo 149

X



Bl 1-1 8 3 B A B A2 7 BBl oot 2
Bl 1-2 AR ST 22 B0 ] oo 6
Bl 1-3 BFZETAAZ B oot 7
B 21 REEANERGRAEATBEERZBARE oo, 9
Bl 2-2 R T BB oo 13
Bl 2-3 R EIARET T oot ettt ettt ettt eeraeene 13
BBl 24 4B 7 2 BE B oottt ettt n st 14
B 2-5 RBENEEZDMARAE BEZATBILIE oo 15
Bl 2-60 R S B A 2 7 B Bl oo 16
Bl 2-7 43 A B A2 TR BB ettt 17
Bl 31 BLAZIBEEIB oottt et e et e e eenaeens 24
Bl 3-2 S BB E R IE B oot 25
Bl 33 F B A B ZE A Bl oottt 29
B 3-4 4 BRZATFE > P~ BB T BB v, 31
B 3-5 EREAEE M A ZMABEME 32
B 3-6 T KAREBHEAPITA Z BB oot 34
B 3-7 TR LRBBEAPI A ZF B A5 B oo 35
Bl 3-8 B AR B TAESE TR B Bl oottt ettt 36
3-9 RS TAAME G HAE BT AT T B vt 37
B 3-10 EMR B ~ AIRBAM S IRBIFHE T BB oo, 38
/B 3-11 ODF ~ HPS 2£ A T AESE 78 BBl oo ectieeeeeeee st eesnee e 43
B 3-12 FREES P AL AT BEBIBEA TR oot 54
Bl 3-13 B R ~FA8) M 8 B L2 38 BBl oot 56
Bl 3-14 B AE R BB B BBl oottt ettt 58
Bl 3-15 # F iR S AEFAZHE TR BBl oottt ettt 59
Bl 3-16 FTE L TR ZHE R TR BBl oottt 60
B 3-17 HEB TAEBEBE TR B Bl oo eet et 62
B 3-18 #bE TAF s AL E| BLHEAZAR LB IRAZ I oot 63
B 3-19 & LA E A FIRAER oo 64
Bl 3-20 b8 TAESEHEAR 2T AR AR Bl oo 65
Bl 3-21 BB M S AR R B B T BB oo 71



& B &

% 2-1 TFT-LCD %3 Fx B 42 XBR Z LL BRI AL IR e 20
F 3] AP A TR R B R 27
F 32 TAESE K BAAIIRLEINIE FR oo 33
F 33 TAESE L EAAIHRLEIRTA R oo 34
34 BRPEEIAFERGFEIAHEIBR e 36
% 3-5HPS ~ODF £ A 2 & TAFsb HEARGAEFEH BB R oo 45
% 3-6 R RMB I FHRILBZ AL R oo 48
F 3T A E IR R BT B H BB oo 55
F A1 B EFATTEERTE BB R oot 74
F 42 ZTERXESREBABERBEER oo 75
(43 EABERZRARLEBE (BAL D U/ FE) e, 76
F 4D TAESE R R T HFFE IR oot 77
F A5 B TS BIE T B AEH BB R oo 79
k46 ERFTEEIFEEFHRBRBIAEHBER 80
F 4T BB IR 2RI R EH IR R i 82
F A8 P T AERET K2 ilog BB MEHBE oo, 84
£ 49 PHEEZE TR VILEREEIRER i 84
# 4-10HPS ~ODF X A2 & TEs FHGAERIRE .o 85
% 4-110DF ~ HPS #£ A THE3b X s VB RBH B ER .o 86
% 4-120DF - HPS £ A T Ex X ZRE BB E (BAL D A) o 87
F 413 & TAEBE RSTRSEF] T 2 oot see s 88
%4-14 FSA L RARSAZ IR R LEFEH BB R oottt 89
£ 4-15 RIBIAEsEA EARIBAZ ilog R BTMH IR oo, 89
F 4-16 FREIAF IS 15 BB RH B R e 92
# 4-17 FRSETAE S S 6-10 HEAZ B B H BB R oottt 93
F 418 B ATERBEEIM S 5 ZHEAREE R oot 95
% 4-19 2 HPS #A24 £2Z MTO ZF BB E R oot 97
%420 2 HPS #HA24A ZZ MTS Z REZ R oo 98
F 421 AHT TAE RSTRHE A H BB e 99
# 422 REENTAE PR IT M log B A BIRHEIRE oo, 99
423 BREENTBEBABRGFEERIMIS)E B RB LT e 100
k424 RIS A ZRIB A TN KA log AT MHEREK oo 101
F 425 REBENTAEHERITEMRA EN KRB llog EXFRERE ... 102
* 4-26 ;:bu»ér#b F AT EAEH] log A B IRNHEHBAR o, 102
F 42T T B AR A B AU EEER R oottt 104
% 4-28 @:}‘(ﬁkfiﬁﬂiﬁﬁi—éﬁi$ EE B R oottt 106
£ 429 REABMA 2 RIFZAFEEIRERIEIBE oo 107
430 REIEEE TR RICE BB R oo 108
F4-31 SR EHHPS HARBE T ZEREE R e 109
F 432 FREA TAEHE B A G 3E B R B oo 112
F4-33 ZHMEE B IAEE BEEE R 113

Xi



iR R
TR

I kB 1=1,2, .. L 2R L A 8
st RTABRTAMN S22, .., S A AT SHERAT
wiERTAESAEENFTR w=l,2 5k F &~ ODF & #2901 HPS # 22
Ty

cap, * ZRonIAE¥ Kk AREBE TR ERTH A4
C?k<%Tlﬁ%kEﬁﬂ Wt N2 EET A A A

Cop P RTAREIL, ZBALA E AR
L EATAGREBETNZASLER  RTA s R&EREE ]
%Tlﬁ’w&sk k=1,2,...,19
A@:%ﬁlw%k%%éﬁ
m P EAIfEEHkzHEN D=1,2,..., M,
N, & TTARs kAT B 2 AEFAS 0 X B AR AR 534 BIN, =
2R RR BRI E 5L 0 AIN, =SXL -
O, : THesbybz ZFHRE [ k=1,2,...,15
Vi ERRRT s REEE L ZEASFEREFR AN Z MBI RA
pt,, &R A E L, 7 HPS-ODF 3 A T4k k ¢y /0 THF R k=1, 2, 3,12, 13, 14, 15
Pt P RTNAEL, HEEZFEIAFMS k& mwTiFR ;> k=4,56,7,9,10,11
PCT : #f54%Rfb#k & & AEZ L1
PFL, %445 T4E3 k 2 & fE 2 1)
st, - TAEYE kK #—RAFERR  k=1,2,...,15
T : kT a%AEMEE
PERTALKAIREANG S tEREAR t=1,2,...,T

RORBH
Batch,j“" CdtE AR Kk egafE e E C k=12, 13, 14,15

L - F7TEss kayEse & k=1,2,3,12,13, 14,15
Alw %&Tiéﬁ’j—ﬁ] S /&aa;@;iﬁ% [ &35 Wﬁfiié—i}éuuﬁii > ﬁ]kﬁ/\
REN 0 2B -
IBackUp,, * %" R~Fs > k@M | 2 &% ERd,, S5 T &Il &4k 47
é@% P BRI R EN 0 2B o

o P ERTAERL, ZRMBGBERBE > AR REN 0 2 H -

F,, &reEEL, ZRRBERELREE  ARAREN 0 ZHEH -
LST, : THEss k sy b #spR#  k=1,2,...,15
MD,,, : EuFERd ,£HPS~0DF LA sk AirE B2 &8
k=1, 3, 12,13, 14, 15
MDGL,,,,, * &% Rd  BHFEEEARER G BEEH T (2D E R4S

xii



#

MDCF,,,, : & %&£ d, BH% 6 % P 4 6ot B8 T4 35 (k=2)PF & B2 4k
&3

MDs,l,w,k : ié Is,l,w fh%li%i EP'F&-I‘/VFK‘ZS k F”"FZ#%%Q %’%‘ﬁi ; k:4, 5, e e ey ].].
RST, © T A3k k FlErE AT AN kB 5 k=1,2,...,15

Xiii



¥—F 4%
L1 SRR & EmEH#

W R 0 Bk S P ®@ 8857 % (Thin Film Transistor-Liquid Crystal

Display > f§#% TFT-LCD)#y 48 R @t X T 6 S X EARE X > &
AT 2002 R T THRLEEEERRE K ABRSTE
BTrRAELFELNERBAXITENER HABERLTFERE TS R E

EEBNEEBERTHFEBRELZNAE  RHEEERAD Y REERSET

mBETEEETHEA -

[17]16 % & & mAar 35 & 4 2005 FRi4 £ E EEr |
ARG weg > THASE LELRBEE LB RROLLEEGELE - T
A &A% " Display Search | £ 2005 4> § M EBR LT @BATEEEE
& A E 444% > R 44.2% » 4 RIBFHAR S HAL o FE 2006 FRTHR E
B A R X5 L2 47.5%F 48% » it T iR EM £ o £ 3 F 4L
1035~ EXREE RS TF@RBTETHLE > 54 0EU3810 Eikey4a
BESATH EAEFBED 49.2%  thhiey 41.4%% & 7.8% - BIEA
EA T ¥ & st 0 2005 F 68 Bk & T @AEw & A1 63713 1%
7T > 42 2006 4 & & 7841.3 & 7t 0 ARk % 23% o ARIBE LA AE[18] > 2007
PR ELEPRATEE FLEMBOENSHE 6920 4T 0 £ 2006 4 )
AR 20% 0 EF 31 T000 BT EMAY 0 ARTEET B ¥ i ik 4164
&L PRSI 434480 st R a3 B ek A A [k 475.2
&7~ 1 Ak 303. 2 48 7L ~ 3 AAR 508 18 LA H Sk 691 &L 0
BrEBAERLTERE TS ALY CRAZERTERERZ— -

BAERSETERBE TS ERZOS BN KA EEE REES(TFT
Array)f 0 HBRARE @ETEE C B AN LR FoMERZR
&t ' AR 48 3L (LC Cell Assembly) B % 34 38 JAR 1% &, 08 K R 14T BT iéy 42
A R Z k2 E A8 48 48 31 (Module Assembly) £k 61,514 45 &4 40 8 4
f2 o



AV Rsea s Rl BRI FHNZEEST  RERRMAK S B4
BmIFHEFOLSToEREHRENTHRE > SR EHETHEE ZFRIa £
RS RE NG ERE FPHREEANERON T4
B REBRBRHER  LEFETEEERAIBRLFEETE K
UEREERIRNECANESL - G aTEERENE@A
R AENG T XA E » BAHBARIREY &R AR MR LAEHAR
A2 t(hot press, HPS) R F U R H &4 > HbF R AU ZEBARLENE
#2 (hot press, HPS) o

BThBRAEEZHRE RARFUARG E A HLFERAEE I EHR
BTHOEE BRABRGEBTHERR AR WERGIEHRE AN
) BAMTERAR, > BRRAITFE N R GENERBHNG F R AT o H
iz &R RGBT Ko T B b3 242 548 AR &M
(one drop fill, ODF)##2 - BRI B & F BRI FEBE TS E¥H A4
IE[ LI ERBHAANODD) ZERRREARF S » 2R BEHEZOKED
FEVE BHAHAEN ARARTMELRROWEAALZS T K
ERRERAEZERE EROGBEILT > AN BERGHKE UED T Za95
Fhds ko i ODF Hizm HPSHERRSA E0F  ATROK S AN E
Hidtm mEeETEROERIMH  BEROKEXBELS  wTHI-LA

o~ -
. SE—
> ODFEz 7.
s = HMORUE -rﬁf,l%]-é- -v -> = &xh -
% i £ 27 IE| i ®kE
> HpsEE T
e & T

-1 A ERALERZTER

[



BB RAREVERIAR BA SHRARG BN - ZE By RE K
BHEER AR BFLANRE B UE L E BHREE TAE 0 kT
B TR ERATZELMAKE BAEFEOEE - MAREZ
AT 0 6B B — B R e s A AR F 0 L I AR B
CIELR P ARAT =88 M
Bl £ERTARE

A BEERY > A E RS R GEE S B EH TAE A E R R
RIXRNERZELBENZEREHRAF G APRAR - B bERE R
T oOMEARREAMEMERAEMLTE - HibBEALRE &M E R
X B2 B A A B Sb B MR LA o B ) AR R R T AF 3k & AR R R
B 2. REHHLRE

HINR GG H AR T B RIERE AR E 03 Bk
AER—RTHAERN  §RBALAEZLENSIMB/R LR LHHE
$8 > 2k ODF M2 iR &AM G 9L HPS AR PR EEAK S 0984 - M
ho R B Bk dh o) B IR B % 08 RECT A g ARSAIRAS 0 HbEHER
BEBp L JEA BB o LB BARSEZ A A A o
B3 MELRLR

FEHFBE IR B EERGTRE > @8 ZRERGRT  #HEK
B EARAAELBREENMPO) 9T XA Z T B E ey IE KRR

e iR AN (ODF) ey 5 X A& & - Mo 3 38 B AR 89 Ak AR X DU AR 818

CHEERERSER

Bt EALRB L EH Sl A mEREN G RBE AR B 43
AR S ENHPS) Ao ik S AN (ODF) sb A M A2 0B E Z X KB E EH > &
BAFRBAHEERREAANE ZZT  EE BFBHRAL -

HEBRUL=ZRARGBMN > SEEMEIZMROERT > B4 54K
by EoufEda > AXR B A ARE LERFEIEESLGFELT » R
FREA TR B X P ARES SH SE R FIAEAZ & 5 0 R R LA 3



NEKEPTERE & ESARBEYEFAHZ  TURBERESHRAEZTET >
REBEME NP AL E R EERRAL s MAXZE
ZEHRABEHN AR LT RAENE WA A & ABRIA T AR 3b N &
Sy HEAE > SURA FINEE TR A & o) A2 0 EH T TR B AR
SR BRI R AKREAR TR SRS EANMPS) Foik & A (ODF) b 4
HAEWBEERRBEZN » T HEARBIEHRANE EZXT £ E A
& R

125K B &

AR B B LR SRR G E R R E R R & #EANHPS) o
KRG AANODF) st B2 ETHHEHIT 4 %62 BAERAL -
MmN EATEREEY BB ARAVER LR BA SHERREBME 3 E
BHARLMRYERT » EASIRICHERERE > MAESLYBEREL
A ERFHARHMERT TR ENRE » UBRAER R MmN T X (2L ODF
& HPS A2 o Nk &) © B b BFA20T - LAF S HBERBAK ER AR
FUE R B ey 4 R L3R dm g LR o

AX T LR BEHEE AR XL AL BF R = a
REmEEAGZAE KA TASRERIHBE T EAAHER
REKE " RE/BRADRIERE  MESEREY S ELT
Bhw Ao itatia ) RS ERE R mAEEE T T A
ERRMGTEMASERTRILRE  BATHOEFRATEATURENT
Bz - HETHEMBATS  TREBEELEETHARALT RO T
YE3h » ARB ARG RIRIBE R > BN T —Fr R e e ¥ i IR R
FRSAZ M A HEAZ -

fmfe TEAZHRARIBE ) P BAFHERBATENS  BRE
feBL B PERME] R ASRAE B AIERAIL - ARBIAFRHRZRE
TR €% RIRFARAS ERAMA A E N 0 B LB AL BRI A fTR
N F 0 BAAA A PRR I BB T FARRA K > UFEfRR



FREAT A AES AT MRSATAEMNREIZE R R A AR L4
i °

wEAE THE TR AR E | P SRR KEANELZMHPS)
P oo ARt E LA 6Y & Shv TR SRR o BAMR T 24 E Pef2 R K
W RIFZERTIF BB T I ELEEARNE  ZbRERE
MERESEFHOE  TRAKZIMRE -

1.3 7 7 4 B 92 PR 41
AARAAREZRIER > £ Lo RBTENATRT AL T/ M E
REEL B PLPEAZ > S ERTE BT A48 E B AE R R - AR
BIRZ AT S ATEMNE R SRESHEEEL G R TIESELAS
R EZERMREBAR » RXET AT RRARA]
l. BHAEMSETREIAN  CHEKZTES I8 E B3
RH A% & 2 M o4 € o5 R
Fl— TS ABREIHE - TRABRAT I HEESAF LA K
AT AEvbA & Z o TOFR A € 40 B3R
ERBENHPS ) H R PR ENY I T THLF—AREAMKE o
I E—ARR AN BRI E S LA SR 2 F e
]'a] °
6. B EM T B RAKRTAAEMRKY - XREFMRRZMABIM
g;‘];—, o
AXRZEE 40T
B 1-2 prow

A



FHA T35 % KRR

R E R

- : p

RN X[ T e

ta SR AL EREHE]

B x

A 4

I, i;% Jk I I

Bl 1-2 AXFR % 46 E

1.4 3 R 75 ik R B
BRI L Z R B 0 RS AT P BREATA R AR 4o
B 1-3 -
1. XEKEAR
PR & 5 HF
B2 AR
B 5] 45 B s
R R KT )

A



L R E - Sk B e

A

ek =1 BR

A

PIRAE & B H7

A

W HE AR AL AE A

A

L R R 2 A

!

VA2 X 52 A8
&I AEE EREELE

Y

LUE 5| B R B

A

HR SRR K )

1-3 B % n A2



% - UKEE

mta AN E R EAE A AAE T HRARA AR
RERGCBAAER KA & X R A RHR ¥ 43 4 ODF % 42 82 HPS
URBEARM T XLRALE > B3/ TGRS E B B4 EHRE
FARBMN - AXZARERAIRERAEERINEAER M T RRZE

o BALARRAES  RRZENHAKEEREN AEL T Bitax
BREROPEER  BBEXEL240AERANHE  AxXHFAEEFLH
REMUARERSRERGFEAT  Ear kT2 E BAHERRILZE
R o B ASUF S H AT 418 £ XBRE/TIRT » REARABIARZ

I A

2.1 BBk S@mRAE LR E NG
2.2 %3 Fk B f2 M A2 AR AR B SR

2.1 ¥k 5 @R 4 3 B (Cell Assembly) # 2 143

BN A X e IR A B B K 2 2 (hot press, HPS # #2) ¢ #7 X & #2 (one
drop fill, ODF # 2R &4 & > R A TH 2 A N Bimia 2 > Bl &
b mARASEEZESE -

211 IBRLBTESATERLENHP) R B[N

% & 7 A (hot press, HPS)# #2 % 48 31 42 T £ B 5 AR 5 T AR AT £ BC
MERAGERREEE  TRERIRABARE BB TSN
AT KA Fo ) SRR RARGAB A o T44 > BATRES R AR R
Al ETRRBEN S FHI - BEREHETRBORE - B 2-1 R SEE

ANz GREEATRERRERE -



0 E SR T PR
W 5] & HEEXA
B &) A% AT 2% F B 5] A% AT 2k F
& &) B 7 e &) B 7B
L o) A gk e 6y AL
v v
& ) R B2 & &) je
F TR 4 K 4R 3 A4E B E h
RBERTELE v
- TFTHR@AX
* 1E BB %
ZREORERYEE v
AE@ X
Y
R E A
v
i 0
v
otk kE
v
—REHA
)
e AR B B
v
e &
v
LCD & 4R % &

2-1 RELENE R EBRAENTHEREZEFE9]

—.

[16]AT A B A2 4 s BT R A8 U 5| R B ATIR S BT B R
MBI TR R AR EIE AR ARy A &EEF (Cleaning) ~ BBt &
# (Polyimide Print » PI Print) ~ ##}#(PI Baking) ~ &% /& ¥ (Rubbing) -

£~ FHAR%@ I (Cell Forming ) % # 42 » Bp R 828 &8 & h AARay b

9



WAz - BRBEEBREMBUEZAXEAN > Bhoiita » ©RRE
h ITA21% » 15 B #ITHR AR AEM (Polarizer Attachment) -~ 4% %8
2% BT R AR GBE T BNER > TARRSEREE M ITE -

LT @4t SmRaE 8  REEBFRAL@mIRE
[9]:

1. B& AT k% (Pre-PI Cleaning )
AHBET LR AR AR B RRAEEGRT S BREEIAY

WHRBDFE BEBEmEEANE Y Az SR T HELERZ
T o 00 B3 AR &8 K b 12 LRI RIRF ~ UK RF
AMIEB| AT R IF ~ K IRF BRI A IR E TR UE R
REBAERE LG ED > FREEEY ) R ERABIEB AR LE - FkS
R RS M R BRI A B 5 4k 0 AT UV JRiF LA Mok a4 o
AR EARBIARAY ETEER EXH B o 2% 0 BEETHLE
RFRRF  TRERFESR > REREREZX BB T o &k 0 BHEAT
AR Ao IR F SR 0 PP R RIEIFEE -

2. Erpg e (Polyimide Print » PI Print)

B ey B (P A& A R AR & R Ao B35 8] o TR AL By T4F - HAra vk
AR Loy B B E TR AT BT AR AR IR SR o TR e g 0 KB O R
# % (roller) ¥ Ep7XAR— Oy @i » 4R AR A XEE » RBAR
A e

el

DL AFE AR E—RE S LBMAATHLE Array ¥R TRE - AT K
BT R A AR B R A A B R A BEWMRST  w FEATT 0 2-up HRARER

—RMERRAE BHE —R -
. __ e a ___ PSPy _
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3. BuiaEktrs (PIBaking)
BoE R PLE AKRE R ARZHIE AR EITEAE 180~250°C £ 4 #9kt
AR 3 RAR B2 Pl BATARALRE » SR AT BL A A2 69 14T ©

4. By ¥ (Rubbing)

WEAREBOE BT @R E LRI SR EE  ERE S
Foy ke EHITEG RG] > BRBEFIN L ~ THRmBER > A3 Pl
BErmoEa @ o EET g AMA A ZRHBEE > ASLAEREEN
BREEX -

RSB R  k v AR B A S B 0 AT
B XMERAKAH ~ FE£4 BB - EHETR BROBEADA—EZH
G AT 0 SRR X B R A B Atk > B iR K A o
BWREAAREGBEM 2 ERMERT  — R\ ETEREL -

5. M43 (Spacer Spray)

& TFT 1 7| 44R L 844 BF 4 (Spacers) *#i M &A% T A iR
Btk P R A R AR E AR S « A B A A RS B A
B > A E RS RI AR RS AL MRS EhEd i - MR
M5 BEBEMEEREBHE L EPRBHEMGEHE s THENT
HER o BB EE o o

6. #HAEBEp A (Patterning )

£ TFT B3| g fo ¥ &8 K b AR 62 AT BAAK B AR LEP
Rl4AE (Sealant) * o M fe 44 B % @ T 4 %1 A 3% 2485 (Epoxy) 89
# R Ep B (Screen) 7k 15 A 454 & (Dispenser) ey £ (¥ ) % -
H B &y A4 LCD Cell LTk 3R E (@R £R 38R & R SR AR

g B F 2 B BEAR4E — R IESE WA TFT M3 3R AR b B AR H - — At AL 90 -
%GRk K o TFT A AR4E 5 A 2 2B - — AR S AR ALB) BB -
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TR B LR EINAR -

7. EF #4x8k4 (Cell Forming )

Fe BAR PRI B 35 30 0 B R 2 B 0 SR 0 RSB R A 0 FRR
il PR3 A 7> A B M P BE B A BT 22 ER FEBAREEL
BEA o — AR 0 ARARBEA B MRTALMMEIE B ETHAARLE
I B AR o R BIRAL Y AR S 0 BB e B B AE R AR
Rl AR ARAL > sk R RS S A A AARMIEE > LB R EMER
NRSZ | e

8. gz (Seal Bake)
FEREAR AR AT > T AR M Z BB R BRARAL 0 LAYE H Am 28
2P 2 42 X P2 3 £ MRS B AR Z AR BB AR ALY -

9. A% K (Vacuum Anneal )
FAGBEET » FEXTRBENFENE Panel ReYKRAER » 4
SR SENGTR A H P R R AR

10. 7% & # A (LC Injection)

REBTERRBMAF AR TR RERSGZIEHE  BFREM
HAEANAZE KEEBBGZECell - TR OB EHMHREAT  BREA
BANSLE W EHMA T > B EREQGER 1 E % %269 LCD Cell B 2
£ AR T ERRMRE AERBZTHRBERGHRELTE  AEH
BHREREANRT R LCD REGHZFL@RALFRLETLEEALCD
RFFE > TARERZDOEFE > W 2-2 -
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Pz ] |

b -

& &

BB
2-2 R EANXEE[15]

i

11.4t 2 (End Seal)

EANRGBARMORETHDO > LR GINE 0 kB 2-3 AT o
HOFERRTrALEHMAIAEZBHEL > R AASERARE
AEZHIATHD -

ITOE

TN
2-3 &R mAR 3t 2 [9]

12. 3t 0 4% %% ( After End-Seal Cleaning )
ENREIE 0 B4 LCD AR B R FAE M ATIP K2R3 ~ Bk F
B KPS B 0 LARTRI N IMA 2 R S Aok o

13. —knE] 28 B (2™ Scribe & Break )

(. e #k &z TFT-LCD £/ B ey R~ 05 B RbRtEes) IC 0y B4 5% -
(2).4% 2-UP 338 R~ 41 i E£18 Cell »
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14. 48 F# 4 Bk ¢ ( Polarizer Attachment )
MARE T EWYBLARBEALCD @R ETFTHm@ » bRk TR
B %5 @AR (Panel) &9k db > 4w 2-4 AT ©

LCD#x
ETRS
| : FEEEO0ME

2-4 1Kk BE MR BB

15. %% (Cell Test)

540 @ AR 2 B #8) (Cell Gap Measurement ) » b3k % off line # & » B
B AR R IR B BRI 0 FRARICE R 69 B B 0 LR AF A OK/NG &
KB R ah o

2.1.2 BBk SRR B a3 Bk &R (ODF)H 2 i 1
% & 7% A (one drop fill, ODF)# #2 % 4a 3 7 42 77 T £ B o i AT FR 274

B B 2-5 prom o BERATRE A EEARETR BT SR T1E
I RIEBX EIE R Avak3E KR » 7 &8 7% % (Cleaning ) ~ o B &
#% (Polyimide Print » PI Print) ~ J ¥ (PI Baking) ~ &2 & ¥ (Rubbing ) %
Wiz o A b ER2S o FHBAPR LMY > B EFHARS Y
ERAR ELER  BEHBARAVERLR UNEEZTXBE » BFTR
AT AR - MR E RN > HFITRET R TR REBETHR
Ktz BEM (Polarizer Attachment) ~ & %8424 ° BP 9T A & 4 IR &

BB @R > TARRSEAREILGTERE - [19]
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3% 3 AR KeElA
4 v
e 15y B AT e i B 19 B2 AT 2k i
v v
AT Rz LAY Rz R
v v
B 1) B2k 1 AGNERES-
v v
LAY L B8] R 3F
! y
Fa [ 49 Bt AR E
!
R TEN
[
R AR LR B *
4 HAR A% e
___________________ ____i.____________________
m%ﬁﬁﬂﬂ&&+ %] 7] R
v
1 SR B Fid
I
B
v
LCD & bR % A&,

B 25 kMEALROREALERZTHZEER

P #k & % A(ODF) 3 42 #15% 8 3 A (HPS) # 42 5% A 69 £ 9 A ik &
AMAODPERAXLKERGETETE K - REEAN - Hofod ok ik
FEEAEREREHIE TN > LR FIHE RBANRSE -

B 7R & i A (ODF) % 2 18 AT B 144 Fofn 211 RN B 2R SN
(HPS)® 2 E R » F bt R4t R E 2 R INA L tm i A2 ¢
% & & A (One Drop Fill)

ABAER R BENRE @R RBBANBR T o B X0 &
ANEBRRAREAKRBERBEABEIRE > RRERITHBEIRAYE
BAR G HaFE o Lo
B 2-6 P °
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. One Drnop Filling) i

- 1 1 | -
// y A A 4 JE— WY J—w — —/ .
(A A/ A @ == f == ) == Vf I ] ¥/

/d y o/ d y ¥ —-—f; P i 7 ¥ ——— F.-' x 7 i r -'.u
Y/ A A A S ] e [ o
Full Size Substrate LC Drop V"‘:.I;hi“gr":::“t
UV Curing
[ — R —y —

— =1 3
Cl — = oo

| — | —

Panel Cutting

B 2-6 & &mAE T EE20]

BAEM O HAZ T AR IS H B R SR ey R R R AR REARBKRR
THEiRBEA REEH - [20]

Q13 HBERABTRAIBERAELBN
A 211 Fr £ 6iR SE A HPS) 2 42 91 2.1.2 &4 7% & 7% A(ODF) & #2

TURR AN ENBANYLES EROBEEGARGRENZLI TS
ey Ml P EREAREIANT X RE My EAT B 8]
BRI E RN RERAH B 2-7T Fiow ©
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TFT ‘s

— Rt
A
£iR -
Ljem | B8

T
ODF# 2
- EEIE - B - ; a3 ; -> - BEA -
i HE 4 4 M 4
) HPS# #2 : )

LR ﬁgﬁ‘ A5l 0

I AR T AR
B 2-7T ayxBRRbizriR

2.2 @ & 2B PR A W SRR
221 aX BZPUBZ SURNE

A BMHENBENA S RER SR EER — AL 4 ERD
B 69 E 25 0 LA HHE S S B HEAZ P A8 Y UBR AR B RE

Jeong % A[2]4t# TFT-LCD aa st R W A2 Vs AR ¥ &8 K h 2078
ST > Bho A6 0 AREEZERIE X5 5] AR S AT LS
By TARREAE A AHEARRE] 0 ARF A KRR RMER AR HE &
REBHBAZ UM ERALETHEERYERN - WAL ERBEEN
AT S BRI A B4 EFAHAERR SN EEFZBERE T
R ERSE L2 488 RA] > B b BB A X R Bk R R
A RANEHZ TF-LCD # A r&BEH > R FTAIFHRERMAE
B4F o

ZK[9]15 T A#x TFT-LCD aaxr R 2 P24 S 9335k T4 -
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P RAEBRAGIFEHRA] 0 BAE KBB4 B ERT R LBRAMK
o BEREBATAT ARBENEAGTHEE - B3 B ARRAGH RS RB

o R RAFRBEELT  BRAZBHEGM F_HALTEREE
FRPERRT  REE S A o FRIIATRE 2 kR WA

FTRTAGERANWIENSL  FELEAFZARSE HRACTEAN
PERPDAREFRIE o AERFFLER I @ > AR F R ETRAERR
) & w9 18 1 B R B3 B AL A BT EESPAE ] > BB AT EREE R -

ZR[15]4t4 TFT-LCD 4 B fAZ £ Z AR A RAH LT > It o fT #
WeEBIRA KRRy BLEPEAZ > ARF ALK E B R AL o TR PAREBR
FIEROMD > AR E A RRAITERS > B ARRAETRITAE X ABE
AR ERG D EEK G HPERL > BRMAT RIS HRERE
HERIFARER TAF b X HEAZ 0 1R JEFRTA T AR 3B B FRF1 33w ¥ & ) LR EE
TR S[15] e sz B ABEG FRHBEEXA TR REFZ Ao LE
A2 L YL EA B R A e

M K[10142 TFT-LCD #a sk @Az b Fitho b R A8 & & LAl 2
BNERESHT 0 2 A B RARILSRE BAR o SRR AR HR N X
REHMATAE MG ARELE 5 AIMEIFMBIMERE T @ > Al AR D B4
RBEME E AL B AT T AR EATEE » SGE T 5T AR & BAARSE TAF 35 A
MEZ A HBZ REKRBT AR RS  FEMRE T2
BAME > BUBEE#E ZBEGFHZ (BBCT) 22 S5 ARH# » &
EREEZER  BALEESRAELSIHZ A EABHTH -

BRA[11]4 % TFT-LCD f3r & 4142 + 38 St wo B4k B 44 & 0 I3 T
— AR G HKF] o B BRARRA T RIAFEGE H o FLT » Hit
BE TAE T OMBEABPE R T AR X ERB &M > BAEBK
PR H AR B BEAE R R A B A 0 LURD ER RS H B E 0 ik
KAgehsk o B ARBBOFRFEE R UM T TR ORBARIE  ERE
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TR OMBARAME L E > AATHRRRIESEZ > TARKEAIEEH
AR Az e B Ay

Bt K[14142 TFT-LCD ‘s A H 2 ey g b > Rt 2 AR S 41
IEFTEHECABERAT > oA A EARAERE R AL B Y - X
BRP 4t A e F—EHRER > AT RIS > UBPLRIFRITR
AMeEH - ML AERNS — AR ELENR  HEXRSEH AIZA
FEEXRRKZERBF M Umik B E S - iE > AR R ERZ
B JEHRSE TR > Bl R RE B IR TIARA R R T T4 0 g T8
FEROATEE  BIERBATESERAGAFRAT ) WAHMAEZLEHRE
T HE A A W BT P -

414 oL £ 7 TFT-LCD 48 r B % A2 P42 B RA AR4R 3 64 Rk » A &R M A
DI B HE BRI MAERRZ R  kok 2-1 0

B4 > Van Der Zee[7]3R AT S Y EHL RS H A G A AW
HARAHE R EmEXREBRAME I TR 2E > FE R RIS
EREEN  c AN AT EER P woEEEIE TSR L2 HAE 0
FEZ — o

BR24 4 3 R BRST £ % R e A A A 3 A X X &
EARBFEBARETLAKS o RFASAY LGB H A4 HH
RERAGBEA X R A QRAEBEER IR > AT IR
2 R HBRA TR ENG R EBHER -
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5 Rk

[2]
Jeong, Kim,
Lee

[9]
FRA

[15]
BRE

[10]
R8T

[11]
BRAF

[14]
EIE 24

J& R IR

TFT-LCD

TFT-LCD

TFT-LCD

TFT-LCD

TFT-LCD

TFT-LCD

K

HPS #
7=

HPS #
7=

HPS #
#2

HPS #
#2

HPS #
7=

HPS #
7=

% 2-1 TFT-LCD %8 31 Bx # $2 XK 2 Lo 5% #2239

B &

1B & HEASREH G
EodEEA B RENRE
BRERFELE Y > & HRAL

BH B R G T M E s A
HOR G 43 4a 38 2 05

TR AERRAE RGBT ik
& MR A %l B

RSP R SN N R 357
EHRERX

ERBAMEEL AT EHE
G % B RBERME

T B AR S AL ERT %
REs:TEER BEEHERK

R X

2R B -
B X EE

=

T TIER] ~
Pk

HERL
%3

FHERD -
BBCT i #7
B [l 16 B AR
A B
BE2RE
B KEHE
ik

B
i
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Model BAAX KBR&EHB

AR & BEAY

e~ RERAAME AT~ BEAE

#E &/ Mb %

# [P model B —htg
# &

2 AR ARIE % #REATAE

B R ¥t 3 JEHRER
T Ak 3k

= HiEARAb #REA T AE
¥~ JEHREA
I kb

ZEREEN HEHKS

i Bt

A H & AR FRBEIAF

BREEFME M
LB

£ pL LR TR

EREERLIER]
JEFRSA IR TARMESAE Rk &

DA Kb EFRNE B B
PAR Y 2 B R Bfe B4 R
Bk ITEE

IR BAME E RE DR
ABLE A LRV EE R
Fo %

B ARIE S
UBRERABAERA BT
5 R

UIEHE AT HRA UAE A
T IR R R AR A ML L
WEBEZ e E K



2.2.2 it 47 % %2 (alternative process)Z Xk /&3

BN A X 6933 A HPS 81 ODF Mg # iz 47 > Mt w2 %4t
EEMHHERAT > BALBRZ TR EAR R o T &8 T4 o o Biam
NEEBERRREET > AT IRFREE XA > BLEAXS
HPTHEMEERET AR 2R EMBAMIRT > £ 222 6 P44
3 47 % #2 (alternative process)+8 i 2 SUEK ATIR T -

Thomalla[S]42 JIT &93835 % » st H THEIEF A -TFITH & LayBIER
W HBEEIHAERRGRE > BETHERAHENT/FE > @
FIAROOE E L &M S L2 i TR % 5 Ak Muetae B ley B 22
T - 2& lagrangian relaxation ~ Bu2s X JE B A X RRIER KM > Rr T
BB T e o T & BRI 2E > LM T ik RIFZ M -

Caux % A[1]4e cell formation*#) % & F » A BER K ikFo iy % RE
EORE R H AT B R E R R R & T T AT An TR R IR
IME BB cell 2 [ &) ESE o A8 B X RERIE - AR AR TR
BRI BN EE I RBARENES LG EIBBRAREE -

Sofianopoulou[4]#Z BB E 2 TEME VM % TILHE LT »
JE P 2% 48 $4i7 (group technology) R 35 7k B8 T4 24 & > B fam ey &
R — 18 t(cell) » A B L2 PO ESIERE R4S o AR AL
AAELFBZERETR » BAREEZIAEBKER KA AW
1B P %8 R B3k K ARk o

223 XBRBAFRZMEM
KB R %% Thomalla[5] ~ Caux % A[1]¥2 Sofianopoulou[4] X &k

3t 47 % 42 (alternative process)Z #E & » X3 AL ODF 2 HPS #H f2 3t 472

2% A EMEBRARG AL - B AR TR UBZH X 5k

*Cell formation Z f2%E ;
Cell formation & B 41 3 47 (group technology) J& A b5 8y —fE% 48 » TR RAF B A LKL E AL~
T MBIk UREIHNHME S wIRARCHEATRAZEMB I mT s o [6]
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CrF RERMEES - 354 Jeong FARIXER T 09875 M 338 AR
MY BRI RARNEBANRFS L Bl HaREs 452
RN R G LS R TIRB TR X L ERBREE
EHBERIKEEAR EFTRAES A — R BAMBR A KL
o RAMREMAETH EXEERE b2 BASEER]9] -
RRK[ID]2 R TS EEBEZRAZ 0 T 55 LA T RIFEA
AR AWREELRER AN KERPBRALTR > MAH KL
TRz EARAEE  RIE G SR IHAE > SRSEMAREA > Bt
“RIARERE TG RY BT RIMANIAZ - EHEHA T BASL
# #5 K131 #7018 7 A8 4R 4 B 85 ] (sequence dependent) #) & i 7 &, > ® A&
AARENEAE A u ] E G e P RE > BEFHRK[10] ~ K
[14] 27 A RSB TAFSEZ B K > M RFRB T ERELEZ
A HBHESF  RERSF ER[I] > RK[11] - #R[14]x5% - £
IERERET  UBPHEAGERENTIESR - RAR T L2 TEX AL
ERGEXAE S B¥BARAYER LA EMELARSE » FHbREB
PRI aEr Bz r X B a K E/7e g st BA
HEERK[10] AR K [14]8 8 K121 B BRI T 7k RERAFAR
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¥=F - BAMHE

3.1 P1RE & & o #7

MEAERLBETSTFT-LCD)Z £ £ 588 R TF SRARN
M T E PR GEESHEEERRYEZIER - TFT-LCD #24
ERTFITrARBEELBEIE REGREALE - HaafkE =K
TR > MAEFEAMRIBTEAEFEOER 2R EHMER
FETg 803 - AXZ RN E ¥ TFT-LCD @ikt €42 ay 4 & R B4 -
B 77 69 7% & 8 A (ODF) # 42 H iy S A8 Ak 2 v T R R ~F @A BF 4238 B
EARABDEHRLENHPS)REZEF@HEES - £V EEZWALE >
BEHBMBEAENUEAT AXBRERTHELRETHEEF X -

TFT-LCD k@& @R AL &M E R BATa0 4 2 RITAFHR A% >
T TRRELLHPS Bi2) P EMRE AT M & 2 eRBE XY
A T #H 42(ODF # 42)8) T4E3E > mAZADH I > BALEAXT
B AREY EE AR R A RFAEN > BbbB4 8 sbMm4 Y
ZAAEA o AT E 31 RERAARINGEZHRER > AR S
aE A2 ZRME W FATAE K
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[

S -
A7l #EFE

K=1 K=2 K=3
TET . & 4 B md | _—
ol . # " A = stocker
ODF - HPS
e ::ﬁuaﬁ K=4
/A
ODF . ODF 3 =8
_ R
el R |K=5
A
HPS&.
K=7 K=10 K=11
K=12 K=13 K=14
DIF -~ HPS 1& & R
ht Bk 77 E| 1 asm [ &
B 3-1 HiR5E

A2 5047 # B
UF=ZAEL B3P haTF :

HRFPTHRRAZERANMER & > Tok

%1 BAERBEANRE SN R

R R A IRy BLE » SR B B R k&

BH AL R F %

FRSRGY B @ B B TARSEAE A HERR 8 > AR EAIFRBA T FE R 24
ZBA  ERAGE BAIER AILE) B AR -
FUANEEELEMRRGSN > B RMAZE > MELGERT S

EHNB o ELFBEL > EI L=

B4 HEEEBEMHE R F —

BT

B L

B 3. & EMEReE A2 ARE(ODF 2425 HPS # 42

ETREEFERZRTANRRA
B 2. BTEERZRBMHRAE

he FEHREA TR s HEAR B >

)

EHE PR -ZEEMAA T T EEE B TAATFTE 3-2 RET
ZEBEHES  AZEEMRXEMARNIERT » A4 S E LS
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e
wE3 HWERE

[
>

%
B
2 | [ HPsmz
‘ DF.
@» ReF | g2 | RS
BE WahC | WEALC | WRAGC
M ODF#42|ODF 442 ODF #if
4 Rt | Rz | 13
s Wb | Wb | Wb
8 ODF %4f%|ODF 54#2| ODF %if4]
R~ | Rg2 | KR53
wiha | iha | e
ODF#UfZ|ODF4If2|ODF#if

»
>

@Rl R4 AN
32 ZAEMREE

N2 A ERBREABRAVERAR AR AZIHHERER

BAAXT HHEREBIRAYER AR » TREMHE L S8
FRSR B RECO I B TAEXER - MBEIREY &R AR £ERAS
T AEsbas B 0 B LAEHREE TR S B A AR 0 LBRE R AR
WA R EARRAESIAEBATINYFER R A FEHA —RFBAM
RRAGES c AUAIFEEATROEAT > EEEEBARAY S
BAREEMBREBIN > AEhEEERANRTEE 5 BRIRETA
) & AE 0 AR A A AE E ey iR o et E Sh ey B SR 1 Sk
S0 E °

B3 EFI N NTIRFZRE

BEM TR R T E N2 E8 £ HPS v ODF R Ay 22
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T ARARARAREHEURAGRIAR o R EMR S R F] — I T4 A AEAu
I—HESL HEMAEASWERARGEBNRTRNEMAE > Btk
B SRALENLT ATEREHORIEEE SR RUABRIHER S
ERRREMBLNEMEEZETFLEBERE R - MEMEKRE RIS E S
Ao TIEFF AR BARIA TAE 3 RIF 2 B R BAE > AR EHEL
IS FREMERE  ATEEGWES > RBREE DS RICENE 42
BATHHERAT » N ER S RS R T EREZ B RME
AL
BEULOHREMA L =B X EE > AXLEPUTHYE

BRI AR REAT RS LA -

I Fl—TARsE P Hy PR A B G > R EEAB R B9 & b B - R 32 B i) Aa
[é,] o
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5 T A 35 (K=5) A ol H P B Bk & B0k D s R H o 1R X, 3-4 ;1 R,
35 3 H 0 AAFEE R K, 44~ 45 FEoR

L
Z L X ptyyys
MD,,, s = = cap
5 = —
/6;5 X 44
B 1,1, X1200+1,, X1300+1 ,, 1400
B 13789440
%

LST, = i | MD, ,, ; |+13xmax(Ns — My,0)

s=1

_ IMJx1200+g2Jx1300+53Jx1400]
13789440
%

N 1,,,x1200+1, , , X1300+1, 5, x1400 & 4-5
137 8944y
6

Ime1200+g2Jx1300+g3Jx14oo]
13789440
%

+13xmax(3-6,0)
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ML EN KN EBE

\

R REHE
AN BEUBIERVRGRE - AT EFEAREF > A “BFE
IPS ¥ Rir@snAi HRFRE ARAGEEBIE R -

v BB Akt Bt

f HPS

ARSI ERIBEZ EHREFE T KRK 363 F > prFER

4o X, 4-6 ATo-

0, = cap, _ 2298240 _ 7660.8 X 46
Plisg 300

BEBAROMAWEIE I EHRR Rt EwERET

b2 AT KA 3T
Fodo X, 4-T FRow

e sb A3 T A3k (k=8) & 1] » PRAT 4

S0 w =[2.963]=3
20684160

WAE L E TAE s X MBI A Z N T R 4T LR ——F dh3t E

Bmd%p—{0>< “2;}[7amsx N, 4-7

capy

@Az o
4T pEEzAAEAREHRRE
I AEsh 4% k=8 k=9 k=10 k=11
FAEIE AL E 3 3 5 1
KR THb & 9 12 15 2

RIFEAE A bz falEE AT

1% 0 B AL B BRI O, P RAF

ZAHFHEAERATLASHE LI R AT EGRE

L+ B HPS #

N o FH A&

AR A BLE T A 35T A BRAF B drmbsh g Bk FE > BT
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HHEBPAKRI-8 -9 RFIEMEERESEMD,,,, 15D G RELST, -

Fe b otk 32 TAE 3 (k=8) B 18] » PTAF 4 R KX 4-8 ~ 4-9 Ao

I i

) _ 48
MDSJ,Z,S cap% 2068416y it

M 9
8

S L
LST, = ZZ 'VMDS,Z,ZS—l +13xmax(N, —M,,0)

s=1 [=1

1?12 %8000 K49

+13xmax(9-9,0)

3 3
232; 206841§//

5=

MENETHRE P EARNRATEREEESIFRERERL L L
RESTH -_FPREUERALAZNERBRE R NS T 2R ER
WEHMD,, RV BRKRBLST EBHHEL,, 2R HEHR=F
IVE :& 2 WS
FH= AETRI/ESART RBX

ETHR=F  BARTHR_FHRERRERMD,, ARV BGERE

LST, % N & T A 3 2 A8 A4 X R A R & & stk o o T A2 -

AHBEH AR IMEAZRABBL > sRCHELEREPHEY
ODF #sza HPS # 22 & T b UFE PR ERE P E T/ EREZ
ROABFAERER  TH48AHAHEHEKAEA ilog $a 2 FMAEKF
Z o ORI PAIABEEA ST Ak EILER iLlog OPL 3.5.1 &£ CPU %
Pentium 3. 00 GHz B.RAM % 1 GB e4 33 F K » HUbAX K EHB R/ A
TR EEXRBZ RERS -
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48 PR IAF AT RZ ilog EA TR B L

AL AR
BRoNAEE A 1835150 (B A @ 7T)
RARBG R MR X 48 2 HORG BB [teration &k #
A 0,01 #2 35 25 14
FRBEBEAZHE (B4 FE)

& ODF ® A2 4 & (w=1) # iy HPS A2 £ & (w=2) RTRE
I[1,1,1]1=0 I[1,1,2] =785 Ibackup =0
I[1,2,11=0 1[1,2,2] =705 Ibackup =0
1[1,3,1]1=0 1[1,3,2] =995 Ibackup =0
1[2,1,1]1=0 1[2,1,2] = 850 Ibackup =0
1[2,2,11=0 1[2,2,2] = 1150 Ibackup =0

1[2,3,1] =897 1[2,3,2] =0 Ibackup =0
1[3,1,1] =935 113,1,2] =0 Ibackup =0
1[3,2,1] = 860 1[3,2,2] =0 Ibackup =0
1[3,3,1] =980 113,3,2] =0 Ibackup =0

WER 4T PITHRAGHZERELERE TR OREEZ LR
MR REPEREREE IS ZARSTAEALER  mMARFAHR
BRXZEE BARRERZI, ARARK 43 X 45K 49> £
BB T2 &S TSN R RILST 8 > A TF % 49 &5 ¢

(249 PEREBLE IRV BEREHR A
T AEk % 3E k=4 k=5 k=6 k=7 k=8 k=9 k=10 k=11

LSTy 3 3 2 28 7 19 20 83
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88w #HODF ~ HPS3t A THFsb 2 kP # s R ¥
S BR S B =B AT SR PR A & T AR 2 A e

R0 L5 He bR AL AT B B A2 690DF ~ HPS# FA T 4635 & e 2 5 2

AffemELTER -

Bl BE— > BALEAEEF —ERIBIHMBLZ EBE(1=2,3,..14)

P o R A B XM RBIB AL ARG R B A

13xmax(N, - M,,0) »HPS~ODF 3t Fl T{f 3 fif & z #4458 (N ) %o F & 4-10

PR -
4% 4-10HPS ~ ODF - 2 & T 1k 36 i B fa B &

. " *
%f igf 25 5 e Nk Mu&;mm
K=1 | &% | F3l#ke | 12 R RF(s)Z 34 0
K=3 mgﬁ F#E | 13 AR F R (s)Z F 3 4 0
K=12 | se | B3l E | 6 R R ()2 B 34 0
K=13| wn#l | 771#%& | 10 FERF(s)Z 34 0
10| S5 i | g RARA ()2 H 34 0
K=15| #®& | #7#& | 10 R RF(s)Z R 3 #& 0

WA AT R E A2 PODF ~ HPSHE A 2 & T Esbi g 23t B h Xes A R
Bl BATRRHAZLA N T HRBEAMHRBEARAVERKLR » BILEA
B EE TN EEREBARRD BB REG T XBARE > A F
=FFK3-14EK3-1847 7 > LR ——FI 3t HiBA2 o £ ABLh BB 1
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T A3 (k=2) &) » R K3-1482 X 3-1531 5 » A3 & Ko X4-10 ~ 4-11747

o~ -

L

zls,l,w X pts,l,Z
MDGL,,,,=MDCF,,,, =" X 4-10
e e cap/
Mk
S 2 S 2
LST, = Y [MDGL,,, |+> > MDCF,, , |+13xmax(N, - M,,0)
s=1 w=l s=1 w=1
_| 897x1008 | | 2775x1008 | | 2485x1008 | | 2000x1008
" | 22982400 22982400 22982400 22982400
%0 %0 %0 %0
: S r 1T 1T : &, 4-11
,| 897x1008 | | 2775x1008 | | 2485x1008 | | 2000x1008
22982400 22982400 22982400 22982400
%0 %o %0 %0

+13xmax(12-10,0)
=[0.393]+[1.217 |+[ 1.09 |+] 0.94 | +[ 0.393]
+[1.217]+[1.09|+] 0.94 | +26 =38

MmAT AR EAZF ODF HPS £ A X Kb T2 e DB REGTH S
Rb4oF & 4-11 AoF
4% 4-11 ODF ~ HPS £ A T A 3h 2 ix /b ¥ 47 R B ¥ B8 &

IR | k=l k=2 k=3 k=12 k=13 k=14 k=15

LSTy 7 38 9 4 S5 4 4

$BR% 1+ XHODF ~ HPS3: A T 4Esk £ 6 &

WH B P i3e Atk 42 ODF - HPS £ 8 TAEsb 2 &V R 48 R
%o BABRTHE LS T2 A A 0 B AE R E M TS
(k=2) &t > 2B 4. 1.1 PRI TARENAHZHERFZER
R 3-19 31 E > AR R K 4-12 Fiom 0 BT % 4-12 &5 % ODF -

HPS £ M T4k 36 2 & #iE & 47 CL, °

L s
CL, = 2xd ,xpt_, ,+LST, Xst .
2 ;; 51 XDl 2 XS X 4-12

=2x8157%x1008+38%x9000 =16786512
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%412 ODF ~-HPS £ A Tz Ahc @ i ¥H B A (B #)

T AE 3 4% k=1 k=2 k=3 k=12 k=13 k=14 k=15
CLi 10,771,440 | 16,786,512 | 14,688,000 | 5,710,380 | 7,341,900 | 3,671,130 | 4,486,830
%Eiﬂa 27,578,880 | 22,982,400 | 29,877,120 | 13,789,440 | 22,982,400 | 9,192,960 | 22,982,400
fiE

Lk 4-12 & B AT LA 3 418 ODF~HPS £ B T4k 3k 2 & 4 & 47 %/
HNEERTRHAR  KREAAMEE2Z2 P4 MEODF-HPS £ A T/5b2 24

A mARGPXITERXAEALER -
421 ¥ BAUERZER 455 B AEAS RIS P &K EE

4
TAEsE AT ¥ ODF $2 HPS XA 2 THEsb 2 ZREA T £ %) > TARE A
A o

4.2. 2 B ERBBAR RIFBMRFIZIPTHLEABIER

JE 8 RFRSBARAMIA R R » BARSE T “FREETAN
MG Z R RST,” 15 BT FIARE > 25 RST, Z A A0 NRER S T AR 35 & AEAR
B o M RST, 23t B K& A AR B A eABe o B 6 T 4F 36 (k=2) -

RSN A 3 (k=4) 0k S A TAE 36 (k=10) A 45] > 4k K 3-21 ~ K 3-22
X 3-23HE > AIFLE R K 4-13~4-14 82 4-15 Ao

RST, = cap, —CL, _ 22982400—-16786512 _ 688.43 (FEL(7:70) X 413
st, 9000
L S
cap,—(O D1, xpt,,,,+LST,xst,)
RST, = I=1 s=1
st,
9192960 — (0x1400+897x1500+2775x1600 + 3x 3600) .

- A 4-14

3600
=943.52 (BE{\7:K)
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L s ]
capy, — (z zﬁllﬂcpx Ptoiag0+ LST X sty,)
RST,, = =1 s=1 0
St
18385920—(@leBOO+MX13500+9X13700+20><6OO)
_ 5 5 h) X, 4-15
B 600 >

=10606.4 (F{i7: %)

A TAErZ “"RIERERET ANBRBZ RERST,” AA R RER T
& 4-13 pom 0 Bob Bk B T A 3k (k=2) X RST, 18 & it A TAF3b + &
/N(688.4 R) ik &b i N TAE 3k (k=4)Z RST 1E & R N943.5 k) > i

I AEsbZ RST,fEARRE+ 830 > Bob T b3 R X BEERE » 4o

F 4-14 Fiow o RILE S HRBZ R EH TSR I B > TiE
FHERT -RAUARMARRGEBRAICEIRIK ER AR & T £ E R
B BRBRE B RRERBAEIA E 0 TR EZ RS EN A
s B LTREE R R GAANTAESEZ 0838 % MAERBEZHEREH
NI o B AR E RE T2 R ARBHERIME > MMEE T
Bz MR AR EA TAF s X HE A2 0 RARSA LA ANE E -

% 4-13 & T AF35 RST, J2 A1 A %

I AEss 4% k=1 k=2 k=3 k=4 k=5
RSTW(X) 28012.4 688.4 25315.2 943.5 14560.9
FI A % (%) 39.1 73.0 49.2 63.1 36.6

T Ak 3k 435 k=6 k=7 k=8 k=9 k=10
RST (%) 2604.4 1559.9 14533.3 11936.7 10606.4
FI A % (%) 32.0 59.3 57.8 61.0 65.4

T Ak 3k 435 k=11 k=12 k=13 k=14 k=15
RST (%) 11477.9 67325.5 130337.5 | 460153 | 154129.8
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F A (%) 20.1 41.4 31.9 39.9 19.5
* 4-14 FREAMLRIRFAZ G B EHB L
o 4R
T A " by S S ERAR X
o () IR A (MG | TFTH& | RER | RERE | REHAE
CF = 14 Z i #& %8z [l Z i
B 16) B 7 1 T 2
j&'aaaiﬁj}\ 1] Ha 2 - -
4 (kisazipon) | IIRE *

4. 3 MBI AE AP RABBEZITRARARIER

R EAE PR TSR ZAE T B RARE X FRF] ot &

T OREBEHE A RRKABRBI RS REZLIEAERE URAESEEZ

V- o

RNAGZ A A B BEEM T (k=2) mBE A4 1.1 & FFF
T ERMIEARER - TEXAEARERE - S AL RASEAH -

W REARER > 241260 P2 SBABETFTEAHEHEZRE -

TR 415 AABEBRXNER ilog A TN -

& A4-15 FMB|AT b A BRI A ilog EX A RHERE

Ak AR

EAEEAME 8,011,060 E4x @ )

RAREGF MR X 48 31 ORGSR [teration %k #
362. 83(F#») 5, 066 5, 880 225, 540

M T EBAR(RR)FEHKETAHEREAS 164160 #

(86400%2%0.95) » AR A TERNEASAGFRAERNAEEARRT - &8
MURALEHAELBR - AEXARIZERGNEHERK > E£7]

&9




PR A AR K ¥ B A IGL[s,Lwm,t]Fa ICF[s,[wm,t] R &~ % & R
thHs REEEAD ERAwWHHBARIKER LR £F t BRI
B S m LA A B E o LA T & 4-16 1% 4-17 i aT =81 &
MEZAZHRRRARALZHEZMS -
BME— R{MEI M ITIRA

LERREN REALE AR IEAERTEIHGES(RTHE
24E) AAERRBRITHGE  BILKRERAHAEREE > vk 4-16
FE—ERIEAR TS 3 4- B AR —AHNALELTHESR
MG 2z AL BILAENXRE  BABLKSALRGME > L LER
ERGHRETEEZZMTIERF Wk 4-15 P E—EREAL FeH#K &
5 BT IGL[2,1,2,51] ~ IGL[2,2,2,5,1] ~ IGL[1,2,2,5,1] =4 & 4 »
B AR R E S TZ)BF © MAARSA T/E3 2 KX P 0 24{0,1} 4
¥ BGL[s,[,w,m,t]Fa BCF[s,[,w,m,t] X &k X BA M X & & £ 3% & o0 M 2L {0,1}
% ¥ CGL[s,Lwm,t]Fo CCF[s,lwmt]KEZEEAIMR AT EE LR £ B
1> BAA 0 RLEARKREFAT  TALBREEABRESTH
BGL[s,l,w,m,t] ~ BCE[s,Lw,m,t] ~ CGL[s,l,w,m,t]¥2 CCF[s,l,w,m,t]{& ( R,/ %k
A BERBXYBE S BGL[2,1,2,51]% 1 » K& IGL[2,1,2,5,1] 3% #A
B T2 & Sude#a 0 @ CGL[1,2,2,51]% | » &% IGL[1,2,2,5,1] %% #A
Ko T2 & LS 0 b HE IR GRS 2 A ZIER -
BE= MARTENKE

LB E S — AL BRE — RS T > M H —EA
Bds » SR A B 2 B P ATEAA R A& & 2 & 0 B A Fl R R (s) B 4k
Hiz(w) > A FEAZENRE Bl kdloF KéE 1 £5—EAEK
BEEWESS IGL[21211] > mE —BEBHBAEEZE S A
IGL[2,1,2,1,2] > e sb A E B2 RT@E %46 Hibaeks | £
oMM A E EHNKE
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% 4-16 FRIATAEsb i 6 15 BPRERH R &

t=1 m=1 m=2 m=3 m=4 m=5
W& T it T TR TR TR TR
IGL[2,3,2,1,1] = 152| I1GL[1,1,2,2,1] = 30 | IGL[2,3,2,3,1] =84 | IGL[3,2,1,4,1] =27 | IGL[2,1,2,5,1] = 65
e IGL[2,1,2,1,1]=1 | IGL[1,2,2,2,1]=1 |IGL[2,2,2,3,1]=69 | IGL[3,3,1,4,1] =87 | IGL[2,2,2,5,1] =26
E@Z@m IGL[1,3,2,2,1] = 80 IGL[3,1,1,4,11 =39 [[GL[1.2.2.5.1] = 54
T B B \ I RS R s
IGL[3,1,1,2,1]=1 N\
N\ IGL[3,2,1,2,1] = 33 \
SR TS L 153 145 153 153 145
AR S 1 2 1 1 2
FERERE 163224 164160 163224 163224 164160
t=2 m=1 m=2 m=3 m=4 m=5
P S SR [ER=EHH [ER=EHH [ER=HAR s [EIR=FHE
IGL[2,3,2,1,2] = 160 IGL[3,1,1,2,2] = 46 IGL[2,172,372] = 49 IGL[1,172,472] = 65 IGL[1,372,572] = 10
AR e IGL[2,1,2,1,2] =1 |IGL[3,2,1,2,2] =91 (IGL[2,2,2,3,2] = 113| IGL[1,3,2,4,2] =89 | IGL[1,2,2,5,2] =30
f@i’ﬁgﬁ%&% IGL[2,2,2,1,2] = 1 IGL[3,3,1,2,2] = 25 \ IGL[3,1,1,5,2] = 15
” \\ IGL[3,3,1,5,2] =99
FEIN T 162 162 162 153 153
PARR ARG 0 0 0 1 1
FERHERE 163296 163296 163296 163224 163224
t=3 m=1 m=2 m=3 m=4 m=5
W& T it [EIRSgAE ! EIRSpAS ! EIRSpAS ! EIRSpAS ! [EIRSpAE !
IGL[2,3,2,1,3] =12 | IGL[3,1,1,2,3] =1 |IGLI[2,3,2,3,3] =162 IGL[1,2,2,4,3] =65 | IGL[3,1,1,5,3] = 70
AFECEMS | IGL[2,1,2,1,3] =54 | IGL[3,2,1,2,3] =20 IGL[1,1,2,4,3] =55 | IGL[3,2,1,5,3] =22
fEkEEgcs | IGLI2,2,2,1,3]1 =96 |IGL[3,3,1,2,3] = 141 IGL[1,3,2,4,3] =42 | IGL[3,3,1,5,3] =35
N\ \ IIIIIIiIIIIIIIIIIIIIIIIIIIIIIIIIiIIIIIIIiI IGL[2,1,2,5,3] — 26
FEI T 7 162 162 162 162 153
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Pk oI 0 0 0 0 1
FEHEERE 163296 163296 163296 163296 163224
F 4-17 BT EdHK S 6-10 P2 4 R ¥ BB &
t=1 m=6 m=7 m=8 m=9 m=10
B e A TR TR TR TR TR
ICF[3,2.1,6,1] = 27 [[CF[2,1,2,7,1] = 65| ICF[2,3,2,8,1] = 152 |ICF[2,2,2,9,1] = 69| ICF[1,1,2,10,1] = 30
ey e ICF[3,3,1,2,1] =87 |ICF[2,2,2,7,1]=26| ICF[2,12,81]=1 |ICF[2,329,1]=84| ICF[172,2,10,1]=1
P ICF[3,1,1,6,1] = 39 ICF[1,2,2,7,1] = 54&\\\\\\\\\\\\\\ IICCI;[[13,31,21,110(;11]]— 810
ICF[3,’2,,1,’10,,1] =33
AN T 7E B 145
a8 1 2 1 1 2
FEHERE 163224 164160 163224 163224 164160
t=2 m=6 m=7 m=8 m=9 m=10
W S Rk TR EIR=ES ENR=EES EIR=EES HA TR
ICF[1,1,2,6,2] = 65 [ICF[1,3,2,7,2] = 10 ICF[2,3,2,8,2] = 160 [ICF[2,1,2,9,2] =49 | ICF[3,1,1,10,2] = 46
A EE BN ICF[1,3,2,6,2] = ICF[1,2,2,7,2] = ICF[2,1,2,8,2] =1 [ICF[2,2,2,9,2] = 113| ICF[3,2,1,10,2] =91
e e g N NICF[3.1,1,7.2] = 15 ICF[2,2,2,8,2] = 1 \\ [CFI3.3,1,10,2] = 25
\ICF[3,3,1,7,2] =
TR 2 L 8 153 153 162 162 162
Pag 1 1 0 0 0
FEHERE 163224 163224 163296 163296 163296
t=3 m=6 m=7 m=8 m=9 m=10
) e A i [EIR =gt [EIR =gt EIRsEEt EAR=EEs [EIR =gt
AEELZEEM | ICF[1,2,2,6,3] = 65 ICF[3,1,1,7,3] = 70| ICF[2,3,2,8,3] = 12 ICF[2,3,2,9,3] =162| [CF[3,1,1,10,3] = I
FeFRE B g ICF[1,1,2,6,3] = 55 [[CF[3,2,1,7,3] =22| ICF[2,1,2,8,3] = ICF[3 2,1,10,3]1 =20
ICF[1,3,2,6,3] = 42 [[CF[3,3,1,7,3] = 35| ICF[2,2,2,8,3] = \\ \ ICF[3,3,1,10,3] = 141
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L2, 1,27,3] = 26 | ) i NINIIITINITININIINIINNNNNNNNNNN

FEIN T2 i 162 153 162 162 162

AR 0 1 0 0 0

FERAERE 163296 163224 163296 163296 163296
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WA= FFRABALNZIHBRELER

EEREGR I EE T B ATE ODF #2(w=1) & &A%
(k=4) & R#R58 > L BAFRMBITETH ZfeioiptaBHA £4% > T F
B ERETANKRBZRBRST, > £RERE T IEZFTHANS
THEEAZES OF HE(W=DWmITZRERTELN AMEAKEIRD
RREIRGAEBRBEA BRI AR R HRARH -

B R 4-16 Bk 4-17 P AT Z BRI E R LR B3R LR Bk
ABBAEKXER(AMER A » TR 4-18 BT E N ERINBE K E 5
B EREELE RORABEREM A -

& 4-18 FMEREBMME S 2 HRRER

t=6 m=>5
RS st A

IGL[2,1,2,5,6] =17
IGL[2,3,2,5,6] =1

IGL[1,2,1,5.6] = 1
== == 1
EEE I FE IGL[1,3,1,5,6] = 77

T E L
IGL[3,3,1,5,6] = 47
IGL[3,1,1,5,6] = 1
IGL[3,2,1,5,6] = 1
FEIN T2 i 145
g 2
FEHERE 164160

#%& 4-18 ¥ IGL[1,2,1,5,6] $2 IGL[1,3,1,5,6] )& % F] R~ (s=1) B.[5) # 42
(w=1)R2B#4 5 @ IGL[3,3,1,56] ~IGL[3,1,1,5,6 ] ~IGL[3,2,1,5,6] & % F) R.
~H(s=3) B R #HA2(w=1) R RIAM#L% - ™% B 7 ODF # 42 (w=1)a9 R B R~
& (s=1, s=3) X Fl s /A e oy - AKX P IGL[1,3,1,5,6] ~IGL[3,3,1,5,6]
MR BB (=3)2 2 BB AR > TR RARBAKS (=2
R -

95



44 TSR AIZREZITREARINER

fe R LSRR T AR A E PR A BIE iR 0 B A LiE A
ZEEFAME TSR AP EEAZHNE  UELERRKE I
MelrEed HPS 4 22 A0 BofTI NI SITTRIZE2
BARE AR MESERE TS BEHEAMBT B ELEABER
MBI EHE TAEsE X PEAZ o
4.4.1 EHHEBAB IO RAZIITBREZARIER

4.3 P RIFEROSEAIGH HPS #4248 ODF #2228
EAER excel RBTEREXHE AR EMEREMEEZ ARSI
ki@ IPS A A g A AL ML REBIHE  KEAE
BRETEXWNOEZRERNZERAGFERAMS)E S > £ ¥ BMAR
F AR IT MBI B A - AMBIATIFR 8 RIo T & 4-19 2% 4-20
P
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%419 PSS #2422 N0 2 RnHEX

A HPS # Az w2 & H(w=2)

10.4” [10.4" [10.4" [13.3" [13.3" [13.3" [15.4" |15.4" [15.4
—# | vH | B | | vE | & | &8 | &

s=1 s=1 s=1 s=2 s=2 s=2 s=3 s=3 s=3

I=1 =2 | =3 | i=1 | =2 | =3 | =1 | =2 | I=3
30 22 80 65 95 75 0 0 0
2 65 30 90 50 80 40 0 0 0
3 55 65 30 80 95 60 0 0 0
4 30 65 50 95 67 0 0 0 0
9 80 50 95 29 65 59 0 0 0
6 65 30 13 17 0 1 1 1 0
7 26 55 80 64 95 45 0 0 0
8 55 65 30 78 82 2 | 0 |
9 80 49 95 29 53 1 0 0 0
10 0 64 50 93 79 20 0 0 0
11 65 30 84 50 79 40 1 3 2
12 55 65 30 80 95 60 0 0 58
13 19 49 94 7 0 75 0 0 40
14 65 30 90 0 72 45 0 0 0

PR FRBALTERR IR

‘R TR R R T
‘R T RREREER | TR




%420 2 PS4 22 NS 2 B# gk

A HPS # Az w2 & H(w=2)
20 0.4 [10.47 [13.3 [13.3 [13.3 |16.4° |15.4° |15.47
g | k| vE | & | & | PR | B | & | tE | &
s=1 s=1 s=1 s=2 s=2 s=2 s=3 s=3 s=3
I=1 =2 | =3 | i=1 | =2 | =3 | =1 | =2 | I=3
0 0 0 1 0 187 0 0 0
2 0 0 0 0 34 120 0 0 0
3 2 0 14 0 1 94 0 0 0
4 0 0 20 0 0 0 0 0 0
9 0 0 0 0 1 0 0 0 0
6 1 0 0 0 0 0 0 0 0
7 0 2 2 0 0 0 0 0 0
8 1 0 6 0 0 0 0 0 0
9 0 0 0 0 0 0 0 0 0
10 0 0 0 0 0 0 0 0 0
11 1 1 0 162 0 1 0 0 0
12 2 2 154 | 0 10 0 0 0
13 0 0 0 0 0 0 0 0 113
14 0 0 0 0 0 6 0 0 0

i R BRREEER TR
‘R FRBEREERR PR
‘R’ REAREER | IR

4.4.2 3 F TAESEHRIT A BI ZPATHRRRARI LR

AAME T > BAR 4 2.2 HRARKMEA T BRI 730 H 2 A
BREETRANBRZRYRST,” 1FAFHARE - 35 RST A BNMK EAER
BoL R wiARE TAEMEZ RST, Ao F & 4-21 A%
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& 421 H4b& TAFs RST R/ $ R &

TR 4 A B3 EZEE X R BTN Hnu
(k=8) (k=9) (k=10) (k=11)
RSTx 14533.27 11936.7 10606.37 11477.875
HFCHNER) 4 3 1 2

F $bB AL RST 4 N3] K &9k R 48 B AR 3w B #t & TAE3b 2 HEAZ >
B hRAE RST, s R BENTAESE » TR 422 B EEAIE TN

(k=10) e A A# 2 KB A ilog LA F3M °

& 422 REBENTAEEPEAE T R 1log X B MER L

RSN AR
(k=10)

R AE AR

SoMekRBREE 310(B4: FE)

RAREEF ¢ MR X, 48 31 RS B | [teration &k #
866. 75 (#>) 38, 050 31,374 349, 845

K A2 ZTRBEANTHEER=10)Z RBERNALR > RIFZARBR
4 310 FE > RABRSEANTAE 8570 LAMB TSR ERTZ
GEXWMIS) & & - AT THEBEARINZERENEHNERA > E7I7
4%k B> AT & 4-23 R R SEN TR S B E ¥ &5 K AWMIS) £ &%

ZRHRE -

AR LB REERRXAEAMS EAS#ER  BALBATREL
MR ZARBTAEE R IR a - EHP LI o RAERME LA HILZFR

RAE

EAMRUTZSEBAGAEIREFERGLEFZHER
TH— BRARTI/NIERARTHEAARGRAE
BT E I M EE XL #HEEAXEAL I FEZXIRBEAE
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RERGENTE B EREHEMBAIFRBEARIZ2FEKXUNS) £

oh o HBLEAGER = o

v B ET T PE P YE |
EHH— P ho s 1A EREBI T S8 E B LA A 310 FEZ A
RE o MR K 2 8 R R R E Lack,,, 1% 418 8150 A AL A

o TR 423 DBHHEEEE B RHREERALIRB T ERRE -

423 BREENTAEEARGFEAMNIS) ZLRSHRE

100

& ShAEHE

AE | 10.47 47 110.47 | 13.37 | 13.37 [13.3" |15.4” |15.47 |15.47
g | R | PR | B | R Fm | & [ —m | ew | @

g s=1 1 s=1 s=2 s=2 s=2 s=3 s=3 s=3

I=1 2 | =3 | =1 | =2 | =3 | =1 | =2 | =3
1 . ; 1 77 . .
2 - 9 23 - -
3 2 1 9 " ;
4 ; : . B}
5 ] 0 ] i ]
6 0 _ _ _
7 i} : 3 .
8 0 _ _ _
9 ) B a -
10 ) B a B}
1 1 47 1 - -
12 2 1 5 - -
13 ) } } 0
14 ] 0 ] ]

B © < goR R

REEE e ES




FR= S ERATIESH R
THEIBEXAPTEA R L E LG AMBA TR ZRILERE > B
ANk JBME EFRER TAE 3 2 HE A2 RAERM I X & RTIEA 12 ey TE36 &
B IR TR BREFEXERERGEANTBZRGLE
Lack ,, > B $bB& AEFREE TAE 3 A & R B A2 AR 48 2 BUR A X m A TR A

R 4-16 % EMPATHIATAFE Z HEHK -

M M

Y iGL,,,, <> IGL,, . —Lack,, — VseS;Vlie L,Yw=2VteT

" " X 4-16
> ICF,,, ,..<> ICF,, . —Lack,, — VseSVle L,Yw=2VteT

m=1 m=l

K 4-16 ¥ > IGL ,,,, ¥ ICF,,, &A% R KR & HPS

M M
B T2 SR BARAYERLARE D IGL,,, B ICF,,,  kT&
m=1

o X RS G HPS # o T 09 54 2 B¥E > Lack,, KREAMRET
X B RRBEX T HEZ RN RHEE A RA X RER GG
IR GH RAEHTEILER - BRI X AW IR 4] X% 47
KR RIFMMBITEBZ AT RELE R TR 42477 > ML ERES
BEHERK  E7AMH&KEC ONEASRBENTHIEZRHLE > BiLE
HAEE B RAENZER(A K 4-15) - BARRB I/ EHRENIELZ
HERMABAN > ENHTLAL 18442 P2 PHAMPEIMRIRLHE
ANIAEsbZ B4 RMZ B MW TR 425 o MR ELSBNEHERK
£ 5|7 M85 D o

k424 MBI EXSAEERIB AT KA ilog X ERERE

Ak AR
AR i
B R E B A 7,926,565(E 4 1 L)
T A3k
(k=2) RAFFER - RAIXEE | ARZEMH | [teration KK
1277. 42(#) 5083 5880 396, 248
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R 425 RELENTARSEHERITTHR P EH R ilog X B MHR L

RSN AR
(k=10)

R AE AR

BMeERBREE O(Ef/: FF)

RAREGF WA :q RS B | [teration &k #
457. 19(F») 38, 050 31, 374 96, 969

FE & 425 THRRDENTAEM(k=10)7T AT 2% EARE T/E3 £
MEEZER R EXERZIRBEEA O BZALSHF T =
A3 (k=8, k=9, k=1D AT HFBR—ZF = » Fhicho ] T ARAMEA A3
FIRBZHERER > TARAME TP T RMH] - KA T Mo T % 4-26

i
& 4-26 FEpiE AR TR AMKS] ilog KX EFRER A
iR 1% R
k37 T AR b BMERHEE O(Ef: FE)
(k=8) RARRFR] - MR X 48 # SRR G BB | [teration k¥
6. 98(#») 31419 h3424 2, 881
iR 1% R
A%ZE KA BMERBAEE O(EM: FF)
(k=9) RARBFR MR 4] X 48 2L SRR G | [teration k¥
28. 02(#») 49138 53550 10, 068
iR 1% R
Ho TAE BMERHRE O(Ef: FE)
(k=11) RARRFR MR 1 X, 48 31 SRRy | Iteration &
56. 24(#») 39075 40572 23, 258
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4.5 &R LB EH

4.5.1 5 EPRZ R B 5H

EAXALIHP > BARFRBETFEHEEARI P2 R(AH
A AL AGPHRRBAIESREZHEMAZEHE T ZIEAN
B BRGEI MBI IH LIRS HAMATFERIZFEE L
(MTS) & & #0 & > 5448 &) 58 3 AT ARLSE TAF s HEAZ 2 4% TE LARE AR 14 48 TAE 3k o]
NEA] & W ARSA TAE X M E| 2 & ob o

Mg LM ENERTHF RN T | R E
1. B RIRBIAEBIREZA > BAABSY T XA RFEE T2
ERATHRAMETEXWMIO) Zm2 & & > AW T EREE T/ HE
B ATRALAEAME  BARIHEEXIELSARTAEETER
Eaudh o TRAEZGEAMNS ZALHEBRE TSI THERAL - tF
T AE3s B bR B ISR TAE3E AR B 2 T B K (MT0) 2 s s & ANTS) &
S AT o B AFLBRRAAEITEXMNO E LA E -

2. GHAAESLZEMEBETHIENT  ODF # 42 3 HPS #2474 v T A7
FTENBMpTRARMK > PREAUZEREZZBERABERS  BAL
JfE S A S A2 P EIRA HPS & ODF & XAn T85> Bp R A L eh 3 AR
RR(RA2.1 FHFBRZ) - BEEALETRIEZNS A EZRRERYE
BRI AR B IR A R A BERARLNEZT > sEHET T E
#8942 (HPS # 42 3¢ ODF # £2) & su o5 14 B & b rE R P A E R H A2 T
BAMGAIA AR FEAZEEREEZZEMRARS  LTHER
BN BZERTRANNWLIES EomE EBAEEIR - BEIRA > FAE
S04 ODF % 24 Z o5 B A1M (B & B4 £ 18- B A ) A 650 7T 5 24 HPS
Wid FRHEmAMAE 600 L MBE—REAWERABENEE—EA
ALz ER(BAERAA 1 BEMER) Ribd A EmAM k% E > L ODF
HEAENESRAXE - 2R BBREERIBIERE » £ 0DF # 42
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4 &bl HPS ® iz 4 & RAAMSE » B E R E S IR EN 13 18
By UIPSERBAEZRMBARE > BAUT £ 4-27T £~ b4 o

* 427 mE A EFHE LR X

i A HPS #42 4 & & & A o ODF 42 4 & & & A
wap | BME[EE] 0 [R&[EE]
T e | fE%
L BmEss | 0 1 600 1 0 0
2FmAER | 0 2 1200 1 1 650
3RMmAR | 0 3 1800 1 2 1300
IFwER | 0 1 2400 1 3 1950
5RMER | 0 5 3000 1 1 | 2600
6FmAER | 0 6 3600 1 5 3250
THRmER | 0 T 4200 1 6 3900
§EmwAER | 0 3 1800 1 T | 4550
gFfmAm | 0 9 5400 1 8 | 5200
10 Fwase | 0 | 10 | 6000 1 9 5850
I fmAgsk | 0 | 1L | 6600 1 10 | 6500
2§mas | 0. | 12 | 7200 1 | 7150
3¥mARk | 0 | 13 | 7800 1 12 | 7800
[4¥@As | 0 | 14 | 8400 1 13 | 8450

Ll Ll RBRE  gEALEGEERE A PHEEL I TEXE S
(MTO) Fe 4% A 2 o T R AZBF - a7 ) Rk THRSA AR 3 2 PF#2 - R b2 B 18
HERCIFENT » ERBMAE ERAMERBAREFLBE D TR
#Z(HPS~ ODF) > #olafE A P EE T2 RB I ML ELELT T L
%o hok 487 o MAMBI A ERIB A HEB XL ERGE 2
EREAR > BB Rk 4-27T P28 - AR EMA B B2
AEEBRMARSZERAE AT RILZE S T H A2 ffa fh e
FEZE - B bEALAGREEEFRESMNIS)E EEHE  #EL
ERZITEXEGNOZHEHZERBEEALAT RS BLETERE
B BT TN BB LR BT EMURATENRE
R HbLREMNSIEAMIA TS S TAE3E X HEAZ o
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4.5. 25 EHRZERLBASH

B E TAF s Bk T RMATAE S X HERERT & A KD KRB
TR EEBEMRBATAFRL 0 EMNAIGRA AT ROHRER -
BAUT £ 4-28 RbB M RHARZ AT Z LA ~ BEHEE AR E
BB REUREH IPS Hzr 2 ELdERE - L4 EEdm & & b
ZERHE ANENERA LSBT A SR C -

F & 4-28 PR G EL A HE DA 3B X IRF] 0 15 B4 A2 AT AT A1
BRHER AT AR AR > 27 T2 R RSA TR B X &R - mbnts
ERZHRERIBEREI v BRI L ERELI v ESERZ
MERETHE > maMBEANREETHE/ > RbmRAE g A R %
ERK
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& 4-28 MRy AHEERFLLE X

BB Z A ER B EB PR Z I ER
483 8,011,060 483 7,926,565

B R B 62 B R B 75

BELE 10, T90(EAx : FE) BELE 10, 680(§4x : ¥ )
N RN 94. 52% FHA R F 94. 58%

R AR B R 362. 83( & Ax : #) B8 AES | 1277 42( B A3 @ #p)

Bz HP S#EE4A ZX NS A s BEAPEEBHP SHEEA Z2 NS &g R
B os=1l | s=1 | s=1 | s=2 | s=2 | s=2 | s=3 | s=3 | s=3 | B | s=1 | s=1 | s=1 | s=2 | s=2 | s=2 | s=3 | s=3 | s=3
| =l | =2 123 =1 =2 1=3 | =L |2 | 1=3 (8| =L | =2 | =3 | =1 | =2 | 1=3 | =l | =2 | 1S3
1 - - - 0% - 59% F - | 1 A - - - - | 100% | - - -
2 - - - - 4% | 81% = - L 2 X - = - | 100% | 100% | - - -
3 0% - 1% - 0% | 90% 2 = = 3 & - | 100% | - - | 100% | - - -
4 - - 100% | - - - - - — 4 - = | 100% | - - - - - -
5 - - - - | 100% | - - - = 5} = - = - [ 100% | - - - -
6 | 100% - - - - - &\ - - 6 | 100% | - - - - - - - -
7 - 100% | 100% | - - - - \ = 7 - | 100% | 100% | - - - - - -
8 | 100% - 100% | - - - 4 - - 8 | 100% | - |100% | - - - - - -
9 - - - - - - - ~ - 9 = g - - - - - - -
10| - - - - - - - + x « DiiNg § - - - - - - - -
11 | 0% 0% - 1% - 0% - - - |11 - - - | 100% | - - - - -
12 | 0% 0% 19% | 0% - 50% - - - (12| - - | 100% | - - | 100% | - - -
13| - - - - - - - - | 100% | 13| - - - - - - - - | 100%
14 - - - - 100% | - - |14 - - - - 100% | -
it ¢ RO
HRBEFERES
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4.5. 3 A Ak Hl 2 B o

BAAE A 2.1 8 F LA E AEARAE A B 6 BB 5 BR R AR LA TAF v A RE A
TR A fr Skt T EXMT0) & ob » f£4F 40 & TAESEE T & 47 CAosTE X
B outg 0 B EIARSE TR a9 HEAR -

EAERAERE T BAER I EGERIGTURIEE(28 R)Z &
BTEAESZLFRERNEMMK S ERamE eyt R#(12 R) » Bio
L2 AR AR AR P 13 ERI A MMM B A E B SRS B
MR E FRBZ RE(20 R) > w2 1% TFETEMZ RN RE
LST, % 38 R(A %k 4-11) -

B TERERILAZABGHERS PHPTEXE S REHM E X ERE
Mo B AR fe A R IR AT AT E X A R A MRS T3 XA
B BRAEABEANS)Z S 5T o SURIE T/Ess 2 $EH X R
UARRT E A M At B S TR wT R K AR AR & AT ek
HARESBMNERRN  EFAMEE EARRBERP I EmFL4
W RE A 46 R °

BAKRTHRA29 2R P Tho gHRIBEE A2 RF > £ EFEKX

GHITE X E BB RRE A 62 R MAEUTER & & REE > fr
FX BB RS 40 R BB AToERINARS 2 RG> #RIMHER
HERGARZBRAATAEREAWMIS 2S5 miENTO & &b RAges
Pt RAF Z IR R By 330 B AEARAE BT 3T B 2 N R4 R #8038 & >
AR R ok + o Rk

429 REBHRA 2 REFLEFIRBBRHEHR L

Eneabal | N0 & & K2 | L NTO & NTS # & K A2
A2 E 4 2R 2R 2R
FRXER & & il
g R 38 R 46 R 62 &

A THE ERAERTBEEEGITBRERBZRER - 5 AKRE

BHH2REAE 28R MEELHXIAEE 2 RE A 28 X 5 BRI
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BE(28 ROM > ABEIZBEA S 14 2% A 1 87 - SbIF R AR RAF 248
MBERBAH 2R B ESEHERR 7 HEF -

ERBEE A 2 K0T EAchafE At B F 2 R 28 4B BB 46 89
13ERE AR L ESEE LN REHME R NIRGERES 26 X4
T & 4-30 Aow s Mg BAEARBBEAR A 28 RAF 0 R0 (28 X)W R
A—BEAY RLEREFRALEESNEREMSSG  HEHKXRF24
BRBN2REAEEARERF TR AHESNEREDNBRRYREDE -

% 430 REIFR TSGR EHREL

" . 1£ A MTO & & K 42
B REABAE M it E 82 e
.38 8 B 28
HRAE & & e
AL | HBYELE
S H % i
g R K ERE | HEENELSH
12 % 26 % g *
48 R
GRS total 38 %

A&k 4-29 ¥1k 430 891538 0 BATF 405 ME B 4T > Al &
AR DL ARARBE BN ERZALE MG RILERI S » RlIRGRH
SRS EE § MR MBI R BT o 2 AR A A B ik
S B R R IR D o R SRR B AT S 2 R B
Sk -
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4.5. 4 B HUREEZRBAH

AXAIHHAAGFRFERZHERTRATAEZIRLER - M
BHTIFREUABRFLAZILE ARG FEARBRGTE S K F8URHE
TAEMEE LK U HPS HERwT &8 0 ML K TH RKRIEF R
8 4 R R R &R BN 8 R4 F % 4- 31 Fiow -

& 4-31 #REAIPS HE2BRTILERLEL

HEARERTHRZIRIER £5 HPS HEHBIRTHREZIAIER
483 7,926,565 485 7,713,913
B RE 75 R R 73
“ERS 10, 680( B4 © FF) “ERS 10, 696
FIFN A F 94. 58% FIFI A R 94.51%
R AR R 1277. 42CE 4 : #5) K AR 453. 93(E Ak * #)
S ELEBEZEREE S ELERZEREE
s=1, I=1, w=1 12 s=1, I=1, w=1 0
s=1, 1=2, w=1 18 s=1, 1=2, w=1 0
s=1,1=3, w=1 234 s=1, =3, w=1 0
s=2, I=1, w=1 355 s=2, I=1, w=1 0
s=2,1=2, w=1 459 s=2,1=2, w=1 0
s=2, =3, w=1 872 s=2, =3, w=1 0
s=3, 1=1, w=1 947 s=3, 1=1, w=1 0
s=3,1=2, w=1 1008 s=3,1=2, w=1 0
s=3, =3, w=1 1241 s=3, =3, w=1 0
s=1, 1=1, w=2 697 s=1, 1=1, w=2 1086
s=1,1=2, w= 674 s=1, 1=2, w= 1234
s=1, =3, w=2 1107 s=1, =3, w=2 1095
s=2, 1=1, w=2 901 s=2,1=1, w=2 1050
s=2,1=2, w=2 993 s=2,1=2, w=2 1105
s=2, =3, w=2 941 s=2, =3, w=2 1273
s=3, I=1, w=2 3 s=3, I=1, w=2 1277
s=3,1=2, w=2 4 s=3, 1=2, w=2 1273
s=3, [=3, w=2 214 s=3, [=3, w=2 1303
total 10680 total 10696

Hoos=1 ERE 1047, s=2 TR 13.37, s=3 £ERFE 1547,
I=1 FRWE SRS, =2 SRR SRS ey, =3 SRS,
w=1 7 HPS #f¢, w=2 3 ODF #lf{

Fhdh & 4-31 T4 g HPS #4241 ODF HAZ R B3 7 205 A B B2 X
TRIFEEBOFIERAREERE AR o R+ 4 15,47 Mkt
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AT HE LSS [=D)ME& 7 d ODF #2(w=D4 & 5 m R~ 4 10.47
R S AR A S o & b (s=l, [=)MEm»n e PS BER(w=D 4 & - £1EHF L
HPS #Aznd » A PEHMAFTEES BB EE T A > HiLidRERU
ODF # A2 4 ZTHIFTRSAE e & Sudbib /By HPS 24 & 48 & & S 4F
Z AT > ik RAFEBIK o BbE AT4 o 88257 0HR
ToaNGFAEESABEENT I XZEY  RTEFRSGEAH
CEEERRFAZ LSRN -

4.5.5 BEEBREBEZ RS

BHTHREAIHPHEARIZERREAHELTT > R4 1HF2
BBEMERE  BIEBAARBEBRTRIA ERITUFED R T HE42
ARG EREM S BABR AR A eM-Plant 7.0 > 3£ XA sim-talk 2 3%
ERBEABBRASL BEHAKA LI HE L 4G FPRA A EILET
b RIF 2 LM e RIER(RLMER O/F BB BFEE sb v THEEE -
B YUE S 5 M 8k T4k %5 24 FSR(Family-based Scheduling Rule ) $j #& Jk T 7%
AIBIRPEEEME L& Sun T 2IBEH - FSR Bk TRA 2 R T S AF
EMEMIRE—MIHNH  RHFREFERTAREREZ M4 FH AR
EHENT BRI ZHEHRBITERMZER EREFEFRRERZ
IH AT EGER Y EeEEZ T -

REBIBRE 112 R A8 ETEE > AT 84 XA A warm-up R > 2
FETASERBE M 4.3 584465 KF2 4 BRBTFLEEEERE
HBRBABBAGA KRR TURRAE—PAER 4 B2 BBLZLTEE
X ERHIE c BAREIBBOLRETHFEEMERTRE - B 2H
AZRABNARE BEHRAATENTELE 24 EA LT EhHERE
& B by ARG AR E L - TR 4-32 81K 4-33 AT >
TG LR EABIERBAEBRRERT AR TR ZER
AT 5 B MR B TR S 2 BR e
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. E&MERERY

B AR BRI AR P X RIF MBS ES SR EHERER
BARE > BT RIF 2B TR AR R R B AR SRR RIF 2B E
BICEREAAE > F A/ DO R MEKEZLZRERBII AN T R4-32-
2HRBNERE -EMTEALE - B ARE  EHARS

EANBLEXBTLIEELZIAILEET  HARRRKREY  #
MEELERFETHA R IGETHSEE TR - LRI E L ZRE
THAEAL R WARBZBALRZ  WwTR%K4-33Fw - £k 4-33 T4
L ESEREGEQCE R)FFHEAR 8. 0% A Ley ZHERE > MAH E
eI EMRES 99.2% 0 REAXAREZ LKA LR - £ B FSR
BRRTFNGHEALT AP TAZEHKAES °
3. BHyAnri] - AMEFREARE E

FTF R A-33 7 7T & Z b A A5 Bk B o5 X P 34 8 2 05 o] 138 BA 6 R AR &
2> BYEATHERGNRT A 10. 4 69 2R 4858 & S R+ % 13.3
bR B EE SRR TR ESRAS GG HPS BT » /AL ENT
gk BEEAEHRZIEHRE > R FHBEHFEMER A1 RX
10 18 e > fo g AR AR > BRI E 2 E BB R 0 44 3B/
A MRTH13. 3R BEELSHAERRBR TS 15,409 4%
RAEEAESEN KRS Ed ODF B4 £ > SPhaEmgksE a1 X
X5 A4 0 Mt ODF #Az &bk & - HIL AR FRAZE £ 2
B AL - MeNEE L ARSHBELNEESRAR 4422318
AN

N A LB BRRE A E X S BB AL > TR T HEHK
FIRBIZERAEBBOEORETAFHTLORAZ Y » HETAXTXZ
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% 4-32 FRBAIAFH S E R B RHE

# 4 sk 1 2 3
BEHEARIZ g . :

ke R

e

a4k Bt 8 7 T

P 6 7 8
BEHEARIZ - g :

Mk R B

e

ke R B 1 8 [
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% 4-33 BHAME E B aAEst E Btk

& o Rt 10. 47 Rt :10. 47 R~ :10.4" R~ :13.3" R~ :13.3"
&R RemAERR - — & R TS RenFER 5 REBAERR - — & REBERE T
AR G i Ed o i E o 12 $E o 1R $E S
9, ) W | n ¥ ¥ 3
‘ g | BRI R g | E Ry | R g | F Ry g | F Ry
1 #A B’ | &R | & . | & . | & . | & -
;3 .| A R E | 3 Ao Bl P
H o] o) H H ) H H ) H H %) H H %)
1 30 30 0 100 55 55 0 100 80 75 5 93.8 66 66 0 100 95 91 4 95.8
2 65 65 0 100 30 30 0 100 90 86 4 95.6 50 50 0 100 114 112 2 98.3
3 57 57 0 100 65 65 0 100 44 40 4 90.9 80 80 0 100 96 93 3 96.9
4 30 30 0 100 65 65 0 100 70 67 3 95.7 95 95 0 100 80 80 0 100
5 80 80 0 100 50 50 0 100 95 91 4 95.8 30 30 0 100 66 66 0 100
6 66 63 3 95.5 31 31 0 100 90 90 0 100 51 51 0 100 80 80 0 100
7 30 28 2 93.3 60 60 0 100 84 84 0 100 65 65 0 100 96 96 0 100
8 56 52 4 92.9 65 65 0 100 40 40 0 100 80 80 0 100 96 96 0 100
9 80 75 5 93.8 50 50 0 100 95 95 0 100 30 30 0 100 65 65 0 100
10 30 30 0 100 184 177 7 96.2 51 51 0 100 95 95 0 100 85 85 0 100
11 70 70 0 100 32 29 3 90.6 94 94 0 100 122 117 5 95.9 80 80 0 100
12 57 57 0 100 67 62 5 92.5 185 185 0 100 81 79 2 97.5 95 95 0 100
13 80 80 0 100 50 50 0 100 95 95 0 100 30 27 3 90.0 65 65 0 100
14 65 65 0 100 30 30 0 100 90 90 0 100 145 143 2 98.6 80 80 0 100
total 796 782 98.2 834 819 98.6 | 1203 | 1183 98.0 | 1020 | 1008 98.7 | 1193 | 1184 99.4
3B 1:16:03:53 1:13:09:26 1:19:21:47 1:12:18:39 1:10:58:46

(R:BF: %)
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A B AR £

(R0 2 5) 0:03:14:17 0:03:27:04 0:03:08:52 0:03:04:45 0:03:37:28
% 4-33 ZHMENE B ok & bRk (%)
- 3 R+ :13.3" R~ :15.47 R~ :15.47 R~ :15.4" B
E48 RemAEEE L 5 RenAEdE L — M RaHEE TS ReFEF © 5 T

X & A5 i A5 i 15 i A5 5 s
) Moa m | A " " "
| g | B R g | F gy | F R e | R e
i HA i | 7 | & é | & % | 8| & & | % | &% I RE | EH | & &
i g O H H %) i H %) 4 ¥ %) 4 %)
1 236 | 235 1 | 996 | 40 | 40 0 | 100 | 60 | 60 0 | 100 | 87 | 87 0 | 100 | 749 | 739 | 10 | 98.7
2 160 | 160 | 0 | 100 | 61 61 0 | 100 | 91 91 0 | 100 | 106 | 106 | O | 100 | 767 | 761 | 6 | 99.2
3 154 | 152 | 2 | 987 | 71 71 0 | 100 | 45 | 45 0 | 100 | 149 | 149 | 0 | 100 | 761 | 752 | 9 | 98.8
4 90 | 88 2 | 978 | 76 | 76 0 | 100 | 41 | 41 0 | 100 | 237 | 237 | O | 100 | 784 | 779 | 5 | 99.4
5 220 | 216 | 4 | 982 | 85 | 85 0 | 100 | 60 | 60 0 | 100 | 80 | 80 0 | 100 | 766 | 758 | 8 | 99.0
6 40 | 40 0 | 100 | 63 | 63 0 | 100 | 98 | 98 0 | 100 | 220 [ 220 | O | 100 | 739 | 736 | 3 | 99.6
7 72 | 12 0 | 100 | 45 | 45 0 | 100 | 212 | 210 | 2 | 991 | 91 | 91 0 | 100 | 755 | 751 | 4 | 995
8 141 | 141 0 | 100 | 70 | 70 0 | 100 | 123 | 121 2 | 984 | 9 | 90 0 | 100 | 761 | 755 | 6 | 99.2
9 152 | 152 | 0 | 100 | 8 | 86 0 | 100 | 61 61 0 | 100 | 157 [ 157 | 0 | 100 | 776 | 771 | 5 | 99.4
10 95 | 95 0 | 100 | 78 | 78 0 | 100 | 43 | 43 0 | 100 | 110 [ 110 | O | 100 | 771 | 764 | 7 | 99.1
11 42 | 4 0 | 100 | 65 | 65 0 | 100 | 90 | 90 0 | 100 | 148 | 148 | O | 100 | 743 | 735 | 8 | 98.9
12 70 | 70 0 | 100 | 70 | 70 0 | 100 | 41 | 41 0 | 100 | 110 [ 107 | 3 | 973 | 776 | 766 | 10 | 987
13 75 | 75 0 | 100 | 8 | 85 0 | 100 | 69 | 69 0 | 100 | 209 [ 207 | 2 | 990 | 758 | 753 | 5 | 993
14 51 51 0 | 100 | 61 61 0 100 | 91 91 0 100 | 161 | 161 0 | 100 | 774 | 772 | 2 | 99.7
total 1598 | 1589 99.6 | 956 | 956 100 | 1125 | 1121 99.8 | 1955 | 1950 99.7 | 10680 | 10592 99.2
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ICF[1,2,2,7,5] =1

IGL[3,1,1,5,6] =1

IGL[3,3,1,1,11] =51

ICF[1,1,2,10,4] = 30

ICF[1,2,2,7,7] =57

IGL[3,1,1,5,8] = 66

IGL[3,3,1,1,14] = 151

ICF[1,1,2,10,6] = 66

ICF[1,2,2,7,9] = 49

IGL[3,1,2,2,6] = 1

IGL[3,3,1,2,2] =25

ICF[1,1,2,9,7] = 16

ICF[1,2,2,7,10] = 64

IGL[3,1,2,3,11] =1

IGL[3,3,1,2,3] = 141

ICF[1,1,2,9,8] = 55

ICF[1,2,2,7,12] = 1

IGL[3,1,2,4,8] =1

IGL[3,3,1,2,6] =22

ICF[1,1,2,9,9] =62

ICF[1,2,2,7,13] =49

IGL[3,2,1,1,4] =41

IGL[3,3,1,2,9] =82

ICF[1,1,2,9,11] =41

ICF[1,3,1,10,10] =1
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ICF[1,3,1,9,11] =6

ICF[2,1,2,10,5] =28

ICF[2,2,2,10,12] =95

ICF[3,1,1,10,1] =1

ICF[1,3,1,9,13] =1

ICF[2,1,2,10,7] =57

ICF[2,2,2,9,1] = 69

ICF[3,1,1,10,3] = 1

ICF[1,3,1,7,6] =77

ICF[2,1,2,10,8] =78

ICF[2,2,2,9,9] =53

ICF[3,1,1,10,6] =1

ICF[1,3,1,7,7] =2 ICF[2,1,2,109] =1 | ICF[2,2,2,6,10] =79 | ICF[3,1,1,10,10] =1

ICF[1,3,2,8,4] =2 ICF[2,1,2,7,3] =26 | ICF[2,2,2,6,14] =70 | ICF[3,1,1,10,13] =1
ICF[1,3,2,8,12] =33 | ICF[2,1,2,9,7]=7 ICF[2,2,2,7,1] =26 |ICF[3,1,1,10,14] =61
ICF[1,3,2,10,11 =80 | ICF[2,1,2,9,9] =28 | ICF[2,2,2,7,4] =67 | ICF[3,1,1,10,2] =46
ICF[1,3,2,10,4] =68 | ICF[2,1,2,9,13]=7 | ICF[2,3,1,8,6] =39 | ICF[3,3,1,7,3] =35
ICF[1,3,2,10,6] = 13 | ICF[2,1,2,6,10] =54 | ICF[2,3,1,8,7] =27 ICF[3,1,1,9,6] =1
ICF[1,3,2,9,5] =95 | ICF[2,1,2,6,12] =81 | ICF[2,3,1,8,8] =139 | ICF[3,1,1,9,10] =76
ICF[1,3,29,8] =35 | ICF[2,1,2,7,1]=65 | ICF[2,3,1,8,9] =150 | ICF[3,1,1,9,11] =59
ICF[1,3,29,14] =7 | ICF[2,1,2,7,4] =95 | ICF[2,3,1,8,10] =73 | ICF[3,1,1,9,12] =71

ICF[1,3,2,6,2] = 89

ICF[2,1,2,7,5] =1

ICF[2,3,1,9.9] =1

ICF[3,1,1,6,1] = 39

ICF[1,3,2,6,3] =42

ICF[2,1,2,7,6] = 17

ICF[2,3,1,6,4] =90

ICF[3,1,1,6,6] = 59

ICF[1,3,2,6,11] = 84

ICF[2,1,2,7,10] = 39

ICF[2,3,1,6,5] = 161

ICF[3,1,1,6,8] =3

ICF[1,3,2,6,14] = 83

ICF[2,1,2,7,11] = 121

ICF[2,3,1,6,11] =1

ICF[3,1,1,6,9] = 86

ICF[1,3,2,7,2] = 10

ICF[2,2,1,8,6] = 80

ICF[2,3,2,8,1] =152

ICF[3,1,1,6,11] =1

ICF[1,3,2,7,7] = 82

ICF[2,2,1,8,7] =1

ICF[2,3,2,8,2] = 160

ICF[3,1,1,7,2] = 15

ICF[1,3,2,7,8] =1

ICF[2,2,1,8,8] = 13

ICF[2,3,2,8,3] = 12

ICF[3,1,1,7,6] =1

ICF[1,3,2,7,9] =95

ICF[2,2,1,8,9] =11

ICF[2,3,2,10,5] = 59

ICF[3,1,1,7,8] = 66

ICF[1,3,2,7,10] =50

ICF[2,2,1,8,10] = 1

ICF[2,3,2,10,7] = 1

ICF[3,1,2,10,6] =1

ICF[1,3,2,7,12] = 151

ICF[2,2,1,10,13] = 65

ICF[2,3,2,10,8] =2

ICF[3,1,29,11] =1

ICF[1,3,2,7,13] =94

ICF[2,2,1,9,10] = 1

ICF[2,3,2,9,1] = 84

ICF[3,1,2,6,8] = 1

ICF[2,1,1,8,6] =34

ICF[2,2,1,6,4] = 13

ICF[2,3,2,9,3] = 162

ICF[3,2,1,8,4] =41

ICF[2,1,1,8,7] =1

ICF[2,2,1,6,5] = 1

ICF[2,3,2,9,7] = 44

ICF[3,2,1,8,5] = 60

ICF[2,1,1,8,8] =1 ICF[2,2,1,6,8] = 1 ICF[2,3,2,99] =1 ICF[3,2,1,8,7] =1
ICF[2,1,1,89] =1 ICF[2,2,1,6,11] =1 | ICF[2,3,2,9,13] =75 | ICF[3,2,1,8,10] =1
ICF[2,1,1,8,10] = 1 ICF[2,2,1,7,14] =8 | ICF[2,3,2,9,14] =51 | ICF[3,2,1,8,11] =85
ICF[2,1,1,10,13] =23 | ICF[2,2,2,8,2] =1 ICF[2,3,2,6,10] =20 | ICF[3,2,1,8,13] =69
ICF[2,1,1,9,5] =1 ICF[2,2,2,8,3] =96 | ICF[2,3,2,6,12] =70 | ICF[3,2,1,10,1] =33

ICF[2,1,1,9,10] = 1

ICF[2,2,2,8,11] =8

ICF[3,1,1,7,3] =70

ICF[3,2,1,10,3] =20

ICF[2,1,1,6,8] =1

ICF[2,2,2,8,14] =2

ICF[2,3,2,7,6] =1

ICF[3,2,1,10,6] = 1

ICF[2,1,1,6,11] =1

ICF[2,2,2,9,2] =113

ICF[2,3,2,7,11] =41

ICF[3,2,1,10,9] = 60

ICF[2,1,1,7,14] = 145

ICF[2,2,2,10,5] = 66

ICF[3,1,1,8,4] =76

ICF[3,2,1,10,10] =1

ICF[2,1,2,8,1] =1

ICF[2,2,2,10,7] =95

ICF[3,1,1,8,5] = 85

ICF[3,2,1,10,14] =91

ICF[2,1,2,8,2] =1

ICF[2,2,2,10,8] = 82

ICF[3,1,1,8,7] = 41

ICF[3,2,1,10,2] =91

ICF[2,1,2,8,3] = 54

ICF[2,2,2,109] = 1

ICF[3,1,1,8,10] = 1

ICF[3,2,1,7,3] =22

ICF[2,1,2,9,2] =49

ICF[2,2,2,10,11] =71

ICF[3,1,1,8,13] = 84

ICF[3,2,1,9,6] =1
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ICF[3,2,1,9,71 =59 | ICF[3,3,1,7,2]=99 | BGLI[1,1,1,5,7] =1 BGL[2,3,2,2,8] =1
ICF[3,2,1,9,10] =41 | ICF[3,3,1,7,5]=63 | BGL[1,1,2,1,12] =1 | BGL[2,3,2,29]=1
ICF[3,2,19,11] =1 BGL[1,1,2,2,1] =1 BGL[2,3,2,3,1] =1

ICF[3,2,1,9,12] =41

ICF[3,3,1,7,8] =44

BGL[1,1,2,24] =1

BGL[2,3,2,3,3] =1

ICF[3,2,1,6,1] =27

[

[
ICF[3,3,1,7,6] =47

[

[

ICF[3,3,2,8,11] =1

BGL[1,1,2,3,8] =1

BGL[2,3,2,3,14] =1

ICF[3,2,1,6,6] =94

ICF[3,3,2,10,6] =1

BGL[1,1,2,39] =1

BGL[2,3,2,5,5] =1

ICF[3,2,1,6,7] = 152

ICF[3,3,2,10,12] = 58

BGL[1,1,2,4,2] =1

BGL[2,3,2,5,11] =1

ICF[3,2,1,6,8] =82

ICF[3,3,29,11] =1

BGL[1,1,2,4,11] =1

BGL[3,1,1,1,6] =1

ICF[3,2,1,6,9] =1 ICF[3,3,2,6,8] =1 BGL[1,2,24,3] =1 BGL[3,1,1,1,7] =1
ICF[3,2,1,6,11] =1 |ICF[3,3,2,6,13] =153 | BGL[1,2,2,4,12] =1 | BGL[3,1,1,2,2] =1
ICF[3,2,1,7,6] =1 BGL[1,2,2,59] =1 BGL[3,1,1,2,3] =1
ICF[3,2,1,7,8] =41 BGL[1,3,1,3,13]=1 | BGL[3,1,1,3,6] =1

ICF[3,2,2,10,6] = 1

BGL[1,3,2,1,4] =1

BGL[3,1,1,5,3] =1

ICF[3,2,29,11] =3

BGL[1,3,24,4] =1

BGL[3,2,1,1,13] =1

BGL[1,3,2,4,13] =1

BGL[3,2,14,1]=1

[

[
ICF[3,3,1,8,4] = 33
ICF[3,3,1,8,5] = 17

BGL[1,3,2,4,14] =1

BGL[3,2,1,4,6] =1

ICF[3,3,1,8,7] = 82

BGL[1,3,2,5,2] =1

BGL[3,3,1,1,5] =1

ICF[3,3,1,8,10] =76

BGL[1,3,2,5,8] =1

BGL[3,3,1,1,11] =1

ICF[3,3,1,8,11] =51

BGL[1,3,2,5,10] =1

BGL[3,3,1,1,14] =1

ICF[3,3,1,8,14] = 151

BGL[1,3,2,5,12] =1

BGL[3,3,1,2,10] =1

ICF[3,3,1,10,2] =25

BGL[1,3,2,5,13] =1

BGL[3,3,1,2,11] =1

ICF[3,3,1,10,3] = 141

BGL[2,1,1,4,5] =1

BGL[3,3,1,2,14] =1

ICF[3,3,1,10,6] =22

BGL[2,1,2,2,7] =1

BGL[3,3,1,3.4] =1

ICF[3,3,1,10,9] = 82

BGL[2,1,2,3,2] =1

BGL[3,3,1,3,7] =1

ICF[3,3,1,10,11] = 82

BGL[2,1,2,5,1]=1

BGL[3,3,1,3,11] =1

ICF[3,3,1,10,13] = 56

BGL[2,2,1,1,8] =1

BGL[3,3,1,3,12] =1

ICF[3,3,1,10,14] = 10

BGL[2,2,1,2,13] =1

BGL[3,3,1,4,7] =1

ICF[3,3,1,9,4] = 162

BGL[2,2,1,3,5] =1

BGL[3,3,1,4,8] =1

ICF[3,3,1,9,6] = 151

BGL[2,2,1,3,10] =1

BGL[3,3,1,49] =1

ICF[3,3,1,9,7] =9

BGL[2,2,2,4,10] =1

BGL[3,3,1,5,6] =1

ICF[3,3,1,9,10] = 34

BGL[2,2,2,54] =1

BGL[3,3,2,2,6] =1

BGL[2,3,1,1,9] =1

BCF[1,1,1,7,7] = 1

|
ICF[3,3,1,9,11] =12
ICF[3,3,1,9,12] =50

BGL[2,3,1,1,10] =1

BCF[1,1,2,8,12] =1

ICF[3,3,1,6,1] = 87

BGL[2,3,1,5,14] =1

BCF[1,1,2,10,1] =1

ICF[3,3,1,6,4] =42 BGL[2,3,2,1,1]=1 | BCF[1,1,2,10,4] =1
ICF[3,3,1,6,8] =45 BGL[2,3,2,1,2] =1 BCF[1,1,2,9,8] =1
ICF[3,3,1,6,9] =75 BGL[2,3,2,1,3] =1 BCF[1,1,2,99] =1
ICF[3,3,1,6,11] =1 BGL[2,3,2,2,5] =1 BCF[1,1,2,6,2] = 1
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BCF[1,1,2,6,11] =1

BCF[3,1,1,8,6] = 1

CGL[1,1,2,3,5] =1

CGL[2,3,2,3,13

BCF[1,2,2,6,3] = 1

BCF[3,1,1,8,7] = 1

CGL[1,1,2,5,7] =1

CGL[2,3,2,4,14

BCF[1,2,2,6,12] =1

BCF[3,1,1,10,2] =1

CGL[1,1,2,5,13] =1

CGL[2,3,2,5,11

BCF[1,2,2,79] =1

BCF[3,1,1,10,3] =1

CGL[1,2,1,5,6] =1

1=1
1=1
1=1
1=1

CGL[3,1,1,1,10

BCF[1,3,1,9,13] =1

BCF[3,1,1,9,6] = 1

CGL[1,2,24,3] =1

CGL[3,1,1,29] =1

BCF[1,3,2,84] =1

BCF[3,1,1,7,3] =1

CGL[1,2,2,5,1] =1

CGL[3,1,1,2,10] =1

BCF[1,3,2,6,4] =1

BCF[3,2,1,8,13] =1

CGL[1,3,2,1,12] =1

CGL[3,1,1,2,14] =1

BCF[1,3,2,6,13] =1

BCF[3,2,1,6,1] =1

CGL[1,3,2,24] =1

CGL[3,1,1,34] =1

BCF[1,3,2,6,14] =1

BCF[3,2,1,6,6] = 1

CGL[1,3,2,3,8] =1

CGL[3,1,1,3,12] =1

BCF[1,3,2,7,2] =1

BCF[3,3,1,8,5] =1

CGL[1,3,2,3,14] =1

CGL[3,1,14,1]=1

BCF[1,3,2,7,8] = 1

BCF[3,3,1,8,11] =1

CGL[1,3,24,2] =1

CGL[3,1,1,49] =1

BCF[1,3,2,7,10] =1

BCF[3,3,1,8,14] =1

CGL[1,3,24,11]=1

CGL[3,2,1,1,5] =1

BCF[1,3,2,7,12] =1

BCF[3,3,1,10,10

CGL[1,3,2,4,13] =1

CGL[3,2,1,1,6] =1

BCF[1,3,2,7,13] =1

1=1
BCF[3,3,1,10,11] =1

CGL[1,3,2,5,8] =1

CGL[3,2,1,1,13] =1

BCF[2,1,1,6,5] = 1

BCF[3,3,1,10,14] =1

CGL[1,3,2,59] =1

CGL[3,2,1,2,1] =1

BCF[2,1,2,10,7] =1

BCF[3,3,1,94] =1

CGL[1,3,2,5,12] =1

CGL[3,2,14,6] =1

BCF[2,1,29,2] =1

BCF[3,3,1,9,7] =1

CGL[2,1,1,5,14] =1

CGL[3,3,1,1,4] =1

BCF[2,1,2,7,1] =1

BCF[3,3,1,9,11] =1

CGL[2,1,2,1,1] =1

CGL[3,3,1,1,14] =1

BCF[2,2,1,8,8] = 1

BCF[3,3,1,9,12] =1

CGL[2,1,2,5,3] =1

CGL[3,3,1,2,2] =1

BCF[2,2,1,10,13] =1

BCF[3,3,1,6,7] = 1

CGL[2,1,2,54] =1

GGL[3,3,1,2,3] =1

BCF[2,2,1,9,5] =1

BCF[3,3,1,6,8] =1

CGL[2,1,2,5,10] =11

CGL[3,3,1,2,13] =1

BCF[2,2,1,9,10] =1

BCF[3,3,1,6,9] =1

CGL[2,2,1,1,7] =1

CGL[3,3,1,3,6] =1

BCF[2,2,2,6,10] =1

BCF[3,3,1,7,6] = 1

CGL[2,2,2,1,2] =1

CGL[3,3,1,3,10] =1

BCF[2,2,2,74] =1

BCF[3,3,2,10,6] =1

CGL[2,2,2,1,3] =1

CGL[3,3,1,3,11] =1

BCF[2,3,1,89] =1

CGL[2,2,23,2] =1

CGL[3,3,14,7] =1

BCF[2,3,1,8,10] =1

CGL[2,2,23,7] =1

CGL[3,3,1,4,8] =1

BCF[2,3,1,7,14] =1

CGL[2,2,2,4,10] =1

CGL[3,3,1,5.2] =1

BCF[2,3,2,8,1] =1

CGL[2,3,1,1,8] =1

CGL[3,3,1,5,5] =1

BCF[2,3,2,8,2] = 1 CGL[2,3,1,1,9] =1 CGL[3,3,2,1,11] =1
BCF[2,3,2,8,3] =1 CGL[2,3,1,39] =1 CGL[3,3,2,2,6] =1
BCF[2,3,2,10,5] =1 CGL[2,3,14,4] =1 CGL[3,3,2,2,12] =1
BCF[2,3,2,10,8] =1 CGL[2,3,14,5] =1 CCF[1,1,29,5] =1
BCF[2,3,2,10,9] =1 CGL[2,3,2,2,5] =1 CCF[1,1,2,7,7] = 1
BCF[2,3,29,1] =1 CGL[2,3,2,2,7] =1 CCF[1,1,2,7,13] =1

BCF[2,3,2,9,3] =1

CGL[2,3,2,2,8] =1

CCF[1,2,1,7,6] = 1

BCF[2,3,2,9,14] =1

CGL[2,3,2,2,11] =1

CCF[1,2,2,6,3] =1

BCF[2,3,2,7,5] = 1

CGL[2,3,2,3,1] =1

CCF[1,2,2,7,1] =1

BCF[2,3,2,7,11] =1

CGL[2,3,2,3,3] =1

CCF[1,3,2,8,12] =1
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CCF[1,3,2,10,4] =1

CCF[3,1,1,94] =1

CCF[1,3,2,9.8] =1

CCF[3,1,1,9,12] =1

CCF[1,3,2,9,14] =1

CCF[3,1,1,6,1] =1

CCF[1,3,2,6,2] = 1

CCF[3,1,1,6,9] =1

CCF[1,3,2,6,11] =1

CCF[3,2,1,8,5] =1

CCF[1,3,2,6,13] =1

CCF[3,2,1,8,6] =1

CCF[1,3,2,7,8] =1

CCF[3,2,1,8,13] =1

CCF[1,3,2,79] =1

CCF[3,2,1,10,1] =1

CCF[1,3,2,7,12] =1

CCF[3,2,1,6,6] = 1

CCF[2,1,1,7,14] =1

CCF[3,3,1,84] =1

CCF[2,1,2,8,1] =1

CCF[3,3,1,8,14] =1

CCF[2,1,2,7,3] =1

CCF[3,3,1,10,2] =1

CCF[2,1,2,74] =1

GCF[3,3,1,10,3] =1

CCF[2,1,2,7,10] =1

CCF[3,3,1,10,13] =1

CCF[2,2,1,8,7] =1

CCE[3,3,1,9.6] =1

CCF[2,2,2,8,2] =1

CCF[3,3,1,9,10] =1

CCF[2,2,2,8,3] =1

CCF[3,3,1,9,11] =1

CCF[2,2,29,2] =1

CCF[3,3,1,6,7] =1

CCF[2,2,29,7] =1

CCF[3,3,1,6,8] = 1

CCF[2,2,2,6,10] =1

CCF[3,3,1,7,2] =1

CCF[2,3,1,8,8] =1

CCF[3,3,1,7,5] =1

CCF[2,3,1,89] =1

CCF[3,3,2,8,11] =1

CCF[2,3,1,99] =1

CCF[3,3,2,10,6] =1

CCF[2,3,1,6,4] =1

CCF[3,3,2,10,12] =1

CCF[2,3,1,6,5] =1

CCF[2,3,2,10,5] =1

CCF[2,3,2,10,7] =1

CCF[2,3,2,10,8] =1

CCF[2,3,2,10,11] =1

CCF[2,3,29,1] =1

CCF[2,3,29,3] =1

CCF[2,3,2,9,13

CCF[2,3,2,6,14

CCF[2,3,2,7,11

=1
=1
=1
1=1

CCF[3,1,1,8,10

CCF[3,1,1,10,9] =1

CCF[3,1,1,10,10] =1

CCF[3,1,1,10,14] =1
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XGL[1,1,5,7]1 =1

XGL[3,1,2,14] =1

XCF[2,2,7,11] =1

XGL[1,2,1,4]=1

XGL[3,1,34]=1

XCF[3,1,8,5] =1

XGL[1,2,24]=1

XGL[3,1,3,7] =1

XCF[3,1,8,6] =1

XGL[1,2,39] =1

XGL[3,1,3,11] =1

XCF[3,1,8,7] =1

XGL[1,24,2]=1 XGL[3,1,3,12] =1 XCF[3,1,8,11] =1
XGL[1,24,3]=1 XGL[3,1.4,7]1=1 XCF[3,1,8,14] =1
XGL[1,2,4,4] =1 XGL[3,1,4,8] =1 XCF[3,1,10,2] = 1

XGL[1,2,4,12] =1

XGL[3,1,49] =1

XCF[3,1,10,3] =1

XGL[1,2,4,13] =1

XGLJ[3,1,5,2] =1

XCF[3,1,10,10] =1

XGL[1,2,4,14] =1

XGL[3,1,5,3] =1

XCF[3,1,10,11] =1

XGL[1,2,5,8] =1

XCF[1,1,7,7] = 1

XCF[3,1,10,14] =1

XGL[1,2,59] =1

XCF[1,2,8,4] =1

XCF[3,1,94] =1

XGL[1,2,5,10] =1

XCF[1,2,10,4] =1

XCF[3,1,9,7] =1

XGL[1,2,5,13] =1

XCF[1,2,9.9] =1

XCF[3,1,9,11] =1

XGL[2,1,1,8] =1

XCF[1,2,6,2] =1

XCF[3,1,9,12] =1

XGL[2,1,1,9] =1

XCF[1,2,6,3] =1

XCF[3,1,6,7] =1

XGL[2,1,1,10] =1

XCF[1,2,6,4] =1

XCF[3,1,6,8] =1

XGL[2,1,3,10] =1

XCF[1,2,6,12] =1

XCF[3,1,6,9] =1

XGL[2,1,4,5]=1

XCF[1,2,6,13] =1

XCF[3,1,7,2] =1

XGL[2,2,1,2] =1

XCF[1,2,6,14] =1

XCF[3,1,7,3] =1

XGL[2,2,1,3] =1

XCF[1,2,7,8] =1

XGL[2,2,2,8] =1

XCF[1,2,79] =1

XGL[2,2,29] =1

XCF[1,2,7,10] =1

XGL[2,2,2,12] =1

XCF[1,2,7,13] =1

XGL[2,2,3,2] =1

XCF[2,1,8,8] =1

XGL[2,2,3,3] =1

XCF[2,1,89] =1

XGL[2,2,3,14] =1

XCF[2,1,8,10] = 1

XGL[2,2,54] =1

XCF[2,1,9,10] = 1

XGL[2,2,5,5] =1

XCF[2,1,6,5] =1

XGL[2,2,5,6] =1

XCF[2,2,7,6] =1

XGL[2,2,5,11] =1

XCF[2,2,8,2] =1

XGLJ[3,1,1,5] =1

XCF[2,2,8,3] =1

XGLJ[3,1,1,6] =1

XCF[2,2,10,8] =1

XGL[3,1,1,7] =1

XCF[2,2,109] =1

XGL[3,1,1,11] =1

XCF[2,2,10,12] =1

XGL[3,1,1,14] =1

XCF[2,2,9,2] =1

XGL[3,1,2,2] =1

XCF[2,2,9,3] =1

XGL[3,1,2,3] =1

XCF[2,2,9,14] = 1

XGL[3,1,2,10] =1

XCF[2,2,7,4] =1

XGL[3,1,2,11] =1

XCF[2,2,7,5] =1
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ek B #bE TAEEMES(FIHIE 0 Z#3)

pdmto[1,1,1,1] =10
pdmto[1,1,1,2] =5
pdmto[1,1,1,4] =
pdmto[1,1,1,5] =15
pdmto[1,1,1,7] =16
pdmto[1,1,1,8] =
pdmto[1,1,1,9] =25
pdmto[1,1,1,11] =15
pdmto[1,1,1,13] =
pdmto[1,1,1,14] = 10
pdmto[1,1,2,2] =10
pdmto[1,1,2,3] =10
pdmto[1,1,2,5] =5
pdmto[1,1,2,6] =5
pdmto[1,1,2,7] =10
pdmto[1,1,2,8] =
pdmto[1,1,2,9] =
pdmto[1,1,2,13] =
pdmto[1,1,2,14] =20
pdmto[1,1,3,1] =15
pdmto[1,1,3,3] = 10
pdmto[1,1,3,5] =
pdmto[1,1,3,8] =5
pdmto[1,1,3,9] = 15
pdmto[1,1,3,11] =20
pdmto[1,1,3,12] =15
pdmto[1,1,4,2] =
pdmto[1,1,4,5] =
pdmto[1,1,4,6] =
pdmto[1,1,4,8] =
pdmto[1,1,4,9] =10
pdmto[1,1,4,11] =25
pdmto[1,1,4,14] =
pdmto[1,1,5,2] =
pdmto[1,1,5,3] =5
pdmto[1,1,5,4] =4
pdmto[1,1,5,6] =5
pdmto[1,1,5,12] = 10
pdmto[1,1,5,13] =
pdmto[1,1,5,14] =
pdmto[1,1,6,3] =

pdmto[1,1,6,6] =5
pdmto[1,1,6,8] =5
pdmto[1,1,6,12] = 10
pdmto[1,1,7,1] =5

pdmto[1,1,7,2] =25
pdmto[1,1,7,3] =5
pdmto[1,1,7,5] =5
pdmto[1,1,7,6] =5
pdmto[1,1,7,8] = 10

pdmto[1,1,7,14] =5
pdmto[1,1,8,4] =5
pdmto[1,1,8,5] =25
pdmto[1,1,8,6] = 25
pdmto[1,1,8,9] =5
pdmto[1,1,8,11] =
pdmto[1,1,8,12] = 20
pdmto[1,1,8,13] =5

pdmto[1,1,8,14] = 20
pdmto[1,2,1,1] =5
pdmto[1,2,1,3] =15
pdmto[1,2,1,4] =5
pdmto[1,2,1,5] =12
pdmto[1,2,1,6] = 20
pdmto[1,2,1,8] = 20

pdmto[1,2,1,9] =9
pdmto[1,2,1,10] =5
pdmto[1,2,1,13] =25
pdmto[1,2,1,14] =5
pdmto[1,2,2,4] =4
pdmto[1,2,2,7] =5
pdmto[1,2,2,9] = 10
pdmto[1,2,2,10] = 5
pdmto[1,2,2,11] =
pdmto[1,2,2,12] = 25
pdmto[1,2,3,2] = 10
pdmto[1,2,3,7] =8
pdmto[1,2,3,8] = 15
pdmto[1,2,3,9] =5
pdmto[1,2,3,10] = 25
pdmto[1,2,3,11] =
pdmto[1,2,4,3] = 10
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pdmto[1,2,3,10] = 25
pdmto[1,2,3,11] =5
pdmto[1,2,4,3] = 10
pdmto[1,2,4,4] =6
pdmto[1,2,4,5] =3
pdmto[1,2,4,8] = 15
pdmto[1,2,4,12] = 10
pdmto[1,2,4,13] =10
pdmto[1,2,5,2] = 15
pdmto[1,2,5,3] = 15
pdmto[1,2,5,5] = 25
pdmto[1,2,5,6] =5
pdmto[1,2,5,7] =5
pdmto[1,2,5,8] = 15
pdmto[1,2,5,9] = 25
pdmto[1,2,5,10] =5
pdmto[1,2,5,12] =5
pdmto[1,2,6,1] =17
pdmto[1,2,6,3] =
pdmto[1,2,6,4] =
pdmto[1,2,6,5] =
pdmto[1,2,6,6] =
pdmto[1,2,6,7] =
pdmto[1,2,6,10] = 20
pdmto[1,2,6,12] = 15
pdmto[1,2,6,13] =4
pdmto[1,2,7,2] =5
pdmto[1,2,7,3] =20
pdmto[1,2,7,4] =20
pdmto[1,2,7,7] =5
pdmto[1,2,7,10] =4
pdmto[1,2,7,13] =5
pdmto[1,2,7,14] = 10
pdmto[1,2,8,4] =5
pdmto[1,2,8,5] =5
pdmto[1,2,8,7] = 25
pdmto[1,2,8,11] =5
pdmto[1,2,8,12] = 10
pdmto[1,2,8,13] =5
pdmto[1,2,8,14] = 15
pdmto[1,3,1,2] = 10

1
5
25
5
5
7

pdmto[1,3,1,7] = 15
pdmto[1,3,1,9] = 14
pdmto[1,3,1,10] =
pdmto[1,3,1,11] =4
pdmto[1,3,1,13] =
pdmto[1,3,1,14] =
pdmto[1,3,2,1] =15
pdmto[1,3,2,2] =
pdmto[1,3,2,5] =
pdmto[1,3,2,6] =
pdmto[1,3,2,7] =5
pdmto[1,3,2,8] =6
pdmto[1,3,2,10] =5
pdmto[1,3,2,12] =5
pdmto[1,3,2,13] =15
pdmto[1,3,3,1] =10
pdmto[1,3,3,2] =
pdmto[1,3,3,3] = 10
pdmto[1,3,3,4] =
pdmto[1,3,3,5] = 10
pdmto[1,3,3,7] =
pdmto[1,3,3,8] =
pdmto[1,3,3,9] = 20
pdmto[1,3,3,11] =25
pdmto[1,3,3,13] = 10
pdmto[1,3,3,14] = 20
pdmto[1,3,4,1] =15
pdmto[1,3,4,2] = 15
pdmto[1,3,4,3] =
pdmto[1,3,4,5] =10
pdmto[1,3,4,6] =
pdmto[1,3,4,7] =
pdmto[1,3,4,9] =16
pdmto[1,3,4,12] = 10
pdmto[1,3,4,13] =5
pdmto[1,3,4,14] =20
pdmto[1,3,5,1] =15
pdmto[1,3,5,3] = 10
pdmto[1,3,5,4] =13
pdmto[1,3,5,7] = 10
pdmto[1,3,5,8] =



pdmto[1,3,5,9] =15 pdmto[2,1,2,3] =10 pdmto[2,1,8,3] =20 pdmto[2,2,4,7] =
pdmto[1,3,5,11] =15 pdmto[2,1,2,4] = 19 pdmto[2,1,8,4] =20 pdmto[2,2,4,9] =4
pdmto[1,3,5,13] =15 pdmto[2,1,2,5] = pdmto[2,1,8,5] =5  pdmto[2,2,4,10] =
pdmto[1,3,5,14] =20 pdmto[2,1,2,7] = 15 pdmto[2,1,8,6] =7 pdmto[2,2,4,11] =10
pdmto[1,3,6,1] =10 pdmto[2,1,2,8] = pdmto[2,1,8,7]=5  pdmto[2,2,4,12] =15
pdmto[1,3,6,2] = pdmto[2,1,2,10] = 24 pdmto[2,1,8,8] =25 pdmto[2,2,4,14] =5
pdmto[1,3,6,4] = pdmto([2,1,3,1] = pdmto[2,1,8,9] =4  pdmto[2,2,5,1] =25
pdmto[1,3,6,5] =15 pdmto[2,1,3,2] = 15 pdmto[2,1,8,10] =25 pdmto[2,2,5,3] =5
pdmto[1,3,6,7] = pdmto[2,1,3,3] =15 pdmto[2,1,8,11] =25 pdmto[2,2,5,4] =12
pdmto[1,3,6,8] =10 pdmto[2,1,3,4] =20 pdmto[2,2,1,2] = 20 pdmto[2,2,5,5] =
pdmto[1,3,6,9] = pdmto([2,1,3,5] =5 pdmto[2,2,1,3] = pdmto[2,2,5,7] = 11
pdmto[1,3,6,13] =15 pdmto[2,1,3,8] =15 pdmto[2,2,1,4] = 10 pdmto[2,2,5,8] =17
pdmto[1,3,7,1] = pdmto[2,1,3,10] =15 pdmto[2,2,1,5] =10 pdmto[2,2,5,9] =15
pdmto[1,3,7,2] = pdmto[2,1,3,12] = O pdmto[2,2,1,7]=5  pdmto[2,2,5,10] =5
pdmto[1,3,7,4] = pdmto[2,1,3, 13] = pdmto[2,2,1,8] =5  pdmto[2,2,5,11] =15
pdmto[1,3,7,5] = pdmto[2,1,4,1] = pdmto[2,2,1,9] =5  pdmto[2,2,5,12] =
pdmto[1,3,7,7] =3 pdmto[2,1,4,2] = 10 pdmto[2,2,1,10] =20 pdmto[2,2,5,14] =10
pdmto[1,3,7,9] =10 = pdmto[2,1,4,3] =15 pdmto[2,2,1,11] =19 pdmto[2,2,6,1] =10
pdmto[1,3,7,10] =25 pdmto[2,1,4,4] =21 pdmto[2,2,1,12] =10 pdmto[2,2,6,3] =5
pdmto[1,3,7,11] =25 pdmto[2,1,4,5] =10 pdmto[2,2,1,14] =24 pdmto[2,2,6,4] =5
pdmto[1,3,7,12] =15 pdmto[2,1,4,7] =19 pdmto[2,2,2,1] = 10 pdmto[2,2,6,5] =
pdmto[1,3,7,13] =19 pdmto[2,1,4,12] = 10 pdmto[2,2,2,2] = pdmto[2,2,6,7] =
pdmto[1,3,7,14] =25 pdmto[2,1,4,13] =5  pdmto[2,2,2,3] = pdmto[2,2,6,9] =
pdmto[1,3,8,1] =10 pdmto[2,1,5,3] =10 pdmto[2,2,2,4] = 10 pdmto[2,2,6,10] = 14
pdmto[1,3,8,3] = pdmto[2,1,5,7] =15 pdmto[2,2,2,5] =15 pdmto[2,2,6,11] =25
pdmto[1,3,8,4] = pdmto[2,1,5,8] =5 pdmto[2,2,2,7] =24 pdmto[2,2,6,12] =15
pdmto[1,3,8,5] =15 pdmto[2,1,5,10] =19 pdmto[2,2,2,8] =10 pdmto[2,2,6,14] =15
pdmto[1,3,8,6] = pdmto[2,1,5,11] =20 pdmto[2,2,2,10] =20 pdmto[2,2,7,1] =10
pdmto[1,3,8,7] = pdmto[2,1,5,12] = 15 pdmto[2,2,2,12] = 10 pdmto[2,2,7,2] =15
pdmto[1,3,8,8] =5 pdmto[2,1,6,8] =10 pdmto[2,2,2,14] = 10 pdmto[2,2,7,3] = 15
pdmto[1,3,8,9] =15 pdmto[2,1,6,9] =25 pdmto[2,2,3,1] = pdmto[2,2,7,4] = 25
pdmto[1,3,8,11] =15 pdmto[2,1,6,10] =5 pdmto[2,2,3,3] = 10 pdmto[2,2,7,7] =20
pdmto[1,3,8,13] =10 pdmto[2,1,7,1] =15 pdmto[2,2,3,4]=5 pdmto[2,2,7,8] =
pdmto[2,1,1,1] = pdmto[2,1,7,2] =10 pdmto[2,2,3,5] =21 pdmto[2,2,7,10] =10
pdmto[2,1,1,4] =15 pdmto[2,1,7,3] =10 pdmto[2,2,3,7] =10 pdmto[2,2,7,12] =
pdmto[2,1,1,5] = pdmto([2,1,7,6] =5 pdmto[2,2,3,10] =5 pdmto[2,2,8,1] =
pdmto[2,1,1,6] = pdmto([2,1,7,7] =5 pdmto[2,2,3,12] =20 pdmto[2,2,8,2] =
pdmto[2,1,1,7] = pdmto([2,1,7,8] =5 pdmto[2,2,3,14] =5 pdmto[2,2,8,3] =10
pdmto[2,1,1,8] =13  pdmto[2,1,7,11] = pdmto[2,2,4,1] =15 pdmto[2,2,8,5] =
pdmto[2,1,1,10] = pdmto[2,1,7,12] =10 pdmto[2,2,4,2] =15 pdmto[2,2,8,8] =
pdmto[2,1,1,12] =25 pdmto[2,1,8,1] =10 pdmto[2,2,4,3] =20 pdmto[2,2,8,9] =20
pdmto[2,1,2,1] =10 pdmto[2,1,8,2] =15 pdmto[2,2,4,5]=4 pdmto[2,2,8,11] =10
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2,2,8,14] =3
2,3,1,2] =15
2,3,1,3] =10
2,3,1,12] =24
2,3,1,13]1=9
2,3,25]1=5
2,3,2,8]=2
2,3,29]=1
2,3,2,11]1=15
2,322,121 =1
2,3,2,13] =5
2,3,2,14] =5
2,33,11=5
2,3,3,5] =10
2,3,3,71=15
2,3,3,13] =6
2,3,3,14] =25
2,3,4,11=25
2,34,11]1=5
2,3,4,12]1 =15
2,3,4,13]1 =20
2,3,4,14] =5
2,3,5,2]1 =25
2,3,53] =15
2,3,5,5] =20
2,3,5,6]=1
2,3,5,11]1=10
2,3,5,12] =15
2,3,5,13]1 =10
2,3,6,3] =25
2,3,6,5]=9
2,3,6,7]1 =10
2,3,6,11]1=5
2,3,6,12]1 =5
2,3,6,13] =15
2,3,6,14] =5
2,3,7,11=25
2,3,7,31=10
2,3,71,5]1 =15
2,3,7,71=20
2,3,7,10] =5
2,3,7,111=5

pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto

— o, — /. | e e

pdmto

pdmto[2,3,7,13] =5
pdmto[2,3,7,14] =5
pdmto([2,3,8,1] =20
pdmto[2,3,8,10] = 15
pdmto[2,3,8,13] =5
pdmto[3,1,6,8] =1
pdmto[3,1,7,11] =1
pdmto[3,1,8,6] =1
pdmto[3,2,5,6] =1
pdmto[3,2,6,11] =3
pdmto(3,3,2,11] =2
pdmto(3,3,3,12] =3
pdmto[3,3,5,13] = 25
pdmto[3,3,6,8] =1
pdmto(3,3,6,12] = 15
pdmto(3,3,7,12] = 15
pdmto[3,3,7,13] = 15
pdmto[3,3,8,12] =25
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1,1,3,6]=1
1,1,58]=1
1,2,1,71=2
1,3,1,4]=5
1,3,2,31 =10
1,3,24]1=5
1,3,2,12] =15
1,3,3,8] =1
1,3,4,4]1=10
1,3,5,12] = 10
1,3,7,71=2
1,3,7,81 =5
1,3,8,12] =5
pdmts[2,1,1,11] =20
pdmts[2,1,2,11] =20
pdmts[2,1,3,11] = 10
pdmts[2,1,4,11] = 20
pdmts[2,1,6,11] = 25
pdmts[2,1,7,11] =20
pdmts[2,2,6,2] = 25
pdmts[2,2,7,5] =1
pdmts[2,3,1,1] =25
pdmts[2,3,1,2] =7
pdmts[2,3,1,3] = 10
pdmts[2,3,1,12] =1
pdmts[2,3,1,14] =5
pdmts[2,3,2,1] = 25
pdmts[2,3,2,2] = 25
pdmts[2,3,2,3] =25
pdmts[2,3,2,12] =4
pdmts[2,3,3,1] =20
pdmts[2,3,3,2] = 15
pdmts[2,3,3,3] = 15
pdmts[2,3,4,2] = 15
pdmts[2,3,4,3] = 10
pdmts[2,3,5,1] =20

[

[

[

[

[

[

pdmts
pdmts
pdmts
pdmts
pdmts
pdmts
pdmts
pdmts
pdmts
pdmts
pdmts
pdmts
pdmts

— — — — — — — — — —/ — — — —

pdmts[2,3,6,1] = 20
pdmts[2,3,6,2] = 15
pdmts[2,3,8,2] =20
pdmts[2,3,8,3] =25
pdmts[2,3,8,14] =1
pdmts[3,3,1,13] =15

pdmts[3,3,2,13]
pdmts[3,3,3,13]
pdmts[3,3,4,13]
pdmts[3,3,6,13]
pdmts[3,3,8,13]

=18
25
5

25
25



Lack[1,1,3] =2

Lack[1,1,11] =1
Lack[1,1,12] =2
Lack[1,2,11] =1
Lack[1,2,12] =2

Lack[1,3,3] =4
Lack[1,3,12] =124
Lack[2,1,1] =1
Lack[2,1,11] =47
Lack([2,1,12] =1
Lack[2,2,2]1 =9

Lack[2,2,3] =
Lack[2,3,1] =77
Lack[2,3,2] =23

Lack[2,3,3] =9
Lack[2,3,11] =1
Lack[2,3,12] =5

B[1112]—1
B[1,1,4,2] =
B[1,1,4,3] =

B[1152]—1

B[1,1,5,3] =1
B[L,1,7,11] =1
B[1,2,1,5] =1
B[1,2,2,3] =1
B[1,2,2,7] =1
B[1,2,3,11] =1
B[1,2,4,11]=1
B[1,2,5,11] =1
B[1,3,1,3] =1
B[1,3,3,3] =1
B[2,1,2,2] =1
B[2,1,6,13] =1
B[2,2,2,11] =
B[2,2,6,11] =
B[2,2,6,12] =
B[2,3,5,12] =1
B[2,3,6,3] =1
B[2,3,7,2] = 1
B[2,3,7,13] =1
B[2,3,8,2] = 1
B[2,3,8,11] =1
B[3,1,1,11]=1
B[3,1,1,13] = 1
B[3,1,3,2] =1
B[3,1,6,2] =1
B[3,1,7,3] =1
B[3,1,7,7] =1
B[3,2,1,12] =
B[3,2,2,12] =
B[3,2,3,12] =
B[3,2,4,12] =
B[3,2,7,12] =1
B[3,2,8,3] =1
B[3,3,5,13] =1
B[3,3,8,12] =1
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C[1,1,1,1] =1
C[1,14,1]=1
C[1,14.2] =1
C[1,1,5,1] =1
C[1,1,5.2] =1
C[1,1,7,10] =1
C[1,2,14] =1
C[1,2,2,2] =1
C[1,2,2,6]=1
C[1,2,3,10] =1
C[1,24,10] =1
C[1,2,5,10] =1
C[1,3,1,2] =1
C[1,3,32] =1
C[2,1,5,12] =1
C[2,1,6,12] =1
C[2,2,2,10] =1
C[2,2,6,10] =1
C[2,2,6,11] =1
C[2,3,2,1] =1
C[2,3,5,11] =1
C[2,3,6,2] =1
C[2,3,7,1] =1
C[2,3,7,12] =1
C[2,3,8,1] =1
C[2,3,8,10] =1
C[3,1,1,10] = 1
C[3,1,1,12] =1
C[3,1,3,1] =1
C[3,1,6,1] =1
C[3,1,6,8] =1
C[3,1,7,2] =1
C[3,1,7,6] =1
C[3,2,1,11] =1
C[3,2,2,11] =
C[3,2,3,11] =
C[3,24,11]1=1
C[3,2,7,11] =1
C[3,2,8,2] =1
C[3,3,8,11]=1

X[1,1,1,2] =1
X[1,1,4,2] =1
X[1,1,43]=1

1,1,52] =1

1,1,53] =1
1,1,7,11] =1
1,2,1,5] =1
1,223]=1
1,22,7]=1
1,23,11] =1
1,2,4,11] =
1,2,5,11] =
1,3,1,3] =1
1,3,3,3] =1
2,1,6,13] =1

X
X
X
X
X
X
X
X
X
X
X
X
X[2,2,2,11] =

|
X[2,2,6,11] =1
X[2,2,6,12] =1

e

[

[

[

[

[

[

[

[

[

[

[

[

[

[

[

[

[

[
[2,3,1,1]=1
[2,3,2,1]=1
[2,3,3,1]=1
[2,34,1]=1
[2,3,5,1] =1
[2,3,5,12] =1
[2,3,6,1]=1
[2,3,6,3] =1
[2,3,7,1]=1
[2,3,7,2] =1
[2,3,7,13] =1
[2,3,8,1]=1
[2,3,8,2] =1
X[2,3,8,11] =1
X[3,1,1,11] =1
X[3,1,1,13] =1
[3,1,3,2] =1
[3,1,6,2] = 1
[3,1,7,3] =1
[3,1,7,7]=1
[3,2,1,12] =1
X[3,2,2,12] =1
X[3,2,3,12] =1

XXX X

X
X
X
X

X
X
X
X

e

XXX X



X[3,2,4,12] =1
X[3,2,7,12] =1
X[3,2,8,3] =1

X[3,3,8,12] =1
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ek C MRIATAEE EMRAFIHIE 0 X 2 3)

IGL[1,1,1,2,10] =30

IGL[1,2,2,4,8] =2

IGL[2,1,1,1,9] =1

IGL[2,2,1,4,8] =1

IGL[1,1,1,3,7] =1

IGL[1,2,2,4,11] =20

IGL[2,1,1,1,10] =1

IGL[2,2,14,11] =1

IGL[1,1,1,3,11] =2

IGL[1,2,2,5,1] =54

IGL[2,1,1,1,12] =1

IGL[2,2,1,5,14] =8

IGL[1,1,1,3,13] =61

IGL[1,2,2,5,2] =30

IGL[2,1,1,2,13] =23

IGL[2,2,2,1,3] =95

IGL[1,1,1,4,7]=1 IGL[1,2,2,5,5] =1 IGL[2,1,1,3,5] =1 IGL[2,2,2,1,11] =8

IGL[1,1,1,5,7] =2 IGL[1,2,2,5,71=57 | IGL[2,1,1,3,10] =1 | IGL[2,2,2,1,14] =2
IGL[1,1,2,1,12] =57 | IGL[1,2,2,5,9] =49 IGL[2,1,1,4,8] =1 | IGL[2,2,2,3,2] =105
IGL[1,1,2,2,1]1 =30 | IGL[1,2,2,5,10] =64 | IGL[2,1,1,4,11] =48 | IGL[2,2,2,2,5] = 66
IGL[1,1,2,2,4] =30 | IGL[1,2,2,5,13] =49 |IGL[2,1,1,5,14] =145 | IGL[2,2,2,2,7] =95
IGL[1,1,2,2,6] =66 | IGL[1,3,1,2,10] =1 IGL[2,1,2,1,2] =1 IGL[2,2,2,2,8] = 82
IGL[1,1,2,3,7]=16 | IGL[1,3,1,3,11]=6 | IGL[2,1,2,1,3]=54 | IGL[2,2,2,2,9] =10
IGL[1,1,2,3,8] =55 | IGL[1,3,1,3,13]=1 | IGL[2,1,2,3,2] =49 | IGL[2,2,2,2,11] =71

IGL[1,1,2,3,9] =62

IGL[1,3,1,5,6] =77

IGL[2,1,2,2,5] =28

IGL[2,2,2,2,12] =95

IGL[1,1,2,3,11] =40

IGL[2,1,2,2,7] =57

IGL[2,2,2,3,1] =69

IGL[1,1,2,3,14] =65

IGL[2,1,2,2,8] =78

IGL[2,2,2,3,9] =53

IGL[1,1,2,4,2] =65

IGL[2,1,2,29] =1

IGL[2,2,2,4,10] =79

IGL[1,1,2,4,3] =53

IGL[1,3,1,5,7] =2
IGL[1,3,1,5,12] =31
IGL[1,3,2,1,4] =2
IGL[1,3,2,1,12] =33

IGL[2,1,2,5,3] =26

I1GL[2,2,2,4,14] =70

IGL[1,1,2,4,11] =25

IGL[1,3,2,2,1] =80

IGL[2,1,2,3,7] =7

IGL[2,2,2,5,1] = 26

IGL[1,1,2,5,5] =80

IGL[1,3,2,2,4] = 68

IGL[2,1,2,3,9] = 28

IGL[1,1,2,5,7] =10

IGL[1,3,2,2,6] =13

IGL[2,1,2,3,13] =7

IGL[1,1,2,5,8] =1

IGL[1,3,2,3,5] =95

IGL[2,1,2,4,10] = 54

IGL[1,1,2,5,9] =18

IGL[1,3,2,3,8] = 35

IGL[2,1,2,4,12] =80

IGL[1,1,2,5,13] =19

IGL[1,3,2,3,14] =7

IGL[2,1,2,5,1] = 66

IGL[2,2,2,5,4] = 67
IGL[2,3,1,1,1] =27
IGL[2,3,1,1,2] =23
IGL[2,3,1,1,6] =39
IGL[2,3,1,1,7] =27

IGL[1,2,1,29] =1

IGL[1,3,2,4,2] = &9

IGL[2,1,2,5,4] =95

IGL[2,3,1,1,8] =139

IGL[1,2,1,2,10] = 120

IGL[1,3,2,4,3] =38

IGL[2,1,2,5,5] =1

IGL[2,3,1,1,9] = 150

IGL[1,2,1,3,11] =2

IGL[1,3,2,4,11] =84

IGL[2,1,2,5,6] = 17

IGL[2,3,1,1,10] =73

IGL[1,2,1,3,13] =1

IGL[1,3,2,4,14] = 83

IGL[2,1,2,5,10] = 39

IGL[2,3,1,3,3] =9

IGL[1,2,1,5,6] =1

IGL[1,3,2,5,2] =10

IGL[2,1,2,5,11] =74

IGL[2,3,1,39] =1

IGL[1,3,2,5,3] =4

IGL[2,2,1,1,6] =80

IGL[2,3,1,4,4] =90

IGL[1,3,2,5,7] = 82

IGL[2,2,1,1,7] =1

IGL[2,3,1,4,5] =161

IGL[1,2,2,1,4] =1
IGL[1,2,2,1,12] = 67
IGL[1,2,2,2,1] =1

IGL[1,3,2,5,8] =1

IGL[2,2,1,1,8] =13

IGL[2,3,1,4,11] =2

IGL[1,2,2,2,4] = 64

IGL[1,3,2,5,9] =95

IGL[2,2,1,1,9] =11

IGL[2,3,1,5,12] =5

IGL[1,2,2,2,6] =30

IGL[1,3,2,5,10] =50

IGL[2,2,1,1,10] =1

IGL[2,3,2,1,1] =75

IGL[1,2,2,3,5] =49

IGL[1,3,2,5,12] =124

IGL[2,2,1,2,13] =65

IGL[2,3,2,1,2] =137

IGL[1,2,2,3,8] =63

IGL[1,3,2,5,13] =94

IGL[2,2,1,3,10] = 1

IGL[2,3,2,1,3] =12

IGL[1,2,2,3,11] =10

IGL[2,1,1,1,6] =34

IGL[2,2,1,4,3] =1

IGL[2,3,2,2,5] =59

IGL[1,2,2,3,14] = 30

IGL[2,1,1,1,7] =1

IGL[2,2,1,4,4] =13

IGL[2,3,2,2,7] =1

IGL[1,2,2,4,3] = 67

IGL[2,1,1,1,8] =1

IGL[2,2,1,4,5] =1

IGL[2,3,2,2,8] =2
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IGL[2,3,2,3,1] =84

IGL[3,1,2,4,8] =1

IGL[3,3,1,2,6] =22

ICF[1,1,2,3,8] =55

IGL[2,3,2,3,3] = 153

IGL[3,2,1,1,4] =41

IGL[3,3,1,2,9] =82

ICF[1,1,2,3,9] = 62

IGL[2,3,2,3,7] =44

IGL[3,2,1,1,5] = 60

IGL[3,3,1,2,11

ICF[1,1,2,3,11] =40

1=82
IGL[3,3,1,2,13] =56

IGL[2,3,2,39] =1 IGL[3,2,1,1,7] =1 ICF[1,1,2,3,14] = 65
IGL[2,3,2,3,13] =75 | IGL[3,2,1,1,10] =1 | IGL[3,3,1,2,14] =10 | ICF[1,1,2,6,2] =65
IGL[2,3,2,3,14] =51 | IGL[3,2,1,1,11] =85 | IGL[3,3,1,3,4] =162 | ICF[1,1,2,6,3] =53
IGL[2,3,2,4,10] =20 | IGL[3,2,1,1,13] =69 | IGL[3,3,1,3,6] =151 | ICF[1,1,2,6,11] =25
IGL[2,3,2,4,12] =65 | IGL[3,2,1,2,1] =33 IGL[3,3,1,3,7]=9 ICF[1,1,2,7,5] = 80
IGL[3,1,1,5,3] =70 | IGL[3,2,1,2,3]=20 | IGL[3,3,1,3,10] =34 | ICF[1,1,2,7,7] =10

IGL[2,3,2,5,6] =1 IGL[3,2,1,2,6]=1 | IGL[3,3,1,3,11]=12 | ICF[1,1,2,7,8] =1
IGL[2,3,2,5,11] =40 | IGL[3,2,1,29] =60 | IGL[3,3,1,3,12] =50 | ICF[1,1,2,7,9] =18

IGL[3,1,1,1,4] =76

IGL[3,2,1,2,10] =1

IGL[3,3,1,4,1] =87

ICF[1,1,2,7,13] =19

IGL[3,1,1,1,5] =85

IGL[3,2,1,2,14] =91

IGL[3,3,1,4,4] =42

ICF[1,2,1,109] = 1

IGL[3,1,1,1,7] =41

IGL[3,2,1,2,2] =91

IGL[3,3,1,4,8] =45

ICF[1,2,1,10,10] = 120

IGL[3,1,1,1,10] =1

IGL[3,2,1,5,3] =22

IGL[3,3,1,49] =75

ICF[1,2,1,3,11] =2

IGL[3,1,1,1,13] =84

IGL[3,2,1,3,6] =1

IGL[3,3,1,4,11] =1

ICF[1,2,1,3,13] =1

IGL[3,1,1,2,1] =1

IGL[3,2,1,3,7] =59

IGL[3,3,1,5,2] =99

ICF[1,2,1,7,6] = 1

IGL[3,1,1,2,3] =1

IGL[3,2,1,3,10] =41

IGL[3,3,1,5,5] =63

ICF[1,2,2,8,4] =1

IGL[3,1,1,2,6] =1

IGL[3,2,1,3,11] =1

IGL[3,3,1,5,6] =47

ICF[1,2,2,8,12] = 67

IGL[3,1,1,2,10] =1

IGL[3,2,1,3,12] =41

IGL[3,3,1,5,8] =44

ICF[1,2,2,10,1] =1

IGL[3,1,1,2,13] =1

IGL[3,2,1,4,1] =27

IGL[3,3,2,1,11] =1

ICF[1,2,2,10,4] = 64

IGL[3,1,1,2,14] =61

IGL[3,2,1,4,6] =94

IGL[3,3,2,2,6] = 1

ICF[1,2,2,10,6] = 30

IGL[3,1,1,2,2] =46

IGL[3,2,1,4,7] =152

IGL[3,3,2,2,12] = 58

ICF[1,2,2,3,5] =49

IGL[3,3,1,5,3] =35

IGL[3,2,1,4,8] =82

IGL[3,3,2,3,11] =1

ICF[1,2,2,3,8] = 63

IGL[3,1,1,3,6] = 1 IGL[3,2,1,49] =1 IGL[3,3,2,4,8] =1 ICF[1,2,2,3,11] =10
IGL[3,1,1,3,10] =76 | IGL[3,2,1,4,11]=1 |IGL[3,3,2,4,13] =153 | ICF[1,2,2,3,14] =30
IGL[3,1,1,3,11] =59 | 1IGL[3,2,1,5,6] =1 |ICF[1,1,1,10,10] =30 | ICF[1,2,2,6,3] =67
IGL[3,1,1,3,12] =71 | IGL[3,2,1,5,8] =41 |ICF[1,1,1,10,10] =30 | ICF[1,2,2,6,8] =2

IGL[3,1,1,4,1] =39

IGL[3,2,2,2,6] =1

ICF[1,1,1,3,7] =1

ICF[1,2,2,6,11] =20

IGL[3,1,1,4,6] =59

IGL[3,2,2,3,11] =3

ICF[1,1,1,3,11] =2

ICF[1,2,2,7,1] = 54

IGL[3,1,1,4,8] =3

IGL[3,3,1,1,4] =33

ICF[1,1,1,3,13] =61

ICF[1,2,2,7,2] =30

IGL[3,1,1,4,9] =86

IGL[3,3,1,1,5] =17

ICF[1,1,1,6,7] =1

ICF[1,2,2,7,5] =1

IGL[3,1,1,4,11] =1

IGL[3,3,1,1,7] =82

ICF[1,1,1,7,7] =2

ICF[1,2,2,7,7] =57

IGL[3,1,1,5,2] =15

IGL[3,3,1,1,10] =76

ICF[1,1,2,8,12] =57

ICF[1,2,2,7,9] = 49

IGL[3,1,1,5,6] = 1

IGL[3,3,1,1,11] =51

ICF[1,1,2,10,1] = 30

ICF[1,2,2,7,10] = 64

IGL[3,1,1,5,8] = 66

IGL[3,3,1,1,14] = 151

ICF[1,1,2,10,4] = 30

ICF[1,2,2,7,13] =49

IGL[3,1,2,2,6] =1

IGL[3,3,1,2,2] =25

ICF[1,1,2,10,6] = 66

ICF[1,3,1,10,10] =1

IGL[3,1,2,3,11] =1

IGL[3,3,1,2,3] = 141

ICF[1,1,2,3,7] = 16

ICF[1,3,1,3,11] =6

ICF[1,3,1,3,13] =1

ICF[2,1,2,3,2] =49

ICF[2,2,2,10,11] =71

ICF[3,1,1,8,4] =76

ICF[1,3,1,7,6] =77

ICF[2,1,2,10,5] =28

ICF[2,2,2,10,12] =95

ICF[1,3,1,7,7] =2

ICF[2,1,2,10,7] =57

ICF[2,2,2,3,1] = 69

[
ICF[3,1,1,8,5] = 85
ICF[3,1,1,8,7] = 41
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ICF[1,3,1,7,12] =31

ICF[2,1,2,10,8] =78

ICF[2,2,2,3,9] = 53

ICF[3,1,1,8,10] = 1

ICF[1,3,2,8,4] =2

ICF[2,1,2,10,9] =1

ICF[2,2,2,6,10] =79

ICF[3,1,1,8,13] = 84

ICF[1,3,2,8,12] = 33

ICF[2,1,2,7,3] =26

ICF[2,2,2,6,14] =70

ICF[3,1,1,10,1] =1

ICF[1,3,2,10,1] =80

ICF[2,1,2,3,7] =7

ICF[2,2,2,7,1] =26

ICF[3,1,1,10,3] = 1

ICF[1,3,2,10,4] = 68

ICF[2,1,2,3,9] =28

ICF[3,1,1,10,6] = 1

ICF[1,3,2,10,6] = 13

ICF[2,1,2,3,13] =7

ICF[3,1,1,10,10] =1

ICF[1,3,2,3,5] =95

ICF[2,1,2,6,10] = 54

ICF[3,1,1,10,13] =1

ICF[1,3,2,3,8] = 35

ICF[2,1,2,6,12] = 80

ICF[3,1,1,10,14] = 61

ICF[1,3,2,3,14] =7

ICF[2,1,2,7,1] = 66

ICF[2,2,2,7,4] = 67
ICF[2,3,1,8,1] =27
ICF[2,3,1,8,2] =23
ICF[2,3,1,8,6] = 39
ICF[2,3,1,8,7] =27

ICF[3,1,1,10,2] = 46

ICF[1,3,2,6,2] = 89

ICF[2,1,2,7,4] =95

ICF[2,3,1,8,8] = 139

ICF[3,3,1,7,3] =35

ICF[1,3,2,6,3] =38

ICF[2,1,2,7,5] =1

ICF[2,3,1,8,9] = 150

ICF[1,3,2,6,11] = 84

ICF[2,1,2,7,6] = 17

ICF[2,3,1,8,10] =73

ICF[1,3,2,6,14] = 83

ICF[2,1,2,7,10] = 39

ICF[2,3,1,3,3] =9

ICF[1,3,2,7,2] =10

ICF[2,1,2,7,11] =74

ICF[2,3,1,39] =1

ICF[3,1,1,3,6] =1
ICF[3,1,1,3,10] =76
ICF[3,1,1,3,11] =59
ICF[3,1,1,3,12] =71

ICF[1,3,2,7,3] =4

ICF[2,2,1,8,6] = 80

ICF[2,3,1,6,4] = 90

ICF[3,1,1,6,1] = 39

ICF[1,3,2,7,7] = 82

ICF[2,2,1,8,7] =1

ICF[2,3,1,6,5] = 161

ICF[3,1,1,6,6] = 59

ICF[1,3,2,7,8] =1

ICF[2,2,1,8,8] =13

ICF[2,3,1,6,11] =2

ICF[3,1,1,6,8] =3

ICF[1,3,2,7,9] =95

ICF[2,2,1,8,9] =11

ICF[2,3,1,7,12] =5

ICF[3,1,1,6,9] = 86

ICF[1,3,2,7,10] = 50

ICF[2,2,1,8,10] = 1

ICF[2,3,2,8,1] =75

ICF[3,1,1,6,11] =1

ICF[1,3,2,7,12] = 124

ICF[2,3,2,8,2] = 137

ICF[3,1,1,7,2] = 15

ICF[1,3,2,7,13] =94

ICF[2,2,1,10,13] = 65
ICF[2,2,1,3,10] = 1

ICF[2,3,2,8,3] =12

ICF[3,1,1,7,6] =1

ICF[2,1,1,8,6] = 34

ICF[2,2,1,6,3] = 1

ICF[2,3,2,10,5] =59

ICF[3,1,1,7,8] = 66

ICF[2,1,1,8,7] =1

ICF[2,2,1,6,4] =13

ICF[2,3,2,10,7] = 1

ICF[3,1,2,10,6] =1

ICF[2,1,1,8,8] =1

ICF[2,2,1,6,5] = 1

ICF[2,3,2,10,8] = 2

ICF[3,1,2,3,11] =1

ICF[2,1,1,89] =1

ICF[2,2,1,6,8] = 1

ICF[2,3,2,3,1] = 84

ICF[3,1,2,6,8] = 1

ICF[2,1,1,8,10] =1

ICF[2,2,1,6,11] =1

ICF[2,3,2,3,3] = 153

ICF[3,2,1,8,4] =41

ICF[2,1,1,8,12] = 1

ICF[2,2,1,7,14] =8

ICF[2,3,2,3,7] = 44

ICF[3,2,1,8,5] = 60

ICF[2,1,1,10,13] =23

ICF[2,2,2,8,3] =95

ICF[2,3,2,39] =1

ICF[3,2,1,8,7] =1

ICF[2,1,1,3,5] =1

ICF[2,2,2,8,11] =8

ICF[2,3,2,3,13] =75

ICF[3,2,1,8,10] = 1

ICF[2,1,1,3,10] = 1

ICF[2,2,2,8,14] =2

ICF[2,3,2,3,14] =51

ICF[3,2,1,8,11] =85

ICF[2,1,1,6,8] = 1

ICF[2,2,2,3,2] = 105

ICF[2,3,2,6,10] =20

ICF[3,2,1,8,13] = 69

ICF[2,1,1,6,11] =48

ICF[2,2,2,10,5] = 66

ICF[2,3,2,6,12] = 65

ICF[3,2,1,10,1] = 33

ICF[2,1,1,7,14] = 145

ICF[2,2,2,10,7] = 95

ICF[3,1,1,7,3] =70

ICF[3,2,1,10,3] =20

ICF[2,1,2,8,2] =1

ICF[2,2,2,10,8] = 82

ICF[2,3,2,7,6] =1

ICF[3,2,1,10,6] =1

ICF[2,1,2,8,3] =54

[
[
[
[

ICF[2,2,2,10,9] = 10

ICF[2,3,2,7,11] =40

ICF[3,2,1,10,9] = 60
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ICF[3,2,1,10,10] =1 | ICF[3,3,1,6,1] =87
ICF[3,2,1,10,14] =91 | ICF[3,3,1,6,4] =42
ICF[3,2,1,10,2] =91 | ICF[3,3,1,6,8] =45

ICF[3,2,1,7,3] =22

ICF[3,3,1,6,9] =75

ICF[3,2,1,3,6] =1

ICF[3,3,1,6,11] =1

ICF[3,2,1,3,7] =59

ICF[3,3,1,7,2] =99

ICF[3,2,1,3,10] =41

ICF[3,3,1,7,5] = 63

ICF[3,2,1,3,11] =1

ICF[3,3,1,7,6] =47

ICF[3,2,1,3,12] =41

ICF[3,3,1,7,8] =44

ICF[3,2,1,6,1] =27

ICF[3,3,2,8,11] =1

ICF[3,2,1,6,6] =94 | ICF[3,3,2,10,6] =1
ICF[3,2,1,6,7] = 152 | ICF[3,3,2,10,12] = 58
ICF[3,2,1,6,8] =82 | ICF[3,3,2,3,11] =1

ICF[3,2,1,6,9] =1

ICF[3,3,2,6,8] = 1

ICF[3,2,1,6,11] =1

ICF[3,3,2,6,13] = 153

ICF[3,2,1,7,6] =1

ICF[1,1,1,10,10] =30

ICF[3,2,1,7,8] =41

ICF[3,2,2,10,6] =1

ICF[3,2,2,3,11] =3

ICF[3,3,1,8,4] =33

ICF[3,3,1,8,5] =17

ICF[3,3,1,8,7] =82

ICF[3,3,1,8,10] =76

ICF[3,3,1,8,11] =51

ICF[3,3,1,8,14] = 151

ICF[3,3,1,10,2] = 25

ICF[3,3,1,10,3] = 141

ICF[3,3,1,10,6] = 22

ICF[3,3,1,10,9] =82

ICF[3,3,1,10,11

1=82
ICF[3,3,1,10,13] = 56

ICF[3,3,1,10,14] = 10

ICF[3,3,1,3,4] = 162

ICF[3,3,1,3,6] = 151

ICF[3,3,1,3,7] =9

ICF[3,3,1,3,10] = 34

ICF[3,3,1,3,11] =12

ICF[3,3,1,3,12] =50
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BGL[1,1,1,5,7] =1

BGL[2,3,2,2,8] =1

BCF[1,1,2,6,11] =1

BCF[3,1,1,8,6] = 1

BGL[1,1,2,1,12] =1

BCF[1,2,2,6,3] =1

BCF[3,1,1,8,7] = 1

BGL[1,1,2,2,1] =1

[
BGL[2,3,2,29] =1
BGL[2,3,2,3,1] =1

BCF[1,2,2,6,12] = 1

BCF[3,1,1,10,2] =1

BGL[1,1,2,24] =1

BGL[2,3,2,3,3] =1

BCF[1,2,2,79] =1

BCF[3,1,1,10,3] =1

BGL[1,1,2,3,8] =1

BGL[2,3,2,3,14] =1

BCF[1,3,1,9,13] =1

BCF[3,1,1,9,6] =1

BGL[1,1,2,39] =1

BGL[2,3,2,5,5] =1

BCF[1,3,2,8,4] =1

BCF[3,1,1,7,3] =1

BGL[1,1,24,2] =1

BGL[2,3,2,5,11] =1

BCF[1,3,2,6,4] =1

BCF[3,2,1,8,13] =1

BGL[1,1,2,4,11] =1

BGL[3,1,1,1,6] =1

BCF[1,3,2,6,13] =1

BCF[3,2,1,6,1] =1

BGL[1,2,24,3]=1 | BGL[3,1,1,1,7]1=1 | BCF[1,3,2,6,14] =1 | BCF[3,2,1,6,6] =1
BGL[1,2,2,4,12] =1 | BGL[3,1,1,2,2] =1 BCF[1,3,2,7,2] =1 BCF[3,3,1,8,5] =1
BGL[1,2,2,59]=1 | BGL[3,1,1,2,3] =1 BCF[1,3,2,7,8] =1 | BCF[3,3,1,8,11] =1
BGL[1,3,1,3,13]=1 | BGL[3,1,1,3,6]=1 | BCF[1,3,2,7,10] =1 | BCF[3,3,1,8,14] =1

BGL[1,3,2,1,4] =1

BGL[3,1,1,5,3] =1

BCF[1,3,2,7,12] =1

BCF[3,3,1,10,10] =1

BGL[1,3,24,4] =1

BGL[3.2,1,1,13] =1

BCF[1,3,2,7,13] =1

BCF[3,3,1,10,11] =1

BGL[1,3,2,4,13] =1

BGL[3,2,1,4,1]=1

BCF|[2,1,1,6,5] =1

BCF[3,3,1,10,14] =1

BGL[1,3,2,4,14] =1

BGL[3,2,1,4,6] =1

BCF[2,1,2,10,7] = 1

BCF[3,3,1,9.4] =1

BGL[1,3,2,5,2] =1

BGL[3,3,1,1,5] =1

BCF[2,1,29,2] =1

BCF[3,3,1,9,7] =1

BGL[1,3,2,5,8] =1 | BGL[3,3,1,1,11]=1 | BCF[2,1,2,7,1] =1 | BCF[3,3,1,9,11]=1
BGL[1,3,2,5,10] =1 | BGL[3,3,1,1,14] = BCF[2,2,1,8,8] =1 | BCF[3,3,1,9,12] =1
BGL[1,3,2,5,12] =1 | BGL[3,3,1,2,10] =1 | BCF[2,2,1,10,13] =1 | BCF[3,3,1,6,7] =1
BGL[1,3,2,5,13] =1 BGL[3,3,1,2,11] =1 | BCF[2,2,1,9,5]=1 BCF[3,3,1,6,8] =1
BGL[2,1,1,4,5]=1 | BGL[3,3,1,2,14] =1 | BCF[2,2,1,9,10] =1 | BCF[3,3,1,6,9] =1

BGL[2,1,2,2,7] =1

BGL[3,3,1,34] =1

BCF[2,2,2,6,10] = 1

BCF[3,3,1,7,6] = 1

BGL[2,1,2,3,2] =1

BGL[3,3,1,3,7] =1

BCF[2,2,2,74] =1

BCF[3,3,2,10,6] =1

BGL[2,1,2,5,1] =1

BGL[3,3,1,3,11] =1

BCF[2,3,1,8,9] = 1

BGL[2,2,1,1,8] =1

BGL[3,3,1,3,12] =1

BCF[2,3,1,8,10] =1

BGL[2,2,1,2,13] =1

BGL[3,3,1,4,7] =1

BCF[2,3,1,7,14] =1

BGL[2,2,1,3,5] =1

BGL[3,3,1,4,8] =1

BCF[2,3,2,8,1] =1

BGL[2,2,1,3,10] =1

BGL[3,3,1,49] =1

BCF[2,3,2,8,2] = 1

BGL[2,2,2,4,10] =1

BGL[3,3,1,5,6] =1

BCF[2,3,2,8,3] = 1

BGL[2,2,2,54] =1

BGL[3,3,2,2,6] =1

BCF[2,3,2,10,5] =1

BGL[2,3,1,1,9] =1

BCF[1,1,1,7,7] = 1

BCF[2,3,2,10,8] =1

BGL[2,3,1,1,10] =1

BCF[1,1,2,8,12] =1

BCF[2,3,2,10,9] =1

BGL[2,3,1,5,14] =1

BCF[1,1,2,10,1] =1

BCF[2,3,29,1] =1

BGL[2,3,2,1,1] =1

BCF[1,1,2,10,4] =1

BCF[2,3,2,9,3] =1

BGL[2,3,2,1,2] =1 BCF[1,1,29,8] =1 | BCF[2,3,2,9,14] =1
BGL[2,3,2,1,3] =1 BCF[1,1,2,99] =1 BCF[2,3,2,7,5] =1
BGL[2,3,2,2,5] =1 BCF[1,1,2,6,2] =1 | BCF[2,3,2,7,11] =1
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CGL[1,1,2,3,5] =1

CGL[2,3,2,3,13] =1

CCF[1,3,2,10,4] =1

CCF[3,1,1,94] =1

CGL[1,1,2,5,7] =1

CGL[2,3,2,4,14] =1

CCF[1,3,2,9,8] =1

CCF[3,1,1,9,12] =1

CGL[1,1,2,5,13] =1

CGL[2,3,2,5,11] =1

CCF[1,3,2,9,14] =1

CCF[3,1,1,6,1] =1

CGL[1,2,1,5,6] =1

— | | |

CGL[3,1,1,1,10] =1

CCF[1,3,2,6,2] = 1

CCF[3,1,1,6,9] =1

CGL[1,2,2,4,3] =1

CGL[3,1,1,29] =1

CCF[1,3,2,6,11] =1

CCF[3,2,1,8,5] =1

CGL[1,2,2,5,1]=1

CGL[3,1,1,2,10] =1

CCF[1,3,2,6,13] =1

CCF[3,2,1,8,6] =1

CGL[1,3,2,1,12] =1

CGL[3,1,1,2,14] =1

CCF[1,3,2,7,8] =1

CCF[3,2,1,8,13] =1

CGL[1,3,2,24] =1

CGL[3,1,1,34] =1

CCF[1,3,2,79] =1

CCF[3,2,1,10,1] =1

CGL[1,3,2,3,8] =1

CGL[3,1,1,3,12] =1

CCF[1,3,2,7,12] =1

CCF[3,2,1,6,6] =1

CGL[1,3,2,3,14] =1

CGL[3,1,14,1]=1

CCF[2,1,1,7,14] =1

CCF[3,3,1,8,4] =1

CGL[1,3,2,4,2] =1

CGL[3,1,1,49] =1

CCF[2,1,2,8,1] =1

CCF[3,3,1,8,14] =1

CGL[1,3,24,11]=1

CGL[3,2,1,1,5] =1

CCF[2,1,2,7,3] =1

CCF[3,3,1,10,2] =11

CGL[1,3,2,4,13] =1

CGL[3,2,1,1,6] = 1

CCF[2,1,2,74] =1

GCF[3,3,1,10,3] =1

CGL[1,3,2,5,8] =1

CGL[3.2,1,1,13] =1

CCF[2,1,2,7,10] =1

CCF[3,3,1,10,13] =1

CGL[1,3,2,59] =1

CGL[3,2,1,2,1] =1

CCF[2,2,1,8,7] = 1

CCF[3,3,1,9,6] =1

CGL[1,3,2,5,12] =1

CGL[3,2,1,4,6] =1

CCF[2,2,2,8,2] = 1

CCF[3,3,1,9,10] =1

CGL[2,1,1,5,14] =1

CGL[3,3,1,1,4] =1

CCF[2,2,2,8,3] =1

CCF[3,3,1,9,11] =1

CGL[2,1,2,1,1] =1

CGL[3,3,1,1,14] =1

CCF[2,2,29,2] =1

CCF[3,3,1,6,7] =1

CGL[2,1,2,5,3] =1

CGL[3,3,1,2,2] =1

CCF[2,2,29,7] =1

CCF[3,3,1,6,8] =1

CGL[2,1,2,54] =1

GGL[3,3,1,2,3] =1

CCF[2,2,2,6,10] = 1

CCF[3,3,1,7,2] =1

CGL[2,1,2,5,10] =1

CGL[3,3,1,2,13] =1

CCF[2,3,1,8,8] = 1

CCF[3,3,1,7,5] =1

CGL[2,2,1,1,7] =1

CGL[3,3,1,3,6] =1

CCF[2,3,1,89] =1

CCF[3,3,2,8,11] =1

CGL[2,2,2,1,2] =1

CGL[3.,3,1,3,10] =1

CCF[2,3,1,99] = 1

CCF[3,3,2,10,6] =1

CGL[2,2,2,1,3] =1

CGL[3.,3,1,3,11] =1

CCF[2,3,1,6,4] = 1

CCF[3,3,2,10,12] =1

CGL[2,2,2,3,2] =1

CGL[3,3,1.4,7] =1

CCF[2,3,1,6,5] =1

CGL[2,2,2,3,7] =1

CGL[3,3,1,4.8] =1

CCF[2,3,2,10,5] =1

CGL[2,2,2,4,10] =1

CGL[3,3,1,5,2] =1

CCF[2,3,2,10,7] =1

CGL[2,3,1,1,8] =1

CGL[3,3,1,5,5] =1

CCF[2,3,2,10,8] =1

CGL[2,3,1,19] =1 | CGL[3,3,2,1,11]=1 | CCF[2,3,2,10,11] =1

CGL[2,3,1,39]=1 | CGL[3,3,2,2,6]=1 CCF[2,3,29,1] =1

CGL[2,3,1,4,4]=1 | CGL[3,3,2,2,12] =1 | CCF[2,3,29,3] =1

CGL[2,3,1,4,5] =1 CCF[1,1,29,5] =1 | CCF[2,3,2,9,13] =1

CGL[2,3,2,2,5] =1 CCF[1,1,2,7,71=1 | CCF[2,3,2,6,14] =1

CGL[2,3,2,2,7]=1 | CCF[1,1,2,7,13] =1 | CCF[2,3,2,7,11] =1
|

CGL[2,3,2,2,8] =1

CCF[1,2,1,7,6] =1

CCF[3,1,1,8,10] =1

CGL[2,3,2,2,11] =1

CCF[1,2,2,6,3] =1

CCF[3,1,1,10,9] =1

CGL[2,3,2,3,1] =1

CCF[1,2,2,7,1] =1

CCF[3,1,1,10,10] =1

CGL[2,3,2,3,3] =1

CCF[1,3,2,8,12] =1

CCF[3,1,1,10,14] =1
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XGL[1,1,5,7]1 =1

XGL[3,1,2,14] =1

XCF[2,2,7,11] =1

XGL[1,2,1,4]=1

XGL[3,1,34]=1

XCF[3,1,8,5] =1

XGL[1,2,24]=1

XGL[3,1,3,7] =1

XCF[3,1,8,6] =1

XGL[1,2,39] =1

XGL[3,1,3,11] =1

XCF[3,1,8,7] =1

XGL[1,24,2]=1 XGL[3,1,3,12] =1 XCF[3,1,8,11] =1
XGL[1,24,3]=1 XGL[3,1.4,7]1=1 XCF[3,1,8,14] =1
XGL[1,2,4,4] =1 XGL[3,1,4,8] =1 XCF[3,1,10,2] = 1

XGL[1,2,4,12] =1

XGL[3,1,49] =1

XCF[3,1,10,3] =1

XGL[1,2,4,13] =1

XGLJ[3,1,5,2] =1

XCF[3,1,10,10] =1

XGL[1,2,4,14] =1

XGL[3,1,5,3] =1

XCF[3,1,10,11] =1

XGL[1,2,5,8] =1

XCF[1,1,7,7] = 1

XCF[3,1,10,14] =1

XGL[1,2,59] =1

XCF[1,2,8,4] =1

XCF[3,1,94] =1

XGL[1,2,5,10] =1

XCF[1,2,10,4] =1

XCF[3,1,9,7] =1

XGL[1,2,5,13] =1

XCF[1,2,9.9] =1

XCF[3,1,9,11] =1

XGL[2,1,1,8] =1

XCF[1,2,6,2] =1

XCF[3,1,9,12] =1

XGL[2,1,1,9] =1

XCF[1,2,6,3] =1

XCF[3,1,6,7] =1

XGL[2,1,1,10] =1

XCF[1,2,6,4] =1

XCF[3,1,6,8] =1

XGL[2,1,3,10] =1

XCF[1,2,6,12] =1

XCF[3,1,6,9] =1

XGL[2,1,4,5]=1

XCF[1,2,6,13] =1

XCF[3,1,7,2] =1

XGL[2,2,1,2] =1

XCF[1,2,6,14] =1

XCF[3,1,7,3] =1

XGL[2,2,1,3] =1

XCF[1,2,7,8] =1

XGL[2,2,2,8] =1

XCF[1,2,79] =1

XGL[2,2,29] =1

XCF[1,2,7,10] =1

XGL[2,2,2,12] =1

XCF[1,2,7,13] =1

XGL[2,2,3,2] =1

XCF[2,1,8,8] =1

XGL[2,2,3,3] =1

XCF[2,1,89] =1

XGL[2,2,3,14] =1

XCF[2,1,8,10] = 1

XGL[2,2,54] =1

XCF[2,1,9,10] = 1

XGL[2,2,5,5] =1

XCF[2,1,6,5] =1

XGL[2,2,5,6] =1

XCF[2,2,7,6] =1

XGL[2,2,5,11] =1

XCF[2,2,8,2] =1

XGLJ[3,1,1,5] =1

XCF[2,2,8,3] =1

XGLJ[3,1,1,6] =1

XCF[2,2,10,8] =1

XGL[3,1,1,7] =1

XCF[2,2,109] =1

XGL[3,1,1,11] =1

XCF[2,2,10,12] =1

XGL[3,1,1,14] =1

XCF[2,2,9,2] =1

XGL[3,1,2,2] =1

XCF[2,2,9,3] =1

XGL[3,1,2,3] =1

XCF[2,2,9,14] = 1

XGL[3,1,2,10] =1

XCF[2,2,7,4] =1

XGL[3,1,2,11] =1

XCF[2,2,7,5] =1
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pdmto[1,1,1,1] =10
pdmto[1,1,1,2] =5
pdmto[1,1,1,4] =21
pdmto[1,1,1,5] =15
pdmto[1,1,1,7] =16
pdmto[1,1,1,8] =5
pdmto[1,1,1,9] =25
pdmto[1,1,1,11] =15
pdmto[1,1,1,13] =4
pdmto[1,1,1,14] = 10
pdmto[1,1,2,2] =10
pdmto[1,1,2,3] =10
pdmto[1,1,2,5] =5
pdmto[1,1,2,6] =5
pdmto[1,1,2,7] =10
pdmto[1,1,2,8] =5
pdmto[1,1,2,9] = 25
pdmto[1,1,2,13] =5
pdmto[1,1,2,14] = 20
pdmto[1,1,3,1] = 15
pdmto[1,1,3,3] =10
pdmto[1,1,3,5] =5
pdmto[1,1,3,8] =5
pdmto[1,1,3,9] = 15
pdmto[1,1,3,11] =20
pdmto[1,1,3,12] = 15
pdmto[1,1,4,2] =5
pdmto[1,1,4,5] =25
pdmto[1,1,4,6] =20
pdmto[1,1,4,8] =25
pdmto[1,1,4,9] =10
pdmto[1,1,4,11] =25
pdmto[1,1,4,14] =5
pdmto[1,1,5,2] =20
pdmto[1,1,5,3] =5
pdmto[1,1,5,4] =4
pdmto[1,1,5,6] =5
pdmto[1,1,5,12] = 10
pdmto[1,1,5,13] =5
pdmto[1,1,5,14] =5
pdmto[1,1,6,3] =25

pdmto[1,1,6,6] =5
pdmto[1,1,6,8] =5
pdmto[1,1,6,12] = 10
pdmto[1,1,7,1] =5
pdmto[1,1,7,2] =25
pdmto[1,1,7,3] =5
pdmto[1,1,7,5] =5
pdmto[1,1,7,6] =5
pdmto[1,1,7,8] = 10
pdmto[1,1,7,14] =5
pdmto[1,1,8,4] =5
pdmto[1,1,8,5] =25
pdmto[1,1,8,6] = 25
pdmto[1,1,8,9] =5
pdmto[1,1,8,11] =5
pdmto[1,1,8,12] = 20
pdmto[1,1,8,13] =5
pdmto[1,1,8,14] = 20
pdmto[1,2,1,1] =5
pdmto[1,2,1,3] = 15
pdmto[1,2,1,4] =5
pdmto[1,2,1,5] =12
pdmto[1,2,1,6] =20
pdmto[1,2,1,8] = 20
pdmto[1,2,1,9] =9
pdmto[1,2,1,10] =5
pdmto[1,2,1,13] =25
pdmto[1,2,1,14] =5
pdmto[1,2,2,4] =4
pdmto[1,2,2,7] =5
pdmto[1,2,2,9] = 10
pdmto[1,2,2,10] =5
pdmto[1,2,2,11] =20
pdmto[1,2,2,12] =25
pdmto[1,2,3,2] = 10
pdmto[1,2,3,7] =8
pdmto[1,2,3,8] = 15
pdmto[1,2,3,9] =5
pdmto[1,2,3,10] =25
pdmto[1,2,3,11] =5
pdmto[1,2,4,3] =10
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pdmto[1,2,3,10] =25
pdmto[1,2,3,11] =5
pdmto[1,2,4,3] =10
pdmto[1,2,4,4] =6
pdmto[1,2,4,5] =3
pdmto[1,2,4,8] = 15
pdmto
pdmto
pdmto
pdmto
pdmto

1,2,52] =15
1,2,5,3] =15
1,2,5,5] =25
pdmto[1,2,5,6] =5
pdmto[1,2,5,7] =5
pdmto[1,2,5,8] = 15
pdmto[1,2,5,9] = 25
pdmto[1,2,5,10] =5
pdmto[1,2,5,12] =5
pdmto[1,2,6,1] =17
pdmto[1,2,6,3] =5
pdmto[1,2,6,4] = 25
pdmto[1,2,6,5] =5
pdmto[1,2,6,6] =5
pdmto[1,2,6,7] =7
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pdmto[1,3,1,7] = 15
pdmto[1,3,1,9] = 14
pdmto[1,3,1,10] =20
pdmto[1,3,1,11] =4
pdmto[1,3,1,13] =5
pdmto[1,3,1,14] =5

1,2,4,12] =10 pdmto[1,3,2,1] =15
1,2,4,13] = 10 pdmto[1,3,2,2] =20

pdmto[1,3,2,5] =25
pdmto[1,3,2,6] =5
pdmto[1,3,2,7] =5
pdmto[1,3,2,8] =6
pdmto[1,3,2,10] =5
pdmto[1,3,2,12] =5
pdmto[1,3,2,13] =15
pdmto[1,3,3,1] =10
pdmto[1,3,3,2] =20
pdmto[1,3,3,3] =10
pdmto[1,3,3,4] =4
pdmto[1,3,3,5] = 10
pdmto[1,3,3,7] =2
pdmto[1,3,3,8] =4
pdmto[1,3,3,9] =20

pdmto[1,2,6,10] =20 pdmto[1,3,3,11] =25

pdmto[1,2,6,12] = 15
pdmto[1,2,6,13] =4
pdmto[1,2,7,2] =5
pdmto[1,2,7,3] =20
pdmto[1,2,7,4] =20
pdmto[1,2,7,7] =5
pdmto[1,2,7,10] =4
pdmto[1,2,7,13] =5

pdmto[1,3,3,13] = 10
pdmto[1,3,3,14] =20
pdmto[1,3,4,1] =15
pdmto[1,3,4,2] = 15
pdmto[1,3,4,3] =5
pdmto[1,3,4,5] =10
pdmto[1,3,4,6] =5
pdmto[1,3,4,7] =20

pdmto[1,2,7,14] = 10 pdmto[1,3,4,9] =16

pdmto[1,2,8,4] =5
pdmto[1,2,8,5] =5

pdmto[1,3,4,12] = 10
pdmto[1,3,4,13] =5
pdmto[1,3,4,14] = 20

pdmto[1,2,8,11] =5 pdmto[1,3,5,1] =15
pdmto[1,2,8,12] = 10 pdmto[1,3,5,3] =10
pdmto[1,2,8,13] =5 pdmto[1,3,5,4] =13
pdmto[1,2,8,14] = 15 pdmto[1,3,5,7] = 10

[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
pdmto[1,3,1,2] =10 pdmto[1,3,5,8] =5

[
[
[
[
[
pdmto[1,2,8,7] = 25
[
[
[
[
[



pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
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pdmto
pdmto
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pdmto
pdmto
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pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
pdmto
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pdmto
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pdmto
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1,3,59] =15
1,3,5,11]1 =15
1,3,5,13] =15
1,3,5,14] =20
1,3,6,11 =10
1,3,6,2] =20
1,3,6,4] =5
1,3,6,5] =15
1,3,6,71=5
1,3,6,8] =10
1,3,69] =5
1,3,6,13] =15
1,3,7,11=5
1,3,72] =5
1,3,74]1 =7
1,3,7,5] =20
1,3,7,71=3
1,3,79] =10
1,3,7,10] =25
1,3,7,11]1 =25
1,3,7,12] = 15
1,3,7,13] =19
1,3,7,14] =25
1,3,8,1]1 =10
1,3,8,3] =5
1,3,8,4] =21
1,3,8,5] =15
1,3,8,6] =3
1,3,8,7]1 =20
1,3,8,8]=5
1,3,89] =15
1,3,8,11] =15
1,3,8,13] =10
2,1,1,11=20
2,1,1,4] =15
2,1,1,5] =4
2,1,1,6] =5
2,1,1,71=5
2,1,1,8] =13
2,1,1,10] =5
2,1,1,12]1 =25
2,1,2,11=10

pdmto[2,1,2,3] = 10
pdmto[2,1,2,4] = 19
pdmto[2,1,2,5] =5
pdmto[2,1,2,7] = 15
pdmto[2,1,2,8] =5
pdmto[2,1,2,10] = 24
pdmto[2,1,3,1] =5
pdmto[2,1,3,2] = 15
pdmto[2,1,3,3] =15
pdmto[2,1,3,4] =20
pdmto[2,1,3,5] =5
pdmto[2,1,3,8] = 15
pdmto[2,1,3,10] = 15
pdmto[2,1,3,12] = 20
pdmto[2,1,3,13] =2
pdmto[2,1,4,1] =5
pdmto[2,1,4,2] =10
pdmto[2,1,4,3] = 15
pdmto[2,1,4,4] =21
pdmto[2,1,4,5] = 10
pdmto[2,1,4,7] = 19
pdmto[2,1,4,12] = 10
pdmto[2,1,4,13] =5
pdmto[2,1,5,3] = 10
pdmto[2,1,5,7] = 15
pdmto[2,1,5,8] =5
pdmto[2,1,5,10] = 19
pdmto[2,1,5,11] =20
pdmto[2,1,5,12] = 15
pdmto[2,1,6,8] = 10
pdmto[2,1,6,9] =25
pdmto[2,1,6,10] =5
pdmto[2,1,7,1] =15
pdmto[2,1,7,2] = 10
pdmto[2,1,7,3] = 10
pdmto[2,1,7,6] =5
pdmto[2,1,7,7] =5
pdmto[2,1,7,8] =5
pdmto[2,1,7,11] =5
pdmto[2,1,7,12] = 10
pdmto[2,1,8,1] = 10
pdmto[2,1,8,2] = 15
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pdmto[2,1,8,3] =20
pdmto[2,1,8,4] =20
pdmto[2,1,8,5] =5
pdmto[2,1,8,6] =7
pdmto[2,1,8,7] =5
pdmto[2,1,8,8] =25
pdmto[2,1,8,9] =4
pdmto[2,1,8,10] = 25
pdmto[2,1,8,11] =25
pdmto[2,2,1,2] =20
pdmto[2,2,1,3] =25
pdmto[2,2,1,4] = 10
pdmto[2,2,1,5] = 10
pdmto[2,2,1,7] =5
pdmto[2,2,1,8] =5
pdmto[2,2,1,9] =5

pdmto[2,2,1,10] =20 pdmto

pdmto[2,2,1,11] = 19

pdmto[2,2,1,12] = 10 pdmto
pdmto[2,2,1,14] = 24 pdmto

pdmto[2,2,2,1] = 10
pdmto[2,2,2,2] = 5

pdmto[2,2,2,3] =5

pdmto[2,2,2,4] = 10
pdmto[2,2,2,5] = 15
pdmto[2,2,2,7] = 24
pdmto[2,2,2,8] = 10

pdmto[2,2,2,10] =20 pdmto
pdmto[2,2,2,12] = 10 pdmto
pdmto[2,2,2,14] = 10 pdmto

pdmto[2,2,3,1] =5
pdmto[2,2,3,3] = 10
pdmto[2,2,3,4] =5
pdmto[2,2,3,5] =21
pdmto[2,2,3,7] = 10
pdmto[2,2,3,10] =5

pdmto[2,2,3,14] = 5
pdmto[2,2,4,1] = 15
pdmto[2,2,4,2] = 15
pdmto[2,2,4,3] = 20
pdmto[2,2,4,5] = 4

[
[
[
[
[
pdmto[2,2,3,12] = 20 pdmto
[
[
[
[
[

2,2,4,71 =20
2,2,49]=4
2,2,4,10] =5
2,24,111=10
2,2,4,12]1 =15
2,2,4,14]1 =5
2,2,5,11=25
2,253]=5
2,254]=12
2,2,5,5]=5
2,2,5,71 =11
2,258]=17
2,259]=15
2,2,5,10] =5
2,2,5,111=15
2,2,5,12]1 =5
2,2,5,14]1 =10
2,2,6,1]1 =10
2,2,6,3]=5
2,2,64]1 =5
2,2,6,5]=5
2,2,6,71=5
2,2,69]1=9
2,2,6,10] = 14
2,2,6,11]1 =25
2,2,6,12] =15
2,2,6,14] =15
2,27,11=10
2,2721 =15
2,273 =15
2,2,7,4] =25
2,277,711 =20
2,2,7,8] =25
2,277,101 =10
2,277,121 =20
2,2,8,11=20
2,2,8,2]1 =25
2,2,8,3]1=10
2,2,8,5]=5
2,2,8,8] =25
2,2,89] =20
2,28,111=10
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pdmto
pdmto
pdmto
pdmto
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pdmto[2,2,8,14] =
pdmto[2,3,1,2] = 15
pdmto[2,3,1,3] = 10
pdmto[2,3,1,12] =
pdmto[2,3,1,13] =9
pdmto[2,3,2,5] =5
pdmto[2,3,2,8] =
pdmto[2,3,2,9] =1
pdmto[2,3,2,11] =15
pdmto[2,3,2,12] =1
pdmto[2,3,2,13] =5
pdmto[2,3,2,14] =5
pdmto[2,3,3,1] =
pdmto[2,3,3,5] = 10
pdmto[2,3,3,7] = 15
pdmto[2,3,3,13] =
pdmto[2,3,3,14] = 25
pdmto[2,3,4,1] =
pdmto[2,3,4,11] =5
pdmto[2,3,4,12] = 15
pdmto[2,3,4,13] = 20
pdmto[2,3,4,14] =
pdmto[2,3,5,2] =
pdmto[2,3,5,3] = 15
pdmto[2,3,5,5] =
pdmto[2,3,5,6] =1
pdmto[2,3,5,11] = 10
pdmto[2,3,5,12] = 15
pdmto[2,3,5,13] = 10
pdmto[2,3,6,3] =
pdmto[2,3,6,5] =
pdmto[2,3,6,7] = 10
pdmto[2,3,6,11] =5
pdmto[2,3,6,12] =
pdmto[2,3,6,13] = 15
pdmto[2,3,6,14] =5
pdmto[2,3,7,1] =
pdmto[2,3,7,3] = 10
pdmto[2,3,7,5] = 15
pdmto[2,3,7,7] =
pdmto[2,3,7,10] =5
pdmto[2,3,7,11] =5

pdmto[2,3,7,13] =
pdmto[2,3,7,14] =5
pdmto[2,3,8,1] =20

4 pdmto[2,3,8,10] =15

[

[

[

[
pdmto[2,3,8,13] =5
pdmto[3,1,6,8] = 1
pdmto[3,1,7,11] =1
pdmto[3,1,8,6] = 1
pdmto[3,2,5,6] = 1
pdmto[3,2,6,11] =3
pdmto[3,3,2,11] =2
pdmto[3,3,3,12] =3
pdmto[3,3,5,13] =
pdmto[3,3,6,8] = 1
pdmto[3,3,6,12] = 15
pdmto([3,3,7,12] = 15
pdmto[3,3,7,13] =15
pdmto[3,3,8,12] =
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pdmts[1,1,3,6] =
pdmts[1,1,5,8] =
pdmts[1,2,1,7] =
pdmts[1,3,1,4] =
pdmts[1,3,2,3] = 10
pdmts[1,3,2,4] =5
pdmts[1,3,2,12] = 15
pdmts[1,3,3,8] = 1
pdmts[1,3,4,4] = 10
pdmts[1,3,5,12] = 10
pdmts[1,3,7,7] = 2
pdmts[1,3,7,8] =5

5 pdmts[1,3,8,12] =5
pdmts[2,1,1,11] =20
pdmts[2,1,2,11] = 20
pdmts[2,1,3,11] =
pdmts[2,1,4,11] = 20

5 pdmts[2,1,6,11] =25
pdmts[2,1,7,11] = 20
pdmts[2,2,6,2] = 25
pdmts[2,2,7,5] =1
pdmts[2,3,1,1] = 25

]

pdmts[2,3,1,2] =7

pdmts[2,3,1,3] = 10
pdmts[2,3,1,12] =1
pdmts[2,3,1,14] =5
pdmts[2,3,2,1] =25
pdmts[2,3,2,2] = 25
pdmts[2,3,2,3] =25
pdmts[2,3,2,12] =4
pdmts[2,3,3,1] = 20
pdmts[2,3,3,2] = 15
pdmts[2,3,3,3] = 15
pdmts[2,3,4,2] = 15

1=

1=

1=
pdmts[2,3,4,3] = 10
pdmts[2,3,5,1] =20
pdmts[2,3,6,1] = 20
pdmts[2,3,6,2] =
pdmts[2,3,8,2] = 20
pdmts[2,3,8,3] =25

pdmts[2,3,8,14] =1
pdmts[3,3,1,13] = 15

pdmts[3,3,2,13] = 18
pdmts[3,3,3,13] = 25
pdmts[3,3,4,13] =5

pdmts[3,3,6,13] = 25
pdmts[3,3,8,13] = 25



B[1,1,1,2] =1
B[1,1,4,2] =1
B[1,1,4,3]=1
B[1,1,5,2] =1
B[1,1,5,3] =1
B[1,1,7,11]=1
B[1,2,1,5] =1
B[1,2,2,3] =1
B[1,2,2,7] =1
B[1,2,3,11]=1
B[1,2,4,11]=1
B[1,2,5,11] =1
B[1,3,1,3] =1
B[1,3,3,3] =1
B[2,1,2,2] =1
B[2,1,6,13] =1
B[2,2,2,11]=1
B[2,2,6,11] =1
B[2,2,6,12] = 1
B[2,3,5,12] =1
B[2,3,6,3] =1
B[2,3,7,2] =1
B[2,3,7,13] =1
B[2,3,8,2] =1
B[2,3,8,11]=1
B[3,1,1,11]=1
B[3,1,1,13] =1
B[3,1,3,2] =1
B[3,1,6,2] =1
B[3,1,7,3] =1
B[3,1,7,7]1=1
B[3,2,1,12] =1
B[3,2,2,12] =1
B[3,2,3,12] =1
B[3,2,4,12] =1
B[3,2,7,12] =1
B[3,2,8,3] =1
B[3,3,5,13] =1
B[3,3,8,12] =1

ClL,1,1,1] =1
C[1,14,1]=1
C[1,142] =1
C[1,1,5,1] =1
C[1,1,5,2] =1
C[1,1,7,10] =1
C[1,2,14]=1
C[1,222] =1
C[1,2,2,6] =1
C[1,2,3,10] =1
C[1,2,4,10] =1
C[1,2,5,10] =1
C[1,3,1,2] =1
C[1,3,32] =1
C[2,1,5,12] =1
C[2,1,6,12] =1
C[2,2,2,10] =1
C[2,2,6,10] =1
C[2,2,6,11] =1
C[2,3,2,1]=1
C[2,3,5,11] =1
C[2,3,6,2] = 1
C[2,3,7,1]1 =1
C[2,3,7,12] =1
C[2,3,8,1]=1
C[2,3,8,10] =1
C[3,1,1,10] = 1
C[3,1,1,12] =1
C[3,1,3,1] =1
C[3,1,6,1] =1
C[3,1,6,8] = 1
C[3,1,7,2] =1
C[3,1,7,6] =1
C[3,2,1,11] =1
C[3,2,2,11] =1
C[3,2,3,11] =1
C[3,24,11]=1
C[3,2,7,11] =1
C[3,28.2] =1
C[3,3,8,11] =1
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X[1,1,1,2] =1
X[1,1,4,2] =1
X[1,1,43] =1
X[1,1,5,2] =1
X[1,1,5,3] =1
1,1,7,11] =1
1,2,1,5]=1
1,223] =1
1,22,7]=1
1,23,11] =1
1,244,111 =1
1,2,5,11] =1
1,3,1,3] =1
1,3,3,3] =1
X[2,1,6,13] =1
X[2,2,2,11] =1
X[2,2,6,11] = 1
X[2,2,6,12] =1
X[2,3,1,1] =1
X[2,3,2,1]1 =1
X[2,3.3,1]1 =1
X[2,3.4,1]=1
X[2,3,5,1] =1
X[2,3,5,12] =1
X[2,3,6,1] =1
X[2,3,6,3] =1
X[2,3,7,1] =1
X[2,3,7,2] =1
X[2,3,7,13] =1
X[2,3,8,1]=1
X[2,3,8,2] =1
X[2,3,8,11] =1
3,1,L1,11] =1
3,1,1,13] =1
3,1,32] =1
3,1,6,2] = 1
3,1,7,3] =1
3,1,7,71 =1
3,2,1,12] =1
3,22,12] =1
3,23,12] =1

[
[
[
[
[
[
[
[
[
[
[
[
[
[

KX XXX XXX

faa g e e e g

X[3,2,4,12] =1
X[3,2,7,12] =1
X[3,2,8,3] =1

X[3,3,8,12] =1



Mék E #B T 4E3542 00 MTO K2 (%) 5 9E 0 2 # #0)

IGL[1,1,1,1,14]
IGL[1,1,1,2,6]
IGL[1,1,1,2,10]
IGL[1,1,1,3,1]

=57 IGL[1,3,1,1,3]
=65
=9
=24

IGL[1,1,1.4,1]=1

IGL[1,1,1,4,3]
IGL[1,1,1,4,12]
IGL[1,1,1,4,13]
IGL[1,1,1,5,1]
IGL[1,1,1,5,14]
IGL[1,1,2,1,10]
IGL[1,1,2,3,4]
IGL[1,1,2,3,7] =
IGL[1,1,2,3,9] =
IGL[1,1,2,4,2] =
IGL[1,1,2,4,5] =
IGL[1,1,2,4,8] =
IGL[1,1,2,4,9] =

IGL[1,1,2,5,11] =65
=34
=65
=23
= 63
= 65

IGL[1,2,1,1,1]
IGL[1,2,1,1,3]
IGL[1,2,1,1,6]
IGL[1,2,1,1,10]
IGL[1,2,1,1,12]

IGL[1,2,1,2,6] =
=50

IGL[1,2,1,2,9]

=55
=55
=80
=5
=38
=21
=30

30
13
65
80
55
67

IGL[1,2,1,2,13] =1

IGL[1,2,1,3,1]
IGL[1,2,1,3,11]
IGL[1,2,1,4,5]

|
IGL[1,2,1,4,13]

|
IGL[1,2,1,5,14]
IGL[1,2,2,1,2]
IGL[1,2,2,2,7] =
IGL[1,2,2,3,8] =
IGL[1,2,2,4,1] =
IGL[1,2,2,5,4] =

=6
=30
=50
IGL[1,2,1,4,10] =2

=49
IGL[1,2,1,4,14] =22
=8
=30

55
65
15
65

=30
IGL[1,3,1,1,5] =16
IGL[1,3,1,1,8] =4

IGL[1,3,1,1,10] =5
IGL[1,3,1,1,13] =1
IGL[1,3,1,2,1] =57
IGL[1,3,1,2,5
IGL[1,3,1,2,6
IGL[1,3,1,2,7
IGL[1,3,1,2,9] =95
IGL[1,3,1,2,11] =9
IGL[1,3,1,2,13] =8
IGL[1,3,1,3,1] =16
IGL[1,3,1,3,2] = 65
IGL[1,3,1,3,13] =6
IGL[1,3,1,4,1]=1

|
1=9
=1
1=8

IGL[1,3,1,5,1] =6

IGL[1,3,1,5,4] =50
IGL[1,3,1,5,13] =3
IGL[1,3,2,1,5] =1

IGL[1,3,2,1,7] =72
IGL[1,3,2,2,5] =25
IGL[1,3,2,3,5] =44
IGL[1,3,2,3,6] =89
IGL[1,3,2,3,8] =26

IGL[1,3,2,3,14] =9
IGL[1,3,2,4,12] =3

IGL[1,3,2,5,2] =25
IGL[2,1,1,1,4] =30
IGL[2,1,1,1,6] =50
IGL[2,1,1,1,7] =1

IGL[2,1,1,1,8] =10
IGL[2,1,1,1,10] =2
IGL[2,1,1,1,13] =2
IGL[2,1,1,2,1] =2
IGL[2,1,1,2,5] =1
IGL[2,1,1,2,7] =3
IGL[2,1,1,2,10] =6

0

0
5

0
0

4

IGL[2,1,1,2,11] =50
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IGL[2,1,1,2,13] =
IGL[2,1,1,3,4] = 65
IGL[2 1,1,3,8] =28
IGL[2,1,1,3,14] =
IGL[2,1,1,4,9] =30
IGL[2,1,1,4,10] =
IGL[2,1,1,5,5] =29
IGL[2,1,1,5,8] =42
IGL[2,1,1,5,13] =2
IGL[2,1,2,1,2] =
[

IGL[2,2,2,5,8] =94
IGL[2,3,1,1,4] =18
IGL[2,3,1,1,5] =63
IGL[2,3,1,1,6] =5
IGL[2,3,1,1,7] =72
7 1GL[2,3,1,1,13] =65

IGL[2,3,1,2,1] =1
IGL[2,3,1,2,4] =1
IGL[2,3,1,2,5] =12
IGL[2,3,1,2,6] =1
1=
1=
1=

IGL[2,1,2,3,1] = IGL[2,3,1,3,6] = 34
IGL[2,1,2,4,7] = IGL[2,3,1,5,2] =40
IGL[2,1,2,5,3] = IGL[2,3,2,1,1] =74
IGL[2,1,2,5,12] =80 IGL|[2,3,2,1,12] =60
1GL[2,2,1,1,3] = IGL[2,3,2,1,13] =2
IGL[2,2,1,1,4] = IGL[2,3,2,2,4] =1
IGL[2,2,1,1,5] = IGL[2,3,2,2,8] = 60
IGL[2,2,1,1,8] =1 IGL[2,3,2,3,3] = 60
IGL[2,2,1,1,13] =40 1IGL[2,3,2,3,13] =8
IGL[2,2,1,1,14] =80 IGL[2,3,2,4,4] =70
IGL[2,2,1,2,1] = IGL[2,3,2,4,11] =40
IGL[2,2,1,2,4] = IGL[2,3,2,4,14] =40
IGL[2,2,1,2,10] =1 IGL[2,3,2,59] =75
IGL[2,2,1,2,11] = IGL[2,3,2,5,10] =90
IGL[2,2,1,2,13] =23 IGL[3,1,1,1,1] =37

IGL[2,2,1,3,7] =95
IGL[2,2,1,3,11] =12
IGL[2,2,1,4,10] =
IGL[2,2,1,5,1] =2
IGL[2,2,1,5,9] = 65
IGL[2,2,1,5,13] =1
IGL[2,2,2,1,11] =65
IGL[2 2,2,1,13] =1
IGL[2,2,2,2,10] = 15
IGL[2,2,2,2,12] =
IGL[2,2,2,3,3] =
IGL[2,2,2,5,2] =
IGL[2 2,2,5,3] =
GL[2,2,2,5,6] =

IGL[3,1,1,1,13] =3
IGL[3,1,1,2,13] =4

4 IGL[3,1,1,3,1] =1

=60
=70
=83

IGL[3,1,1,3,2]
IGL[3,1,1,3,3]
IGL[3,1,1,3,5]
IGL[3,1,1,3,11] =60
IGL[3,1,1,3,13] =62
IGL[3,1,1,4,6] = 60
IGL[3,1,1,4,13] =16
IGL[3,1,1,5,1] =2
IGL[3,1,1,5,7] =
IGL[3,1,2,1,8] =
IGL[3,1,2,1,9] =85



IGL[3,1,2,2,14] = 60
IGL[3,1,2,3,7]=9
IGL[3,1,2,3,10] =75
IGL[3,1,2,3,12] =23
IGL[3,1,2,4,4] =75
IGL[3,1,2,5,5] =2
IGL[3,2,1,2,3] =40
6
4

— e d

IGL[3,2,1,2,5] = 60
IGL[3,2,1,2,6] =
IGL[3,2,1,2,11] =2
IGL[3,2,1,2,14] =90
IGL[3,2,1,3,1] =23
IGL[3,2,1,3,2] =10
IGL[3,2,1,3,6] = 14
IGL[3,2,1,4,1] =37
IGL[3,2,1,4,2] =80
IGL[3,2,1,5,10] =40
IGL[3,2,2,1,11] = 88
IGL[3,2,2,2,7] = 60
IGL[3,2,2,2,8] =40
IGL[3,2,2,3,4] =40
IGL[3,2,2,3,9] = 60
IGL[3,2,2,3,12] =40
IGL[3,2,2,3,13] =60
IGL[3,2,2,5,6] =72
IGL[3,3,1,1,4] =27
IGL[3,3,1,1,6] =67
IGL[3,3,1,2,2] =75
IGL[3,3,1,2,4] =2
IGL[3,3,1,2,7] =1
IGL[3,3,1,2,13] =19
IGL[3,3,1,3,1] =3
IGL[3,3,1,3,6] =8
IGL[3,3,1,3,12] =90
IGL[3,3,1,4,7] =84
IGL[3,3,1,4,14] =75
IGL[3,3,1,5,11] =
IGL[3,3,1,5,13] =
IGL[3,3,2,1,4] =1
IGL[3,3,2,3,8] = 26
IGL[3,3,2,3,11] =4

1 ICF[1,2,1,6,13
1 ICF[1,2,1,6,14] =
=8
=30
=55
145

IGL[3,3,2,4,1
IGL[3,3,2,4,8
IGL[3,3,2,4,9
IGL[3,3,2,5,4] =
IGL[3,3,2,5,5]
ICF[1,1,1,8,14]
ICF[1,1,1,10,6]
ICF[1,1,1,10,10]
ICF[1,1,1,9,1]
ICF[1,1,1,6,1] =
ICF[1,1,1,6,3]
ICF[1,1,1,6,12]
ICF[1,1,1,6,13]
ICF[1,1,1,7,1]
ICF[1,1,1,7,14]
ICF[1,1,2,8,10]
ICF[1,1,2,9,4]
ICF[1,1,2,9,7]
ICF[1,1,2,9.9] =
ICF[1,1,2,6,2] =

]

]

|

—_— e e

ICF[1,1,2,6,5
ICF[1,1,2,6,8
ICF[1,1,2,6,9
ICF[1,1,2,7,11]
ICF[1,2,1,8,1]
ICE[1,2,1,8,3]
ICF[1,2,1,8,6]

ICF[1,2,1,8,12
ICF[1,2,1,10,6
ICF[1,2,1,10,9
ICF[1,2,1,10,13]
ICF[1,2,1,9,1]
ICF[1,2,1,9,11]
ICF[1,2,1,6,5]
ICF[1,2,1,6,10

]
]
|
|

|
|
|
ICF[1,2,1,7,14]

ICF[1,2,2,8,2]
ICF[1,2,2,10,7]

=82
=64
=40
30

— 40
=57
=65

=9

=24

1

=55
=55
=80
=53
=8
=21
=30
=30

65

=80
=35
=67
=65
=34
=65
=23
ICF[1,2,1,8,10] =63
=65
=7
=50

=1

=6
=30
=50
=2
= 49
2

ICF[1,2,2,9,8] = 65
ICF[1,2,2,6,1] = 15
ICF[1,2,2,7,4] = 65
ICF[1,3,1,8,3] =
ICF[l 3,1,8,5] =16
ICF[1,3,1,8,8] =
ICF[1,3,1,8,10] =
ICF[1,3,1,8,13] =1
[
[
[
[
[

ICF[1,3,1,10,1] =57

ICF[2,1,1,8,13] =24

ICF[2,1,1,10,1] =2
ICF[2,1,1,10,13] =
ICF[2,1,1,9,4] =

ICF[2,1,1,9,14] =50
ICF[2,1,1,6,9] = 30
ICF[2,1,1,6,10] = 87
ICF[2,1,1,7,5] =29
ICF[2,1,1,7,8] =42
ICF[2,1,1,7,13] =2
ICF[2,1,1,10,5] =1
ICF[2,1,1,10,7] =3
ICF[2,1,1,10,10] =6

ICF[2,2,2,8,13] = 1
ICF[2,2,2,9,3] =7
ICF[2,2,2,10,10] = 15
ICF[2,2,2,10,12] =95

ICF[1,3,1,10,5] =9 ICF[2,1,1,10,11] =50
ICF[1,3,1,10,6] =1 ICF[2,1,2,8,2] =50
CF[1,3,1,10,7] =8 ICF[2,1,2,9,1] =63
ICF[1,3,1,10,9] =95 ICF[2,1,2,6,7] = 61
ICF[1,3,1,10,11] =90 ICF[2,1,2,7,3] =80
ICF[1,3,1,10,13] = 85 ICF[2,1,2,7,12] = 80
ICF[1,3,1,9,1] =16 ICF[2,2,1,8,3] =50
ICF[1,3,1,9,2] = ICF[2,2,1,8,4] = 60
ICF[1,3,1,9,13] = ICF[2,2,1,8,5] = 65
ICF[1,3,1,6,1] =1 ICF[2,2,1,8,8] =1
ICF[1,3,1,7,1] = ICF[2,2,1,8,13] =40
ICF[1,3,1,7,4] = ICF[2,2,1,8,14] = 80
ICF[1,3,1,7,13] = ICF[2,2,1,10,1] =93
ICF[1,3,2,8,5] =1 ICF[2,2,1,10,4] =20
ICF[1,3,2,8,7] = ICF[2,2,1,10,10] =1
ICF[1,3,2,10,5] =25 ICF[2,2,1,10,11] =3
ICF[1,3,2,9,5] = ICF[2,2,1,10,13] =23
ICF[1,3,2,9,6] = ICF[2,2,1,9,7] =95
ICF[1,3,2,9,8] = ICF[2,2,19,11] =12
ICF[1,3,2,9,14] = ICF[2,2,1,6,10] = 64
ICF[l 3,2,6,12] = ICF[2,2,1,7,1] =2
ICF[1,3,2,7,2] = ICF[2,2,1,7,9] = 65
ICF[2,1,1,8,4] =30 ICF[2,2,1,7,13] =1
ICF[2 1,1,8,6] =50 ICF[2,2,2,7,2] = 80
ICF[2,1,1,8,7] =1 ICF[2,2,2,7,3] =38
ICF[2,1,1,8,8] =10 ICF[2,2,2,7,6] = 80
ICF[2,1,1,8,10] =2 ICF[2,2,2,8,11] =65
[
[
[
[
CH

2,1,1,9.8] =

ICF[2,2,2,7,8] = 94



ICF[2,3,1,8,4] = 18
ICF[2,3,1,8,5] = 63
ICF[2,3,1,8,6] =5
ICF[2,3,1,8,7] =72
ICF[2,3,1,8,13] =65

ICF[2,3,1,10,1] =1

ICF[2,3,1,10,4] =1

ICF[2,3,1,10,5] =12
|

ICF[2,3,1,10,6] =1
ICF[2,3,1,9,6] = 34
ICF[2,3,1,7,2] =40
ICF[2,3,2,8,1] =74
ICF[2,3,2,8,12] = 60
ICF[2,3,2,8,13] =2
ICF[2,3,2,10,4] = 1
ICF[2,3,2,10,8] = 60
ICF[2,3,2,9,3] = 60
ICF[2,3,2,9,13] =8
ICF[2,3,2,6,4] =70
ICF[2,3,2,6,11] = 40
ICF[2,3,2,6,14] =40
ICF[2,3,2,7,9] =75
ICF[2,3,2,7,10] =90
ICF[3,1,1,8,1] =37
ICF[3,1,1,8,13] =3
ICF[3,1,1,10,13] =4
ICF[3,1,1,9,1] =1
ICF[3,1,1,9,2] = 60
ICF[3,1,1,9,3] =70
ICF[3,1,1,9,5] =83
ICF[3,1,1,9,11] =60
ICF[3,1,1,9,13] =62
ICF[3,1,1,6,6] = 60
ICF[3,1,1,6,13] = 16
ICF[3,1,2,10,8] =53

ICF[3,1,2,7,5] =2

ICF[3,2,1,10,5] = 60
ICF[3,2,1,10,6] =4
ICF[3,2,1,10,11] =2
ICF[3,2,1,10,14] =90
ICF[3,2,1,9,1] =23
ICF[3,2,1,9,2] =10

]
ICF[3,2,1,9,6] = 14
ICF[3,2,1,6,1] = 37
ICF[3,2,1,6,2] = 80

ICF[3,2,1,7,10] =40
ICF[3,2,2,8,11] = 88
ICF[3,2,2,10,7] = 60
ICF[3,2,2,10,8] =40
ICF[3,2,2,9,4] =40
ICF[3,2,2,9,9] = 60
ICF[3,2,2,9,12] =40
ICF[3,2,2,9,13] = 60
ICF[3,2,2,7,6] =72
ICF[3,3,1,8,4] =27
ICF[3,3,1,8,6] = 67
ICF[3,3,1,10,2] =75
ICF[3,3,1,10,4] =2
ICF[3,3,1,10,7] = 1
ICF[3,3,1,10,13] = 19
ICF[3,3,1,9,1] =3
ICF[3,3,1,9,6] =8
ICF[3,3,1,9,12] =90
ICF[3,3,1,6,7] = 84
ICF[3,3,1,6,14] =75
ICF[3,3,1,7,11
ICF[3,3,1,7,13
ICF[3,3,2,8,4] =1
ICF[3,3,2,10,3] =90

1=71
1=21

ICF[3,1,2,10,12] = 47 ICF[3,3,2,10,10] = 60
ICF[3,1,2,10,14] = 60 ICF[3,3,2,9,8] = 26

ICF[3,1,2,9,7] =9
ICF[3,1,2,9,10] =75
ICF[3,1,2,9,12] =23
ICF[3,1,2,6,4] =75

ICF[3,3,2,9,11] =4
ICF[3,3,2,6,1] = 82
ICF[3,3,2,6,8] = 64
ICF[3,3,2,6,9] =40
146

ICF[3,3,2,7,4] =30
ICF[3,2,1,10,3] =40 ICF[3,3,2,7,5] =40

BGL[1,1,1,3,5] =1
BGL[1,1,1,4,12] =1
BGL[1,1,1,4,13] =1
BGL[1,1,1,5,5] =1
BGL[1,1,1,5,8] =1
BGL[1,1,2,34]=1
BGL[1,1,24,2] =1
BGL[1,1,2,4,6] =1
BGL[1,1,2,4,7] =1
BGL[1,1,2,4,8] =1
BGL[1,1,2,49] =1
BGL[1,2,1,1,10] =1
BGL[1,2,1,1,12] =1
BGL[1,2,1,5,3] =1
BGL[1,2,2,3,8] =1
BGL[1,3,1,1,5] =1
BGL[1,3,1,1,7] =1
BGL[1,3,1,29] =1
BGL[1,3,1,3,1]=1
BGL[1,3,14,1]=1
BGL[1,3,1,54] =1
BGL[1,3,2,1,2] =1
BGL[1,3,2,3,6] =1
BGL[1,3,2,5,2] =1
BGL[2,1,1,1,4] =1
BGL[2,1,1,1,6] =1
BGL[2,1,1,2,6] =1
BGL[2,1,1,2,7] =1
BGL[2,1,1,2,12] =1
BGL[2,1,1,3,14] =1
BGL[2,1,1,4,10] =1
BGL[2,2,1,1,3] =1
BGL[2,2,1,1,13] =1
BGL[2,2,1,2,10] =1
BGL[2,2,1,2,11] =1
BGL[2,2,1,2,13] =1
BGL[2,2,1,5,1] =1
BGL[2,2,2,1,11] =1
BGL[2,2,2,4,5] =1
BGL[2,3,1,5,10] =1
BGL[2,3,1,5,14] =1



BGL[2,3,2,1,1] =1
BGL[2,3,2,4,11] =1
BGL[2,3,2,59] =1
BGL[3,1,1,2,14] =1
BGL[3,1,1,3,3] =1
BGL[3,1,1,4,3] =1
BGL[3,1,1,44]=1
BGL[3,1,1,5,12] =1
BGL[3,1,2,1,8] =1
BGL[3,1,2,19] =1
BGL[3,1,2,2,2] =1
BGL[3,1,2,2,5] =1
BGL[3,1,2,2,8] =1
BGL[3,1,2,3,2] =1
BGL[3,1,2,3,7] =1
BGL[3,1,2,39] =1
BGL[3,1,2,3,10] =1
BGL[3,2,1,2,3] =1
BGL[3,2,2,3,13] =1
BGL[3,2,2,5,7] =1
BGL[3,3,1,2,4] =1
BGL[3,3,1,3,12] =1
BGL[3,3,1,5,11] =1
BGL[3,3,1,5,13] =1
BGL[3,3,2,3,11] =1
BCF[1,1,1,8,14] =1
BCF[1,1,1,10,1] =1
BCF[1,1,1,9,5] =1
BCF[1,1,1,6,12] =1
BCF[1,1,1,6,13] =1
BCF[1,1,1,7,5] =1
BCF[1,1,1,7,8] = 1
BCF[1,1,294] =1
BCF[1,1,2,6,2] =1
BCF[1,1,2,6,6] =1
BCF[1,1,2,6,7] =1
BCF[1,1,2,6,8] = 1
BCF[1,1,2,6,9] = 1
BCF[1,2,1,8,10] =1
BCF[1,2,1,8,12] =1
BCF[1,2,1,7,3] =1

BCF[1,2,2,9,8] =1
BCF[1,3,1,8,5] =1
BCF[1,3,1,8,7] =1
BCF[1,3,1,10,9] =1
BCF[1,3,1,9,1] =1
BCF[1,3,1,6,1] =1
BCF[1,3,1,7,4] =1
BCF[1,3,2,8,2] = 1
BCF[1,3,2,9,6] =1
BCF[1,3,2,7,2] =1
BCF[2,1,1,8,4] =1
BCF[2,1,1,8,6] = 1
BCF[2,1,1,10,6] =1
BCF[2,1,1,10,7] =1
BCF[2,1,1,10,12] =1
BCF[2,1,1,9,14] =1
BCF[2,1,1,6,10] = 1
BCF[2,2,1,8,3] =1
BCF[2,2,1,8,13] =1
BCF[2,2,1,10,10] =1
BCF[2,2,1,10,11] =1
BCF[2,2,1,10,13] =1
BCF[2,2,1,7,1] =1
BCF[2,2,2,8,11] =1
BCF[2,2,2,6,5] =1
BCF[2,2,2,6,14] =1
BCF[2,2,2,7,6] = 1
BCF[2,3,1,7,10] =1
BCF[2,3,1,7,14] =1
BCF[2,3,2,8,1] =1
BCF[2,3,2,6,11] =1
BCF[2,3,2,79] =1
BCF[3,1,1,10,14] = 1
BCF[3,1,1,9,3] =1
BCF[3,1,1,6,3] =1
BCF[3,1,1,6,4] =1
BCF[3,1,1,7,12] =1
BCF[3,1,2,8,8] = 1
BCF[3,1,2,89] =1
BCF[3,1,2,10,2] =1
BCF[3,1,2,10,5] =1
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BCF[3,1,2,10,8] =1
BCF[3,1,29,2] =1
BCF[3,1,2,9,7] =1
BCF[3,1,2,99] =1
BCF[3,1,2,9,10] =1
BCF[3,2,1,10,3] =1
BCF[3,2,29,13] =1
BCF[3,2,2,7,7] =1
BCF[3,3,1,10,4] =1
BCF[3,3,1,9,12] =1
BCF[3,3,1,7,11] =1
BCF[3,3,1,7,13] =1
BCF[3,3,29,11] =1

—_— e

CGL[1,1,1,1.4] =1
CGL[1,1,1,1.9] =1
CGL[1,1,1,2,1] =1
CGL[1,1,1,4,12] =1
CGL[1,1,1,5,8] =1
CGL[1,1,2,3,3
CGL[1,1,2,3,7
CGL[1,1,2,3,9
CGL[1,1,2,4,2

=1
=1
1=
1=
CGL[1,1,2,4,6] =
1=
]=
]=
]=

1

CGL[1,1,2,4,8
CGL[1,1,2,5,1
CGL[1,2,1,1,1
CGL[1,2,1,1,6] =
CGL[1,2,1,34] =1
CGL[1,2,1,4,10] =1
CGL[1,2,1,4,14] =1
CGL[1,2,1,5,3] =1
CGL[1,2,1,5,7] =1
CGL[1,3,1,1,13] =1
CGL[1,3,1,29] =1
CGL[1,3,1,54] =1
CGL[1,3,2,1,2] =1
CGL[1,3,2,3,5] =1
1=1
1=1

1
1
1
=1
1
1

CGL[1,3,2,3,6] =
CGL[1,3,2,5,2] =
CGL[2,1,1,1,7] =1
CGL[2,1,1,2,11] =1
CGL[2,1,1,2,12] =1
CGL[2,1,1,3,14] =1
CGL[2,1,1,49] =1
CGL[2,1,2,4,13] =1
CGL[2,1,2,5,5] =1
CGL[2,2,1,1,3] =1
CGL[2,2,1,1,12] =1
CGL[2,2,1,2,10] =1
CGL[2,2,1,3,1] =1
CGL[2,2,1,59] =1
CGL[2,2,24,5] =1
CGL[2,2,2,5,6] =1
CGL[2,2,2,5,13] =1



CGL[2,3,1,1,5] =1
CGL[2,3,1,2,6] =1
CGL[2,3,1,5,10] =1

CGL[2,3,1,5,14] =1
CGL[2,3,2,1,10] =1
CGL[2,3,2,4,11] =1
CGL[2,3,2,5,11] =1
CGL[3,1,1,2,13] =1
CGL[3,1,1,3,11] =1

CGL[3,1,1,3,13] = 1
CGL[3,1,14,3] =1
CGL[3,1,144] =1
CGL[3,1,1,5,12] = 1
CGL[3,1,2,1,8] = 1
CGL[3,1,2,2,2] =1
CGL[3,1,2,2,8] = 1
CGL[3,1,2,3.8] = 1
CGL[3,1,2,3,10] = 1
CGL[3.2,1,23] = 1
CGL[3.2,1,2,5] =1
CGL[3,2,1,2,14] =1
CGL[3.2,13,2] =1
CGL[3,2,2,1,11] =1
CGL[3.2.2,2,7] = 1
CGL[3.2.2,3,12] = 1
CGL[3,3,1,1,14] = 1
CGL[3,3,1,2.4] = 1
CGL[3,3,14,7] =1
CGL[3,3.2:4,1
CCF[1,1,1,8,4
CCF[1,1,1,89] =1
CCF[1,1,1,10,1] = 1
CCF[1,1,1,6,12] = 1
CCF[1,1,1,7.8] = 1
CCF[1,1,29.3] = 1
CCF[1,12,9,7] =1
CCF[1,1,29.9] =1
CCF[1,1,2,62] = 1
1=1
1=1
1=1

1=1
1=1

CCF[1,1,2,6,6] =
CCF[1,1,2,6,8
CCF[1,1,2,7,1

CCF[1,2,1,8,1] =1
CCF[1,2,1,8,6] = 1
CCF[1,2,1,9,4] = 1
CCF[1,2,1,6,10] = 1
CCF[1,2,1,6,14] = 1
CCF[1,2,1,73] =1
CCF[1,2,1,7,7] = 1
CCF[1,3,1,8,13] = 1
CCF[1,3,1,10,9] = 1
CCF[1,3,1,7,4] = 1

CCF[1,3,2,8,2] =1
CCF[1,3,29,5] =1
CCF[1,3,2,9,6] =1
CCF[1,3,2,7,2] =1

CCF[2,1,1,8,7] = 1
CCF[2,1,1,10,11] =1
CCF[2,1,1,10,12] = 1
CCF[2,1,1,9,14] =1
CCF[2,1,1,69] =1
CCF[2,1,2,6,13] =1
CCF[2,1,2,7,5] =1
CCF[2,2,1,8,3] =1
CCF[2,2,1,8,12] =1
CCF[2,2,1,10,10] = 1
CCF[2,2,19,1] =1
CCF[2,2,1,79] =1
CCF[2,2,2,6,5] =1
CCF[2,2,2,7,6] =1
CCF[2,2,2,7,13] =1
CCF[2,3,1,8,5] =1
CCF[2,3,1,10,6] =1
CCF[2,3,1,7,10] =1
CCF[2,3,1,7,14] =1
CCF[2,3,2,8,10] =1
CCF[2,3,2,6,11] =1
CCF[2,3,2,7,11] =1
CCF[3,1,1,10,13] =1
CCF[3,1,1,9,11] =1
CCF[3,1,1,9,13] =1
CCF[3,1,1,6,3] =1
CCF[3,1,1,6,4] =1
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CCF[3,1,1,7,12] =1
CCF[3,1,2,8,8] = 1
CCF[3,1,2,10,2] =1
CCF[3,1,2,10,8] =1
CCF[3,1,2,9.8] =1
CCF[3,1,2,9,10] =1
CCF[3,2,1,10,3] =1
CCF[3,2,1,10,5] =1
CCF[3,2,1,10,14] =1
CCF[3,2,1,9,2] =1
CCF[3,2,2,8,11] =1
CCF[3,2,2,10,7] =1
CCF[3,2,2,9,12] =1
CCF[3,3,1,8,14] =1
CCF[3,3,1,104] =1
CCF[3,3,1,6,7] = 1
CCF[3,3,2,6,1] =1



ek F BT 4E36 A MTO K2 A A 28 X
(FI & 9k 0 % $)

IGL[1,1,1,2,1]=785 AGL[L,1,1,2,1]=1 BGL[1,1,1,2,1]=1
IGL[1,2,1,2,1] =705 AGL[1,2,1,2,1]=1 BGL[2,2,2,5,1]=1
IGL[1,3,1,2,1]1 =995 AGL[1,3,1,2,1]=1 BGL[2,3,1,3,1] =1
IGL[2,1,1,3,1] =850 AGL[2,1,1,3,1]=1 BGL[3,1,1,1,1]=1
IGL[2,2,2,5,1] = 1150 AGL[2,2,2,5,1]=1 BGL[3,2,24,1]=1
IGL[2,3,1,3,1] =540 AGL[2,3,1,3,1]=1 BCF[1,1,1,10,1] =1
IGL[2,3,2,1,1] =357 AGL[2,3,2,1,1]=1 BCF[2,2,2,7,1]=1
IGL[3,1,1,1,11=935 AGL[3,1,1,1,1]=1 BCF[2,3,1,9,1]=1
IGL[3,2,2,4,1]1=860 AGL[3,2,24,1]=1 BCF[3,1,1,8,1] =1
IGL[3,3,1,1,1]1=980 AGL[3,3,1,1,1]=1 BCF[3,2,2,6,1] =1

ICF[1,1,1,10,1]1 =785 ACF[1,1,1,10,1] =1 CGL[1,3,1,2,1] =1
ICF[1,2,1,10,1] =705 ACF[1,2,1,10,1]=1 CGL[2,1,1,3,1] =1
ICF[1,3,1,10,1]1=995 ACF[1,3,1,10,1] =1 CGL[2,2,2,5,1] =1
ICF[2,1,1,9,1] =850 ACF[2,1,19,1]=1 CGL[2,3,2,1,1]=1

ICF[2,2,2,7,1] = 1150 ~ACF[2,2,2,7,1]=1 CGL[3,2,24,1]=1
ICF[2,3,1,9,1] =540  ACF[2,3,1,9,1]=1 CCF[1,3,1,10,1] =1
ICF[2,3,2,8,1] =357 ACF[2,3,2,8,1]=1 CCF[2,1,19,1]=1
ICF[3,1,1,8,1] =935 ACF[3,1,1,8,1]=1 CCF[2,2,2,7,1] =1
ICF[3,2,2,6,1] =860 ACF[3,2,2,6,1]=1 CCF[2,3,28,1]=1
ICF[3,3,1,8,1] =980 ACF[3,3,1,8,1]=1 CCF[3,2,2,6,1] =1
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